70.  Match the following :

(a) Monetary policy 1. SEBI

(b) Insurance 2. RBI

(c) Fiscal policy 3. IRDA

(d) Stock market 4. Central Govt.
@ ® © @

} 3 1 2 4
2 3 4 1

C) 4 1 2 3

O) 2 4 3 1

Qurmsgs:

(a) uemsGsnerens 1. SEBI

(b) &smusSE 2. RBI .

() PPsQsnrcrens 3. IRDA

(d) uvnGsspas 4.  widu sgsTRSD
@ ® © @

@A 3 1 2 4

B) 2 3 -4 1

C) 4 1 2 3

(D) 2 4 3 1

71. The world bank in its world development report (2010) classified the various
countries on the basis of

(A) PDI — Personal Disposal Income
GDP - Gross Domestic Product
J GNI — Gross National Income
- (D) GNH - Gross National Happmess

2 05 ekl 2 08 euarisf wtﬂsm (2010) - SligtitienLuflér LGaum)
. Brdsemer euadsLILOSS W eTang:. -

(A) PDI - Qurs augmorar AGCUIRED :

(B) GDP - Qunrgg 2 aipr® 2. push

(C) GNI -~ Qurgs Casélwu auymmembd

(D) GNH - Qungs Csdlu ssagamio
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24.

25.

India’'s major recipient of investment in Public, Private Partnership project is

~ successful only in

Road transport and modernisation of airports
(B) Health and education |
(C) Railways
(D) Banking

Qurgigop wppw seflumt &P ukiselourd @ndwur ofs melld WsSEseT
Gupmerer Gy gierp ' 4

(A) sree CunéEeurss wHMW eSionan Beawwunsa saanorssd gon

(B) w6l LHmDL LESET BOSHI®D

(C©) 796Ga: geop

D) eandsgon

According to Prof. Tendulkar's definition, a person would be tf_eated as poor as on
2004-05, if his monthly income is less than is in rural areas and
Rs. in Urban areas

(A) Rs. 440.50 and Rs. 570.75

. % Rs. 446.68 and Rs. 578.8

(C) Rs.445.00 and Rs. 550.00
(D) Rs. 442.25 and Rs. 552.00

CuIMAflui ALaTPosT a@Tu®D Ly . ¢ wellsdr gey ey (2004-05 6 Ui,
SlugyerLw g eumLIGID AgrwsHed g ———————— Gapaursajh LHNHD KEJTSHO
(.- — G®@nounseybd @HHsTd L HGW EH L Cu@Geurdr

(A) @ 440.50 womd @5 570.75

(B) p. 446.68 wpmw . 578.8

(©) e 445.00 LMWL m. 550.00

(D) . 442.25 wHmd m. 552.00




|https://t.me/tnpsciree|

-

21.  Which one of the following is a primary function of money?
. \K Money is a measure of value
(B) Money acts as a store of i'alue
(C) Money helps to transfer values
(D) Money facilitates the distribution of national income

- GeneumeuaneunmieT aTHS Gen LTSS (pseemowinear Laut o@h?
A) wiulbemer sieTelBW SieTeyCamd
B) wHiudea Calss o e dlns
©) wHiusear wrpp e sadios | .
D) Csélu eumeumis Lilirefiéd o_geqeﬂ D&



70.

i

Find the incorrect statement (s) from the following:

@
(i)
(i)
(1v)

(A)

" (i) and (iv) only

Mirzapur, Bangalore and Hubli are the places of pilgrimage
Allahabad, Benaras and puri are the places of pilgrimage
Mirzapur, Bangalore and Hubli are the trading centres

Allahabad, Benaras and Puri are the commercial centres

@) and @ only (B) (i) and (i) only
‘(D) (it) and (iv) only

Slemeu(meuaeu DIIET S6UDTEN SIS &T6RT5 ;

@
(i1)
(iii)
@iv)

(A)

(C)

Blirgmy i, QuiisEsT wHmb apeuei qyﬂu.laosu yeils dugemsarmso
Sw&TUTS, usrgad wHmb Ul KB yailg dugnhisaTTGD
Bifrgmyr, QuiisEst wHmb ap~ L6l Hdwae wearfls srhsarm@h
Siwarurg, uengev wHmw Wi Hfwene uanlls sarrisarrEn
(i) wppid (i) L Gid ®) ) wdgd i) wlOb

() wgb Gv) LG (D) (i) wpgwd (v) WD

Which of the following is the problem in the estimation of National Income in India?

ved)

©)

Non — Monetary transactions (B) Inflation
Conspicuous consumption ) (D) Good banking habits

@hduwneller Caflu eumuwraisms samafiHn Cung SpssarLaipger aaal Grédloanuns

@muug?
(A) uemSéem urﬂmr’rﬁpmaf&dr (B) ueaweissn
C) EPUS _ssss patey D) meve euriid) Lpsad (Calliiy)

27
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26..

27.

As per National Sample Survey (NSS) 27 round in India ~—~—— of the rural
population has no skills at all. ' :

A 91% B) 70%
(C). 84% : . (D) 9%94%

Csdw LR WAOLSLker Ly (NSS) gam 27Tag sphe @sPurdles ————— wésar
Ppaovwuppaisans Qmedoniadt srendpng,.

(A 91% : (8) 70%
(C) 84% D) 91%
Statementi :  The maney creation multiplier is equal to the reciprocal of the -

minimum reserve ratio

Statement II The banking system as a whole can grant new cretit up to an amount
of excess reserves

(AfBoth statements are individually true and statement II is the correct explanation of

statement 1 ' p

(B) Both statements are individually true, but statement I[ is not correct explanation of
statement |

(C) Statement I is true, but statement II is false

(D) Statement ] is false, but statement II is true

apm | - vanr emarngs Qumsd aug Gonps @muy Bdssdar saaly
: AdsedpE sovrang

sapoy 1 : 9&@ Qungg wiid swovuurerg sy sfdaslugura QoUulHEer

: P 5Lsmer QPRISTD

A Bran® sdpsEsGo saflggeaNCu istﬂtunmmm Cugd smpm II smpp [ &5 efluren
eQeTEELLIGED ' :

B) @rend spnsE@to sefipaCu slurmmar Cognd mpp 1L mppy | &g shure

C edardsvdw '
(C} sapm | c.ﬂu.mmgi. e sapp [l gaupreng
(D) _&;bplpwplralg,gamcb. sapy [ sflumengy ; | . '

N 1 : LAGS/19
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20.

21.

22.

Which one of the following was not identified under the Basic Minimum Services Programme
of the Ninth Five Year Plan? '

| (A)  Availability of primary health faclhtxes

(B)  Provision of drinking water

(G Stzengthening efforts to build self-reliance

(D) Universalisation of primary education

&g@@mm@g;ﬁlm PEH PAUBHTES) g‘r_r,g,mm@ A shan & @m;pm;sun..s Siq iU uaflsar
QLLgﬁla) @b Gupelidame :

(A)  yrou ssrgay Gusﬂsmeﬂ’ Qaisgi HmBD

(B) simeeuée Lngistiuner G bt eupri@ s

(C).  swsrieu s agpanar (ubilsmer adaon(sgse

D) prbus sl Sw@EHED Henbs Qaiisé

According to 2011 census the state havihg maximum populatiop?

(A Uttara Pradesh ~ (B) Maharastra

(C) Tamil Nadu o (D) Kerala

2011 wasdr Aprers sarEQsGUddy, orhs DA wisd Qpres SHsNs o dg?
A)  2pBroGnGssd B wamnasg

© sOpHE (D) Gayenn

The total value of output produced by the factors of production located within the country’s A
boundary in a year is :

(A)  Gross National Product (B./ Gross Domestic Product

(C) Net National Product ' (D) _Net Domestic Product

Sm BEGD Dilgd ch@OEGS cde apLEbs smaflsemd e hUSS QEiCLLL
Qacfitipsaian Quorgs wdiy . . '

(&) Qursspm®epusd | B Qures e emn-{ =-puss

(C) Parp @ ..o_;i)um D) Hayedapn G 2 Husd






72 When was New Industrial Policy new trade policy introduced?

(A) 1817 N (B) 1960

© 1990 - owie1

ufw Azmdh Qerenons, Uw euneflus Qardiens aps span( sifleflasiiu’ L 57
(A) 1817 * @) 1960 '

(C) 1990 (D) 1991

7. Match List I with List 11
List I : List IT

{(a) Absolute Poverty 1. Inefficient Housekeeping
(b) Chronic Poverty 2. Sub. employnient

(¢) Secondary Poverty 3. Lack of basic needs

(d) Urban Poverty 4. Structural poverty

(a) b (c) (d)

&3 4 1 2
(B) 4 3. 2 1
©€) 2 1 3 4
D) 3 1 2 4.
ul‘_q.u.@ Iguique e 'Qun(l_u';gus :
L iguid I U g I1
{8) Qp(y sumerw 1. Speovwupp GHou Praursd
® wppes RUNIEDLO 2. Gawme s_rru'ﬁ_; |
{c) @va'm.ﬁb_ fléve cugyeno 3. ' SlgUumL ussdr @&wnmm
(d) paTyp ey 4. ool smihe Qipans

@ ®» © @

A 3 4 1 2
® 4 3 2 1 -
© .2 1 3 4
®) 3 1 2 4

ATOGS/19 28




37.  Whois the first Governor of Reserve Bank of India?
‘ Sir Osborne Smith
(B) Sir James Taylor
(C) H.V.R.Iyangar
(D) M. Narasimhan

- @ Maieu mrﬁeﬂuﬂa’wf WP seufrant wm?
(A)  sir. ShevGuren doll
B) ai cg(befu Qe

(C) cré.e&l.esggfr. SNOWRISTIT
D)  enb. prdlibioen '



7%,

78.

79.

The first industrial policy Resolution was issued on

A

1945 ' :

% 1948

(B) 1947
D 1950

s AsmPn Qarerens Siwrand MenpCeudmiiL_L oyer®

(A)
(©)

In which year the National Development Council (NDC) was set up?

- 1950 4 agl 1952

(A)
©

1945

1948

1953

(B) 1947
(D) 1950

(D) 1955

Gaélw Gubum @ swan Bpeuliul L @ eg?

@

©

1950
1953

(B) 1952
(D) 1955

Which one of the following comes under fiscal policy?

@)
W1
©
(D)

Bank rate policy
Public Expenditure
Open Market Operation

Variable Cash reserve ratio

t&]s’a‘raj(%summgbgércr@ HfsQamerensulien £ aimb?

@
®)
©
©)

. eurud eigb

<|rflen Gy
Qeue yrssmg. BLGulg.Ems

LOFILD Qprés @iy eSpb

.29
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69.

30.

Which Committee was constituted to as

(A) Kelkar Committee
(C) Jha Committee

s;?ne profitability of public sector banks?
)

Narasimhan Committee
(D) Raja chelliah Committe

Qungissienp aunflsaiar @musrsms WHISEH QFLMSDETS DMWLESILILL G

(A) GCseost@w
©) grew

The expansion of GDP is
M Gross Domestic Product

(C)  Gross Domestic Percentile

GDPern efflcumgsin

(A)  Gross Domestic Product

(C)  Gross Domestic Percentile

25

(B) mrélbwd @
(D) prgr Qecvaneowim @

-

ATGS/19
[Turn over

(B) Gross Development Product

(D) Gross Development and Planning

(B) Gross Development Product

(D) Gross Development and Planning

The first vice chairman of the NITI Aayog was

(A) Mr. Bimal Jalan
(C) Mr. Y.V. Reddy

B 2, Cursdlen 1pseb GienewTs seamaeuit |

(A)  Mr. Swé geomen
©) Mr.Y.V.Qrlg

(B) Mr. Rajiv Kumar
(D)VMr. Arvind Panagariya

(B) Mr. grgdeu @omi

(D) Mr. @weilbs uermssmiluim

13 DJGS/19
[Turn over



The new symbol of Indian rupee is blend of .
(A) Latin and Greek (B)%)evanagiri Ra and Roman
(C) Rajasthani and Samaskrita Bharati (D) Hindu Arabic

@pHw epumlen yHw semLwrerd GHuIH —— Qumyfl Qurhlasiiul L sear aumuienss
Sl SN & LD.
A) @wsar wpmb ECrésn (B) Cgeuandfl g Lo}j)g]ij Gomwe

(C) @rrgeavgrefl wHm o Hs Lryd D) @z - 2ACmIs

Match the years given in Column A with the Nationalisation of sectors in Column B :

Column A Column B
(a) 1969 1.  Nationalisation of wholesale wheat trade
(b) 1980 2. Nationalisation of 14 commercial banks
(c) 1949 3. Nationalisation of RBI
(d 1973 4. Nationalisation of 6 commercial banks
¢a) (b) () (d)
AVv 2 4 3 1
B) 2 4 1 3
© 1 3 4 2
D 1 2 4 3
esreu(meuaeudenmL) QUIT(HSSHIS :
fre> A ' firés B
(a) 1969 1. Guwrgg Cangenws Qarearapse BTl (HLenw
(b) 1980 2. 14 cuenfls cumdlaer B (Henw
(¢) 1949 3.  nig srsLemn
(d) 1973 4. 6 cuenfla cumidlser &L

A 2 4 3 1
B) 2 4 1 3
©). 1 3 4 2
D) 1 2 4 3









23.  Match the following :

(a) Quantitative credit control measure 1.  Direct
(b) Qualitative credit control measure 2.  Bank rate increased
(¢) To control inflation 3. Bank rate decreased
(d) To control deflation : 4. Indirect
(a) (b) () (d)
. 1 2 3
(B) 1 2 3 4
C) 4 2 1 3
D) 1 2 4 3
sflwrs QUTHEES : :
(a) &L eTeys sLHUUTLH WD 1. Cmrg penp
(b) sl gamenw s_HUUT.H apan 2 awnd aign FsfsstuBn
(0 uvewmeisssms s_HUUBES 3. awnd aigb Genssuu®Hn
(d)  vewaum Lsms s_HuubES 4. OED(PS (LPEOD
(a) (b) () (d)
A 4 1 2 3
B) 1. 2 3 4
C) 4 2 1 3
D) 1 2 4 3
24. Match the following :
(a) Basic goods 1. Cars
(b) Capital goods 2. - Plywood
(c) Consumer goods 3.  Machineries
(d) Intermediate goods 4. Cement
(a) (b) (c) (d)
(A) 4 1 2 3
&4+ 3 1 2
C) 4 3 2 1
D) 3 4 1 2
sflwreneng QUT(H5ES :
(a) S@gLuLL LT RIGET 1. wélpeyHs
(b) epegeans uaTLRIGET 2. Genereyl
) () msTa uaRTLBiG6T 3. Qundymser
(d) @ Hlevew Lier_riger 4. HQwer
(a) (b) (c) (d)
(A) 4 1 2 3 b
B) 4 3 1 2
C) 4 3 2 1
(D) 3 4 R | 2

25. By whom defined “Every branch of knowledge has its fundamental discovery in mechanics, it
is the wheel, in science fire, in politics the vote similarly in Econoniics in the whole commercial
side of mans social existence money is essential invention on which all the rest is based.

(A) Seligman (B) Daldon (C) Fisher ﬂ Crowther
el url Ofeflgbd @m sar® iy 2 ar@®. apdrelwed sssrapw, sifledweld Sujb
2rfludd aursg SO @muug Cure AQurmeflwelsd walls sapsru aurpsamauiie auraflasda
uesTd @ P&l searH19g U@L WHDMUSET DMGFHID s FTTHCSH 2_eTeng) erans sadlwieui
(A) Qsa&Cen (B) vLmeen (©) QYagr (D) &Qgengzir

HT(Q/1a 19 el



99.

100.

The decision to start IMF was taken at

(A) Geneva conference % Bretton woods conference
(C) World trade organisation (D) Foreign direct investment

uenenm® HF Hipeuand Carhmefuugparear Sioneand erm@ HenCaupmiiul L g
A) Qgafleur T (B) QAL e 2 6v wrpr®H
(C) 2 w8586 LU D) wanr B Corg WsesSH

The first Human Development Report was published in 1990 by UNDP under the guida:
of ———————— an eminent Economist.

(A) Weiner )f Muhahub — Ul — Haq
(C) Horace secrist (D) Thilak

s waflgeuer Cubur’ B Sifidmswunarg 1990 b year® UNDP fipeuassrd
ererm Qummaflwedesfier anfasm Hgelemug Qeuafluliul L g

(A) QeuuQemr B) @san'-2 0-ans

(C) QannCrev QesfavL (D) daos

7 HTGS



94.

95.

96.

The Minimum Wages Act was passed in the year

(A) 1947

G 1948

(C) 1949
(D) 1950

GDDHSULEF FacdlFFL LD &@@s'uu@gg,uug_ ST (H
(A)  1947. ‘

(B) 1948
(C) 1949
(D) 1950

‘Which one of the following is an indirect tax?

(A)  Wealth tax (B)

\V Service tax ' . (D)

Yemeu (meuameuHIIET 678 DS aul?
(A) Qersg eufl (B)
(C) ' Gsereu auf | (D)

The Gross Domestic Product per capita of Tamil Nadu in the year 2015-16 18

(A) Rs. 99,482
(C) Rs. 2,40,320 (D)

(A)  em. 99,482 B) -
(€) e 2,40,320 . (D)

Expenditure tax

Income tax

Qaavey aurl

eu(mLomen Gurl :

Rs. 1,43,547
Rs. 1,20,245

12015-16 LD BTIg 60 SO HITL 19 6 g,ev'rraﬁg, Qurgs 2 aTBr B 2 HusSH o

em. 1,43,547
em. 1,20,245

BGD-



14.

99.

100.

When the Tiangong-1 was disconnected the communication signal from the control station of
china? ' -

(A)  21% April 2016 (B) 21t May 2016
(C) 21+ February 2016 » W 21% March 2016
gwrensmii-1 erbg e B far slanQeuafl fleneows s GUUM. G @wwsg L amar Asm_iou QWbes?
(A) 21 gure 2016 : (B) 21Cw2016
(C) 21 9dageuf 2016 (D) 21 wr&E2016
7 - AAGS/19

Which one of the following is not a problem in estimating the National Income of India?
(A)  Double counting ' (B) Unreliable data _
(C)  Unaccounted income ‘ y Presence of large number of enterprises

Qeneumeuaaummer @bHwrailer CaHlw auprearsamg sierellHeuld Séso ooy anm erg?
A  Qmupan sansdl (B0 (B) mousssts yerafl efleurmiser

(C) sarsdd sT_LULILTS eu(HeumL (D) <ofs aanaflaamaorer Hneuarger

Capital formation of a country depends on

w Savings (B) Marginal propensing to consume
(C)  Standard of living of the people (D) Income of the people

6R(1h BTL_19.681 PGS D HSLD GTENSF ST HGIGTENS)?
A)  GCadluy B) @odblee marey priLd

(C)  wssaflen urpsens Flenaw (D)  wssaflen qumeumis



26. Which of the following is incorrect?
‘ (A)  GDP at Market price = GDP at factar cost plus net indirect taxes
(B) NNP at factor cost = NNP at market price minus net indirect taxes

(C) GNP at Market price = GDP at market price plus net factor income from abroad

w None of the above

&Cyp Q&rr@&asthuL@shmcugbgﬂcb TG HeuUDITeNg)?

A)  omesng elmauda Corss 2.6MpI (B 2 Husd = sryefl efleneua Gwn§,§ 2. e (H 2-Husd
wHoid Hlay weanps euflser )

B)  smyanfl cemauier Hai BIL® 2pusd = smsng elwo¥e By mr @ e pussl - By
wen s ouflger

C)  ousmg efanaulicr Qurgs pri® 2 Huss = sikang olaauda Gorgs 2 drpr_ () 2 pusd +
Geuefimmi iy @mba eumid smyeflsaier &7 eummend

(D)  CGupsaflu erencuyid @evenev

27..  Mass poverty in developing countries is due to
(A) Inadequate developmént of resources
(B)  Low per capita Income
(C) Heavy populaﬁon pressure

' \M All the above

aueTHd BrHsafler s sieTey UL THUL & STyaRTd
(A)  aueriisar wearGanpmd Curgiwrasms (O
B)  E@DHE SieTey FOT QuEHLTEID

©)  2fs vésdr Qsnens oLisH

D)  GupQsrerareme Simendgib

28. Modified National Agricultural Insurance Scheme was launched in India during the period of
2010-11 B) 2011-12
(C) 2012-13 . (D) 2013-14

wrpilwewssiiuc L Colw efleusmu Lrgsmiy FlLb @pHureiler SifpsLLESSILLL Sreb

(A)  2010-11 (B) 2011-12
()  2012-13 (D) 2013-14

c 10 L



22.

23.

24.

25.

“Economics was on one side a study of wealth and on the other and more important side a
part of the study of man” — Who said these words

Alfred Marshall (B) Adam Smith
(C) J.A. Schumpeter (D) Baldwin

“Qurmeflwelien ¢m LssD Gsdausms LHHlD wHussL Vs Wasdwuwrs weallgmen LDHBHuD
< rrilng "~ eren saBluieu

A)  olnl wrragd (B) L beviils

(C) J.A sdSCLA (D) une@edlam

“All history is a history of class struggle” whb said?
(A) Arthur Lewis (B) J.A. Schumpeter
(C)  Alfred Marshall G Karl Marx

“eaurgals CurrrLCw eugenm EW” erer sadlweur?

A)  isT gnuilay B) J.A sbS L
©) yolyl wriage (D) smivéd wriTéen

“Low capital formation” is one of the basic causes of poverty in under developed countries.
Who said these words

(A) Mahatma Gandhi (B) Malthus
W Ragnar Nurkse (D) Karl Marx

Qengiudlw prHsafien “@ampeurer ppwgan 4 &E6CL” QMIEOEES BigILEML STIGTD — 6T sadluieurr
(A)  wargwr srp (B) wmrégen

(©€) gnaent piraen . (D) s&mired wrTHED

The population 'growth of India has been increased from 238.5 million in 1901 to
million in 2001.

f 1027 (B) 1227

(C) 1237 D) 1327

@pHwu wvasar Ggrenswreng 1901-60 238.5 Wadlwenrs @Qmbss 2001
Wedlwerns oifafsg drarg.

A) 1027 (B) 1227

(C) 1237 (D) 1327



72.  Education is
~ Consumption and Investment
(B) Consumption and Expenditure
(C) Consumption and Income

(D) Consumption and Experience

sevelll crermLig)

(A)  msieyd ypsSHL

(B) gﬁ;fmmb Q&eayld

(©) meTeb au@lLTTIPD
D)  msiend Siguap

73.  The Structural Adjustment Facility (SAF) of IBRD for its member countries was introduced

in the year
1985 (B) 1980
(C) 1885 (D) 1992

wofyewiy wHmb eaaréfsrar LTl @ wadlar S QeuduBbd SglumL WLIHDS®a
sM@syb 2 g6l HLb (SAF) Agmmsiiu L gyan@ .

(A) 1985 (B) 1980
(C) 1885 (D) 1992
74.  “All Economic Life involves Planning” who said these words?

(A) Barbara Wootten

(B) Mahatma Gandhi
Lionel Robbins

(D) Jawaharlal Nehru

“mangg Qummaiwe aumpeyw HLBiBgme o uBSHWCE — wrr FapHm?
(A)  unmrugr eer-L e

(B) wangwr srpd

©€) @owerd ymYenev

D) geusierd Crm






80.

Observe the following characteristics of a good tax system.

I. Taxation is an instrument of Economic Growth.
II. Taxation for Ensuring Economic stability.

(A)  OnlyIis true (B) Only II is true
(C) BothIand]II are false ' W Both I and II are true

Gemeumeuaneupiile) eraneu e, peva aurfl 6llg e 9en uidsans 2_GTeNg).
L aflser Qurmarmsmy cuetiéflenws earé@edls@ib sryanflwms 2 dreng,.

I aflser Qurmarmgry Hlavaliys saemo 2 mé Csiaigns o erarg.

A  Twli@wsfd By II ol (i &l
©)  Tuwpmw IT seugy 4 (D) T whmod I &f






15. Match the following :
Some organisations which are under controlled by the ISRO
(a) Vikram Sarabai space centre 1. Ahmadabad
(b) ISRO satellite centre 2.  Tiruvandrum

(¢) Space application centre 3. Sriharikotta
(d) Sathish Davan Space centre 4. Bengaluru.

(b) (©) (d)

(a)
ao( 2 4 §i % @
B) 1 1 3 2
© 4 1 3 2
®) 3 1 2 1
sflwuneeupenn QUTHESIS :

ISRO &flén &1p QawduBb Ho WEEW SienLIL|sGeT

(a) ef&mbd srprumi vCuev Qe 1. HASLHTUTS

(b) Q@&vCrm sm’igemel Qe it 2. FHmeueapsLrd
() evCuev ieliCaagern Qaem it 3. B anfGami L
(d) sSay geuren evCGue Gaem it 4. Qumsenm

(a) (b) (©) (d)

A 2 4 1 3
B) 1 4 3 2
) 4 1 3 2
D) 3 4 2 1

16. Pradhan Mantri Jan Dhan Yojana scheme was started in the year of
(A) 2016 (B) 2015

% 2014 | (D) 2013

Qogren whH gengen Gurgert (PMJIDY) Hib Agm st L e
(A) 2016 - (B) 2015
(C) 2014 ‘ (D) 2013

AAGS/19 8



65.

66.

When was “Key attributes of effective resolution regimes for financial institutions” adopted
by the FSB (Financial Stability Board)?

(A) Oct 2012 : J Oct 2011

(C)  Nov. 2012 (D) Dec. 2011

‘B8 Hmeuentiis@psaTar LLgETET STOTETOTET 28 ppsafien wsdw v s smpser” FSB (£
Beagsamo @w)-eured eriCung ghmé Gararariiul_Lg)?

(A) 2012 &aCLmur : (B) 2011 o5CLnrur
(C) 2012 peubui (D) 2011 gsbur

At which day and year, demonetization was implemented?
(A)  August 8 2016
(B) September 8 2017
November 8th 2016
(D)  October 8t 2016

uer i $ési - QeuOUESSILLL BIeT, e[ g
(A) 8 aysaor 2016

B) 8Q@suLbuT2017

(©) 8peubuir2016

(D) 8 =&CLILT2016



























48.  Which of the following pair is wrongly matched?

A)
(B)

D)

. National Development council

National Human Rights Commission

Finance Commission

Central Bureau of Investigation

Non-Constitutional body
Non-Constitutional body
Non-Constitutional body
. Non-Constitutional body

- &Cyp QarRastu_Herer oL cuaeantulld) a7g saumsns QurBSSILL HeTarg)?

(A)
®)
(©)
(D)

Caw euarisé) @

Caéw weaflg 2 Mewsadr Ly emerTwid
9 6w

wHHw Loarmiiey

DTAWQLEOUIL] PALD 2 (HAUMSSUILILITS DIGOLOLILY
Srflueemwvlbdoars Himpeuend
Srélweeoly apad aurns Himeued

2wy apab eurrs Hmeuerd

49.  Which of the following bodies regularly reviewed the progress of the five year plan?

A)

National Development Council

\V Planning Commission

©)
D)

Cabinet Secretariat

Union Cabinet

whgren(® HLmsmer b Hipeuend erg?

(A)
(B)
(©)
(D)

Casélw HiL (sioeg) auariss @

Sl ememmuld
CaGean_ Qawem gIeuasLd

wHHwu CaGlern_

50. The Niti Aayog is a

(A)

Constitutional body

; \W Executive body

B 2 Cuins eremuig

(A)
(©)

TTINCIn

Sirflweenwlberar senwly

" Qewend 2 meunsdlw Biepoliy

(B) Statutory body
(D) Sovereign body

B) slLsdHonen semwiiy

(D) @enewvwrer Hewliy



81.

82.

The British rule in India resulted in

(1) Decline of Indian handicrafts and rural economy

(11) Introduction of new land system

(iif) The process of industrial transition thrqugh colonial capitalism

(iv) White revolution

(A) (1) and (i1) are correct

(B) _ (1) and (iv) are correct

M (1), (11) and (ii1) are correct

(D) (1), (111) and (iv) are correct

‘WA g 6y oy Hullanmer @pHlw QurmerTsrysSle gHuL g’ )
(1) @rdu wss@smfla wpmb Arymoliyp QurmeTsTFSSHo ghul L Gaeaea_eay
(1) yu fle sewiiy wpan ! :

(1) sreailu psoralisgeusdand Agmfe gepuia goulL wrHDD

(iv) Qeuewrenols Y8

(A) () vppwo (1) sflwurereea

B) () wpmpb (iv) sflwurarensu

©) @), (1) wpmw (i) sfwrereme
(D) (1), (11i) wpmd (iv) sflwrerene

Which India’s F1ve Year Plan had the basic objectwe of growth with Social Justlce and
Equality?

(A) Third Five Year Plan

(B)  Fifth Five Year Plan
Ninth Five Year Plan

(D)  Twelfth Five Year Plan

@pdwurellen aps phHsTarBHS H L b “seps BH wHMD swHlouLar sagw auanTésl” LS
sagienL_ W g LiueL Crraswns Qarary mHas? -

A)  eperpreug pHsTaT(HS L LD

(B) misrag pHsTRTHS HLb

(©) geaugraug phsram®s S L

(D) uenefQrarr_neug RHSTRTHS HLLb

21 v y TINCIn






19. The Minimum support priceé in India are recommended by
(A)  Reserve Bank of India (RBI)
M Commission for Agricultural Cos#s and Prices (CACP)

(©) NI;FI AAYOG |

(D) National Bank for Agricuiture and Rural Developmént (NABARD)
@nbHwureien @é)g);'ﬁguL& aflevavsamer ufbgienriug

A) @pHu Mairds eursdl (RBI)
(B)  Gauarmen Qswa| wHnb eflrésTarn Ssib (CACI;)

© PP Cuns

(D)  Geuerrair wHmID 2arys apeCarmpsHnaTer Cadlw curudl (NABARD)

20. - is levied on the incomes of registered companies and corporations.

(A)  Personal Income Tax

\M Corporation Tax

(C)  Custom Duties
| (D)  Excise Duties |
ufle| Qatiwtiu ﬁigmmréw;'dr wHnb Asmfle Hnauamsdr g eldssluBb el
A) - sefipuir aumwren aufl |
(B) Qzmfler aufl
(C) &mseufl

(D) QewQumrmer aurfl









70.  During the year 2016-17, the disinvestment department was renamed as |
w Department of Investment and Public Asset Management (DIPAM)
(B) Department of Investment and Public Asset Maintenance (DIPAM)
(C)  Department of Disinvestment and Public Asset Management (DDPAM)
(D). Department of Disinvestment and Public Asset Maintenance (DDPAM)

2016-17 b peng.ed ukiEGsmer Hambul Qumb HonsE UHwusrs @LI_IJUI'_I_'GLJIUI‘T
(A) Department of Investment and. Public Asset Management (DIPAM)

(B)  Department of Investment and Public Asset Maintenance (DIPAM) )

(C)  Department of Disinvestment and Public Asset Management (DDPAM)
(D)  Department of Disinvestment and Public Asset Maintenance (DDPAM)

71.  Which one of the policy is followed by the government during inflation?
\M Surplus budget policy
(B) Defcitbudget palicy
(C) Compensatory fiscal policy
(D) Balanced budget policy

Spsar_cunhléd Lamreiss sTasHld 2ireTd eraamawunar HEs Asrarans QaubpiuEng?
A) 2ufl il Qardens

B) upprs@ep Hffloe Aardaas

©) sfdaybd HHflewe Qasrdarans

(D)  aflsw Afblee Aarerans

72. = The Reserve Bank of India Act was‘ passed in
(Aa) 1921 (B) 1925

() 1929 : W 1934
@bHuw ewow curBulen s 11b @upHlu e tb

Aa) 1921 . B) 1925
© 1929 (D) 1934

SAGS/19 . 28



43.

- 44,

45.

In a budget the deduction of total plan and non- plan expendlture from the sum of Revenue
receipts, recovery of loans and other receipts is

(A) Revenue Deﬁc1t_ ‘ . Gross Fiscal Deficit
(C)  Net Fiscal Deficit (D) - Primary Deficit

58 Hoe sfsslo Qurss S b sri LHm HLb sngn Qseeys@er eumeunis aurey, HLan
B wpmd Gp eumeumSlen LY CH Qg,nm&uﬁaﬂ@w 5055 aumeug; :

(A) QU(HEUTI UHDITEEeD o (B) Gwng,g, HEO upprEGeD

(O ferfHuupprégep ' D) sgliueL uppréEen

3 yl one has the sole right to issue bank notes of all denominations?

RBI
(B) . Ministry of Finance

©) " Cabinet Committee on Economic affafrs
(D) Both (A) and (B)

&g;sam_mgpgm @pduneiler Lart s s aaeﬂ:._@ QeuafuliBio a@&mw qur@an_u.Jg?
(A Msies GLiriid =y @sHwir (B) £ sewwéean
©) Qun@mngm; efleusny SMDEEES @@ (D) (A) vpmwo (B)

Which of the following is not the example for Direct Tax?
(A) Taxes onIncome | .

(B) Taxes on property

(C) Taxes on inheritance

M Téaxes on entertainment

&Qe’sa&aﬁm.mm&@sh eraneu Gpiaps aufisaTen arGsgissm (6 dHd?
A) - amarden Bgrer euflser

(B) GQengden Banen cuflgar

(C) aunfisflenwaer Banen auflgar

(D) = Gaaflgens Sgren aufflaer



y ) ;
~ 46. Aam Admi Bima Yojéna, 2007 is
- (A)  Poverty Alleviation Scheme ' (B) Em'ploy'me'nt Generation Scheme

M Insurance Scheme - . (D) H;)using Development Scheme A

) é;],‘L.D 250 Swr Cungent 2007, 2 .

A apevefiusdiin 0 . B) Came aumiziysd S b
©) &ruSi@sdiin - D) Shesfdis
47. Consider the following statements :

Govt. of India Introduced Direct Benefit Transfer on January 1, 2013 w}ith a view to
g reduce corruption ‘ |

2. control expendjtu're
- 3. facilitate reforms

Select the correct answers using the code given below. -

(A) 2and3only - . : 1 and 2only
(©) 1and3only . @f'l 2 and 3 only

5@&,&6@&_' FaMHem TS

@ﬁﬁu DIPETRISLD ggeweufl 1, ‘2(A)1'3 b e ‘Corg ouG'ﬂ. wrppe’ (DBT) Al ga
: aﬂ@&ﬁg@ﬁﬁwgw Crrésid. . 9 | | .

L egssoss gopuusHE

2. = Gewameus GapliusnE '

3. 5&@@5,5@5@&7 Gu@wgﬁ;@

. &Qésa\;s&n_cnm&@jeh sflwren elen_emwsg Capos(Hés.
(A) 2 wpHmb 3 L@ S - . (B 1uoppid 2 ol Bid;

© 1oppio3wiGd D) 1,2 0pp03 0060



145.

146.

Green revolution increased mainly the production of

1.

o

1.

2.

3.

4.

(A)

©)

Ma‘iz.e
Bajra
Wheat

Oil seeds .

1 only L P (B) 2only

VSonly - | (D) 1,23andd

L& YTl psdlwnns @gan 2 pusdenw sifafiLg

Cememd -

sy

Ga;rr'g,ja)m

Y- — bgbmen

1 i @b | - B) 2 0l Gib

3wl Gib S D 1.23wppb4

Percapita income means

(A)

B)

"The total value final goods and services produced during the ﬁnancial year

Total income

M National Income/Total population

- D),

NNP

ST QU(HLOTEILD GTETLIZ)

@A

(B)

©) -

BT G\J@LDITGOTL'D' [ Qursg waser Agrans

(D)

R pamrige 2 HusH Qewigy WPssULLL LIERTLRiGeT mﬁ;@;m.umﬂ&aﬂm Qungs wHiuy

Qurss m@mnmm

flar Cs8lw 2 pLss (NNP)



147.

. 148.

\ a
Which one of the followmg commxttee is related to public sector disinvestment?

(

(A) Narasxmmam Committee M G.V. Ramaknshna Commlttee

(C)i Umt Patel Committee : (D) Jha Commlttee

£Cy Qar®ssiiuL_meusalld Qurgsgap apagen alledse QST furer G eTa?

A)  préflownd S8y (B) @‘sﬁl.‘onmﬂ@dqmrrm&Lq.

© oigsuCLé sy _ D) grisdiy

Which of the following is/are original aim(s) of International Monetary Fund?
1. . To promote Internationai monetary cooi)erétion |

2. To facilitatg the balanced growth of Internationgl trade

3. To promote exchange. stabﬁity )

Select the correct answer using the code given bglow. <

(A) 1lonly | ' "2only -

(C) 1and3 e Ml 2 and 3

uenenT_® Lenr HAullen 2 amenwiren Crnésn

1. LiemenTL (H Liewr g@mé\mmudu Cuobu®Bssso

92 gflgw usiname@ cumenflL ajmr'ré_élé;@ 2 565

L Blevowre wrpm elfssms CubuBEgse

sflwne éﬁ]aﬁ;am.n Cairey Qawis.

Q) 1wi®o il | ¢ B) 2w Gw

© 1opmn3 | @ 1i,20ppn3



36.

38.

(A) Public Account Committee
(C) Narasimhan Committee (D) None of the above

NABARD was established on the recommendation pof
M;hivaraman Committee

‘mrumi® wid’ abs G ulibgmrurd Qarar® euruurLg?
A) Qurg seawsE G (B) &eugmwen @w
(©) prébwer G ‘ (D) Cuhedwg ggdaame

Who is the First Indian Economist to write the book about, “poverty of India?
(A) Y.S. Pondit

(B) J.S.Mill

(C) Adam Smith

: M Dadabhai Naoroji

“@pHwrelian aupern” aen LSEEEMS e WEIID awdu @bHu wed Aunmersy Hluemit

wmr?

(A) @ eteb. LG
(B) Cg.eren. e

C) <bevds

D) srsrumi QperGyrgd

NDC refers to

(A) National Defence Council
"(B)'  National Demographic Commission
% National Development Council

(D) National Development Commission
NDC eremnugy
: A)  Gzélw ungisTuyé seu
(B) Cséw wésar@grens @w
(C) Csélw eueréé sevus
(D) Cséllw euaniiéd G






42.  Match List I with List II and select the correct answer using the codes given below lists :

List I (Event) A List I (Year)
(a) Special Economic zones policy & 1991
(b) New Foreign Trade policy 2 2000
(¢) Goods and services Tax act 3. 2015
(d) Narashimham Committee Report 4 2017

(a) (b) (c) (d)

" R R
R S
@ & 0.8 w4
o v B i

Qurmsgs Llgwed I wppw 1T ew Qurmsd ECp AanBasuurBerar sflwmen fenLeow Cairey

. Qsws
utgwe I (Bapey) ulgwe IT (@)
(a) &puyQurmertgry war_e GardTens 8 1991
(b) ydw uemarm () eurenflu Qanerens 2 2000
() Qummer wHmb vesfl euflé s 1b 3. 2015
(d) prédlowd &8l 4 2017

(a) (b) (c) (d)

A 2 3 1 1
B 2 1 1 3
© 4 2 3 1
D) 4 3 2 1

43.  The father of Green Revolution in India was
W M.S. Swaminathan
(B) Gandhi
(C) Visweswaraiah
(D) N.R. Viswanathan

@pHwrellan usmw Yy Hulen FHMS T DMPSSUILILLGUIT WmiT?
(A) M.S. seurfprgen

(B) s

(C) eflevQeucveurmiwim

(D) N.R. efleveupngen



|

|

44.

45.

46.

Which one of the following is the source of direct tax?

w gift tax (B) customs duty

(C) excise duty . (D) service tax

&Cy Qardssuul_Heter @ammseaila arg Chiaps auflenw sribss?
(A) seuafluy euf (B) &ms eufl
(©C) 20uss eufl (D) GCseveu aul

The sum of the deficit under Revenue account and deficit under capital account is

w budgetary deficit

(B)  primary deficit
(C) fiscal deficit

(D) revenue deficit

BLULS S6T6@E UDDTEGMDE LD (PSR SeuéEL LUDDIé@Gamnenuwb sl iy e liug
A Al sidams uporéEamn

B) @psemew upDTEG®MD

© PHHLuppréEmY

D) eumeumi upprEG®D

The process of removal or relaxation of Governmental restrictions in all stages in Industry
is known as

(A) Privatisation M Liberalisation
(C) Globalisation (D) Disinvestment

Qsmflegienn pLeuysmssaiiaey srfler sl Hurhsmen saisgaums oo  whdlgors tewsd
Qamén@pid apenmenis

(A)  geflwrit wwwrEsd (B): smymer wwiworésn

(C) o.@8wLWLTIESD (D)  epasear cewssn



95.

96. -

Consider the following statements :

According to the first stage of Demographlc transition.
I. Death rates are high.

II. © Low birth rate. -

ITI.  Absence of medical aid.

Select the correct answer using the code given below :

W I and I1I only : (B) 1and Il only
(C) 1l and I1I only (D) I, IT.and III

EpSaTL FaHEND BHMIIS :

w&seT Qgrena wrHpsHen e Hleaudler Lig

I. . =dswre @iy eSsib.

II. . @epearer Gpiy eigb

III.  wmsgeu 2-ged Gawreamw

Spsaam_aupmer sflwner ellen_emw CaiposH&s :

A)  Twpmo T wGHid (B) Twpmd I wl @b
©) I wpmw II wi i (D) I 1T wpmw III

Consider the following statements, find the “wrong” one

1.  Section 377 of the IPC recently reported in the news is associated with Lesbian, Gay,
Bisexual, Transgender and Quec_er (LGBTQ) Rights.

Joseph shine Vs union of India is the case related to 497 of the IPC. '

o

3.  Indian Young Lawyers association Vs state of Kerala is related to women Rights.

Yashwant Vs State of Maharashtra is the case associated with Right to education.

w 4 only (B) 2and 3 only

(C) 4 and 3 only . (D) 1only

S paaL sahNSE®ET &[HEIH, F 2 dTer Feuprear sapan s Hls

1. puriy Geuflsefiie apns @).s.8 377 umrﬂtu Hlapeurang) “LGBTQ" 2 MewaenLan
Qsm_MyenLwig @GW.

2. Cgrel smlen erdlit @ @endlwibd eremp cuipd@ @).5.8. 497 — ayLen Agm iy g G0
3. @bdu @ed eupsslerisar adli Cager oips ey aupsE GQuearsd 2 MewGur®

QgmLiryenLuwig @GLW.
4. weveup erHTOSTITEVLT SIT& 6renD cusE swell 2 Menw s 1L FCHTH AzTLTyeLwig) D ELW.
A) 4ovl@pw B) 2wHmbd 3w @G '
(C) 4 wpmyb 3wl ' D) 1wl @
39 GR1P

MTuarn aver



140.

141.

142.

In which of the Industrial Policy Resolution (IPR) the establishment of socialistic pattern of
society was adopted? ‘
(A)  Industrial Policy Resolution of 1948
m Industrial Policy Resolution of 1956
(C)  Industrial Policy Resolution of 1985
(D)  Industrial Policy Resolution of 1991

aps AgrfnQsreiens SrwregdHo “swgiv wrHA swsTwiMs' THUDSHSD eTE@TUF
gom&QamearariulLg? :

(A) 1948 b e B QsmPn@ararens Siomend

(B) 1956 oy gyam(® AsmflnQararens Siomend

(C) 1985 gyib yewr(h AsmPHQ@snerans Siwnand

(D) 1991 sb e Asmfn@arerens Siwmend

Inflation adversely affects

(A)  Profit earners \K Fixed income earners

(C) Speculators (D) Investor

ueTali&a55T THTOMOWING UNFES dalg WeUTEET

(A) eruwb FCBCeurt (B) ﬂmcuu.mésr eumeumis . HCGeum
©€) oas auneflusded FHUGCaMT D) @sSLmert

The objectives of Monetary policy is / are

L. Price stability i

I1. Economic growth

III.  Social justice

IV.  Reducing budgetary deficit

(A) Tonly * (B) II and III only

\(pf‘ I, IT and III only (D) IV only

uerellwic Qamarensullen Crrassm&eT eTenLg)
L. eflene Flenawggenenio

II. Qumrmenmgmy cuen&s)

III.  seps B
IV. ss augey-Geaey HLsdan upDTéEGnamw G@DUILG
A Twlew : B) 1 wpmyw III w b

(© LI womw I w @ D) IVwl@w

55 - GR1P



143.

144.

145.

With reference to NITI AAYOG, Which of the following statement is / are correct?

(1) Transforming and development agenda of India
(11)  Promoting growth and development.

() only (B) (i) only

(C) (1) and (11) only (D) Neither (1) nor (i1)

H Cwns smaHILG., Spssar_cupmer arg sllwren sapm sramumg sar(HNg.557?
(i)  @bHuneilen cuariss Gpne'mrémmar wrhpes Qeiieug ;
(i1)  euert&d) HMD wperGanpHpiamng GCubuBsgieug

A) () wl@w - (B) (i) e

©) @) wpmd (i) LB (D) () wpgw (i) geupreraney

The “Social Protection Index” has been coined by
Asian development bank
(B) World bank
(C) UNDP - United Nations Development Programme
(D) Planning commission of India

“sapsmw Lingismiy GHSE”, wrgmed e maurssiiulLg
(A) q;beﬂu.x cuenr&s) eurd)

(B) cosamnd

(C) UNDP - g&dlw pr@pseflen cueriadl b

D)  @pdu s ew

Pradhan Mantri Gram Sadak Yojana (PMGSY) is primarily
(A)  Rural Water Supply Programme
(B).  Rural Employment Generation Programme
Rural Roads Development Programme
(D)  Rural Health Programme

QGosw wHHA Aymd sgré HLwreng SpamHeuaauDHIET THDE (PHAT®OWLITEIS
(A)  2ays @b asd S '

(B) eaps Cauemaeumiliy HLd

(C) oaps snewa Cuum_ B HL b

(D) mqa’mngmj Hliw -



180. - Which among the followings are the major reasons for driving out sourcing?
1.  Technological innovation.
2.  Economic emergence of developing nations.
3.  The knowledge based economy.
4. Favourable balance of payment.

Select correct answer from the codes given below.
(A) 1land?2 (B) 4and?2
1, 2and 3 (D) 1,3and 4

&Cy G Lul Peraraneusaficr Geuafl ygrrrismer QUusDaTar WP&EW STTeRTRISET
1. Gamfiér mlu sarBiiglyser.
2 cuem(md BrHsefler Qummertgry enGearmmid.
3. ofley enihg QurmermsTyb.
4 sngs eunenflug @ pflene.
@MuGsalle @mbg sflwrer ellen_emw Ggfe Qaws.
A lopgw? ' B) 4wpmwb?2
© 12wHmpb3 (D) 1,3wHmwb4

181. Which of the following factors influence digitalisation in banking sector?
1.  Changing consumer behavior.
2.  Financial inclusion and government initiation.
3. Increased smart phone usage.

Select the answers from the codes given below

(A) land2 (B) 2and3
(©) land3 M 1,2and3

Wereumeuameupmer curud giewpuleman WaargULBSgieusn &S sTyeTonear sTyeaflseT wreaeu?
1. meiGeaunflen pLouydemsuie LTMmISD.
2. HHule 2 eS8 HMID Srfler WPwHE.
3. afls eneile swmil waCuél bwaTuBSSIS®,
@MuiGsaficer Qg sflwrer eflenemw Qs fley Qs
A 1wHpb?2 (B) 2whmb3
©) 1wpmb3 D) 1.2 wimb3



172. Match the following :

(a) Marxist Approach Exponent . 1.  Friedrich Engels
(b) Economical Approach Exponent 2. Sabine

(¢c) Historical Approach Expone;'lt 3. James Bryce

(d) Institutional Approach Exponent 4. Antonio gramsic

(a) (b) (c) (d)

A) 2 1 1 3
(B) 4 3 1 2

\W 4 1 2 3-
®) 3 1 2 4
Qummsgis
(a) wrsdu eNE aperp Hpseenuirent 1.  QpQLAs ermQacev
(b) Qurmeflwe gE wpeop Apsmanunert 2. seuen

' () aurerHn G e Hbsmanurart 3. Cguev Sengev

d) Popoue deE wen Spgomanurent | 4. e CurafiGunr Symbevdl |

(a) (b) () (@

A 2 1 4 3
B) 4 3 1 2
©) 4 1 2 3

D) 3 1 2 4









177.

178,

Assertion (A): VOC, charged with sedition, was sentenced to forty years of imprisonment.

Reason (R) : He attended Surat Congress session and followed Tilak and preached his
philosophy.

(A)  (A)is true, (R) is false

w Both (A) and (R) are true, and (R) is the correct explanation of (A)
(C) (A) s false, (R) i1s true
(D) Both (A) and (R) are true but (R) is not the correct explanat'ion of (A)

sapm (A) : a.2.8-68 Css 5Cimaes @ond swssuu B 40 Hamhsar Hop sar_men
AHEEOUCLE).

srgawrd (R) : @06 wrpnligd swbg Asran® Hasmy' Gaund Sajaunssas ssMssir.

A) (A) &fl e (R) seumy .

B) (A wvppw (R) @ram®w &M, Cugyw (R) eramug) (A)-a9p@ sflwnen eflenéan

((:') (A) seumy speme (R) o

D) (A) vpmd (R) @ran@uw sl gyeme (R) erenugy (A)-e9n@ sflwnen eflaréswd *

In 1955 he was awarded ‘Bharat Ratna’.
(A) Satyamurti :

W Rajagopalachari
(C) Bharatiyar
(D) Kamarajar

1955-b gpam(® unyg nsenm eflmg Qubpeu

A)  spduepisd
B) @orgCsrunanssnd
©) umgHwni

(D)  smogrgr






22: In India Seventh Five Year plan period was from
(A) 1978 — 1983
(B) 1979 - 1984

,gp)/ 1985 — 1990

1986 — 1991
@Eﬁwﬂ@% Fipraug ghsnan® Sl srwb
(A) 1978 — 1983
(B) 1979 - 1984
(®) 1985 — 1990
(D) 1986 — 1991

23.  The focus of the plan was on growth with social justice and equality.
(A)  Sixth five year plan

(B)  Seventh five year plan
(C) Eighth five year plan

MNinth five year plan

e BHSTETHS LD euertFACWIRE sagw supgmu B LHMD sossUSMS MLWLTES C&Te
2_(HeUM&SLILLLg).

(&) praug ghHsTETHS HLb
B)  apmd ghsrem®h S

(C)  erlimb ghsrearHis HiLid

D) geaugreug RHsTE(RS b

24.  The bank of England was established in the year

(A) 1594 | & 1694
(C) 1794 ' (D) 1894
@rflorbg cund Qar_risuurL 60

(A) 1594 (B) 1694

(C) 1794 (D) 1894









88. Identify the incorrect pair

(A) Ibn Battuta - Morocco
(B) Nicolo de conti — Venice
W Abdur Razzak - Arabia
(D) Domingo Paes - Portugal
geupner QUTHSSSMSH et (B9l
A) @Quen ugnsm - Quryr&Csm
(B) H&CanCGor g Camang. — Qeuaflev
(©) SDILGI TETEH - 21CrQwirmr
D) CrmimCGsr uwev - Cunrés&se
89.  Match the following :
(a) Diwan -1 - Wizarat 1. Incharge of Army
(b) Diwan-1i- Ariz 2.  In charge of Revenue and Finance
(¢) Diwan -1 - Rasalat 3.  Minister for Communications
(d) Diwan -1 - Insha 4. Foreign Minister
(a) (b) () (d)
@A 1 2 3 4
W7 2 1 4 3
C) 3 4 1 2
D) 4 3 2 1
&Q&aim_mg_i)a;m Qurmsgs
(a) Houren-@)-ellams , LSl
(b))  Heunen-@)-=flav 2.  eumeumis wHmd FIS Hireunsnd
() Heumren-@)-geved 3. ssaud AgTLysgHemn
(d)  Houren-@)-Gemagm 4. w@meisgion
(a) (b) () (d)
A 1 2 3 4
(B) 2 1 4 3
© 3 4 1 2
(D) 4 3 2 1
nrQna

Q4















47.

48.

Identify the important functions of regulated market committees in India and select the
correct answer using the codes :

(i)
(i1)
(iii)
(iv)

A)

©)
D)

Fixation of charges for weighting and brokerage

Enforcing the use of standardised weights

Ensuring that only “Agmark” products are marketed

Providing latest and reliable market instrumentation to the farmers

(i), (ii) and (iii) only
(i), (ii) and (iv) only
(ii), (iii) and (iv) only
(1), (ii1) and (iv) only

Qigwreiledr @uriGen ellhumear smLksalar WsHu uafilsmer sam_Dbg), @;rSluS@&mmu

vweru (&S sflwmen eflenL smer.

@)
(ii)
(ii1)
(iv)
(A)
(B)
©)
D)

L ulHeugHGL, FTEG&GW sL-Leawb Hiemrun Qaliga

grenm Qupm erent_asamer L HGW LweTHES euedlu|miFHe

‘Q&ris sremm Gunm QummLser W HCW FHhasLILHSSMme 2 NHILHSSSH
AW wHmib HhusSLTET sHheng efleurnisamen afleusTullsEndE eupni@ge

(1), (1) wHmb (i) wHb
(1), (i1) wHmb (1v) L HL
(11), (ii1) wHmd (1v) L Hb
(1), (i11) wHm (Iv) L HD

The population of a country will increase when

A)
(B)

Birth rates and death rates are high

Birth rates and death rates are low

W Birth rates are high and death rates are low

D)

Birth rates are low and death rates are high

@M BIige wEsEsTns Fsfig

(A)
(B)
©)
(D)

Ypiiy eSsapid, @iy eSsupd SiFlswors @QmaeEEn Qunipg
Gply eipap, DUy eSgpb G@peurs QmEEL Qurps)
Gy eigib SiFswrsea)b, @l eIsb Gmpainsab @ maEh durpg
oy eisbd Gemmeunsa|b, @iy 65sb SiFswrsab @ maE$hD QuTps

an IINDACcIONTN



‘In India, seasonal unemployment and disguised unemployment are found in the

M Agricultural Sector (B) Industrial Sector
(C) Service Sector (D) Trade Sector

@pHureile umeuste Coumaudereowb, weanwps Camauidaamvoub srariu@ib &leom
(A)  Geuermenr gienm . (B) Qsmfler syemm

: (C) Coeneus gemm D) eaafss gon

In India, the Industrial Development Bank of India was started in the yea'r

\y/ 1964 | (B) 1963

(C) 1965 ' (D) 1961

@idureile, @nHu Agmfler eueriadl cumid) Asmrkisiiul L per®H
(A) 1964 (B) 1963
(©) 1965 (D) 1961

Which one of the following is not a direct tax?
(A) Income Tax Wealth Tax
(C)  Expenditure Tax W Serv1ce Tax

emeumeueaneupmier arg Corups aufl Sida?
(A)  eumomer eufl (B) Qsnggy el

(C) Gesweyeuf (D) Ggmeu euffl



98.

Dualistic nature of Indian economy refers to

M Co-existence of developed and under-developed segments of the economy

99.

100.

(B) Co-existence of socialism and capitalism

(C)  Co-existence of public sector and private sectors

(D)  Co-existence of governments interactions and non-interactions with discrimination

@QrleL sanenwwerer @bHw QuIHETTSITD T GDISEE DS eremmmed

(A)  eerihg wHmD eueriéd Quprg QUTmHETTHTIRISET R(HESMmeRTHSS)

B)  swgivbd wHH eeoTalged 9@“‘@%@5@1

(C) Qurg giemp wLHMIL seflwurt GenaEsL 6 @HhameaTbss)

D) ewélen Qewerunpaer o gmnsaie @upmdamarbgib, eladuyn Cugd sm_Hge

The First Five Year Plan laid more emphasise upon
(A) Infrastructure development Agriculture

(C) Industry (D) Removal of poverty

‘psoreug RHSTETH HL b ——————6@ s sarey WPéfussaud salisss

(A) e etsl_Lenwly cuaTii&s (B) &fleusmubd
(C) QsmPpsrewa ' (D) aumerw B&Es®

<

Who has introduced Mahalwari system?

(A) Thomas Manroe MN illiam Bentinck
(C) Corn Wallis (D) Wellesley

waweurfl ppampew SHlpsiuBSEwauiT wmi?

(A) - smwev werGym B) &oalwbd Quearrgs
(C) amyem cumedev (D) Qeudaaned




oy 1 ' was the first country to practice economic planning on a national scale
V/?mriet Russia (B) England
(C) Germany (D) India

Qur@ertgmy S LlBs@D e (popwns Qeweou®BsHw HriH
(A) G&naﬂu.lé JEIgUIT (B) @rdonbg
© Qgiwef | D) @pHur

— 11 TAGS/19
: [Turn over



126. Which tax gave the highest revenue to the Tamil Nadu government, before GST?
(A) Entertainment tax
(B) Land cess

(C) State excise duties

‘M General sales tax

ueLisar wHmw Ceme aullaEnse werant SUILBIH TE&EE Afswrear ameauny efss el

T ?
(A) QCaaldens cufl
B) Hegsima

(©)  wrfle smd eurfl

(D)  Qurgy elhuenar cufl

127.  In frequency table length of the class interval =

Number of class interval
Range

(A)

(B) Range x Number of class interval

(C)  Number of class interval x 100
. ‘/{ Range
Number of class interval

HapQeuar uligwied dmwéss 9fle) Qe Qeuaflulier Bemd =

A) _9fley Qen_Qeuaflufien eramanfléens
PNEE
(B)  eféam x Qfley QenL_Qeuafluden cramentléans

(©) AQfey @en_Qeuaflufen eramenfisens x 100
Y&
Gfley @en_Qeuaflulien cramrenfléens

(D)




|https://t.me/tnpsciree|
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22.

23.

24.

The census is taken once in - year
(A)  5years J 10 years

(C) 3years (D) 20 years

wésaT Agnens saTHEQsHUY THEM U@THSERES G P THESLLHD
(A) 5 yan@ad B) 10 yenBsdr
©) 3 ypam@daer (D) 20 gyemBaer

In 1999 the government proposed to implement a special school health programme which
;n?p light of life scheme referring to good health. What is the name of the scheme?

Vazhvoli thittam
(B)  Arivoli thittam
(C)  Child care thittam
(D) Human Development

1999 b () iTsmeng e yHw HlLib apabd udrefl WramauisEhé@ Bow sswrear curpeuciiss
SrorefsstiulLg g erenen S b? '

A aumpQeurafl S b

B) ofQeurall b

©) vyews@wheogaet S b

(D) weflg cueriéd Hi_L b ;

During which time period there was a rapid growth of population in India.
(A) 1901 - 1921
(B) 1921-1951 :

M 1951 - 1981

(D) 1981 -2001

@npHwnelled fleraunar wéssar Qgrens cuaniéél arhg parr(Hsafldr Heelluwig).
(A) 1901 -1921
(B) 1921-1951
(C) 1951-1981
(D) 1981 -2001

4 o -
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28,

29,

30.

31.

“Money is what money does” said by _ _
(H" Bir John H_imka (B Robertson
(C) GDH Cole _ (D) Kent

*Lamnh srenLIg Sevel efanan Gal SnGET gGal aeand siflueud
(A) & e apdaiv : ~(B)  gmufisen
(Cy G.D.H. sed (D) Glml_

&

Which nf l:Le following instrument la not a part of Reserve Bank of India's mnnetary pohcy"
(A) REPO rate ' {B) Bankrate :
(C)  Cash reserve ratio _ y Statutory Liquidity Requirements

ﬁgﬂ.l{!,ﬂlmg]lﬂﬂ arasmefl Meid curtfl presnus DerdransBen g UEd Hdarss ?
(&) fiGur didlgin- : (B)  asif el cftflsid E

O Gl:rrr;ka. By efldl s (D) ereiv oreh gyt

ﬂppmach to 11* five year plan document titled “Towards faster and more mcluawe Wﬂ;
was apprmred by

\,{Hf Nat.lion.nl development couneil (B} Flanning commission
(C}  Finance commission (I Ministry of agriculture

- pharar® A0 Si@ms gpempunes ‘Geuasmrrm LoHgILD aﬁs o amar_dfr euamivifienL
Gonsdl” cranLiens stiSsssg

(&) Capdluaanisdls gop - (B) @l_n_ﬁ By
C ffésw (D) . Gauamnenrenio e néssin

The National development courneil wiis constituted on
(A) August lﬁ, 1950 . AB} April 1, 1951
2 August 6, 1952 (D) August 16, 1952

Gl CuobUM’ () G HMeDwESIUCL e
(A)  egpmeol. 16, 1950 ' (B) gure 1, 1951
(©) WL 6,1952 ' D) mmel 16,1952

Bank linkage programme for self help group in Tamil Nadu was launched in
1998 (B) 1982
© 1991 - o (D) 2000

& o gefl @pbsmar ek flagn s @mt@m ,ﬁu_m glipag il Qﬁlﬂ.l‘hﬁl—ll—il—l.. q,ﬂr@
(A) 1992 _ (B) 1982
© 1991 _ (D) 2000



33. ' The plreaent public distribution system in India is not bazed on the principle of
_ W’ Universal Provisionings '
(B) Targeted groups
(C)  Subsidized prices
(D)  Fixed entitlement

Bhdw prige Guny aﬁlﬁﬂunm aperpuimerg, Gerauph aHE @qiueL Samodld Embgl

gpGurg wrmun Gerers
(A)  weserey [ Qurgeurer cugdiss (@HEER)
(B)  @oissw

(T ordw sllena

{D:) ;ﬂmu.llﬁﬂ o flob |

3h. “l"l‘uch of the following is not an indicator of Human development?
(A) Life Expectancy o . (B) Education
(C)  Percapita income ' P Poverty

Aenemeuanpper wafs Guobun e SO SSILIEH TE7
A auer rfifumioy (B) =il
(€ sefpui GULOEEAID - ' @) _aupIenLY



36.  Match the following
| . : )

|
(a) Original juriediction 1. Constitutionality of a legislative Act

(5)  Apppllate jurisdiction 2. Matters ;:efezred to Supr&me- Court by the President of
i . ‘ [ndia ' ' | o

(o) A&;J'Iisunr juriadictf-:m 3.  Review ;iaciainn from Lower Court

{(d) Judicial Review = 4 Toenforee Fundamental Rights

@ e @ @
@w 1 23
® 3 1 |
© 2 4 1

W+ 3 2 1

ﬂﬁw@wm Eﬂmw

= -

(&) -s4zcp stflamy eumiby L sliwenm sl gdlan sipflumenody getenn .
b) Codopeps® 2 eseB wdmEBib @EBuncd G sooumd
&M suriy ' aflequitiganars Lpi .q,Gnmm Galug E
(€)  =Beyet mpib 3. fpew fhodpifidr freu i ayis
by
{d:] ﬁ,ﬂu;qanurrm 4. @plueL e flamwssmer siapa Qeisg

@ (@) (e) (d

@a 1!z 3 4 -
{Bl-ﬂi 1 4, 2

© 2, 4 1 3 *

.{1:-}4i 3 2 1

72, Who gave the slogan “Ecology is permanent economy”?
(A) 'M.S.Swaminathan ' '
Y Sunderlal Babuguna °
(Cy Gaunra Devi
(D)  Chandi Prasad Bhatt
“gfuGa Hpss Qurgeamsnys” eren AD\pESHDS HHeu wrri?

C{A)  enb.are, ssumblprsen
(B)  sppieomi Lg@Eenn
(C)  Qaenyr Ggell

(D)  smpd Gpems L’



85. The chairman of the 15t Finance Commission

N.K. Singh : {B) Y.V.Reddy
(C) - Unjit Patel _ (D) Rangarajan
15aug ;E'ﬂs @1getien seeranm
(A)  oranGa. A (B) el Gyl
() Ln@ﬁul_ﬂl_su . D) prlasrmges

128. Second Green Ravﬂlutiun strategy was adopted during the
W 11t five year plan
(B) ~ 12% five year plan
(C)  10% five year plan
(D) 9 five year plan

@ reug) Usenw LS S S o0l g
(A 1leug mharean( S snaxg sl

@ 12agmgisrar® 0 snafild

(C  10aum gharan( S srasfle

D) Seup gipron® AL sreig

"130. The tax on import and export is known as
(A} Income Tax (B) Trade Tax
.Jﬂ' Custom Duty _ I Excise Duty

fpssud gopodda by dfasiufib afl adaug _
(A)  eugmonen el : B aefls af
(C)  shisafl D) sord afl

131, Special Drawing Rights was created by

_(Ay IBRD
(B} ADB

W IMF
D) WTO

- Eloiny sLaneuning 2. flenwepw (erevig ) e graunadlu sy

(A) IBRD
(B) ADB
(Cy IMF
Dy WTO

&

|https://t.me/tn pscfree|




132 Tndia signed the :.Dl.;ﬁkel.prnrpusal. in

(A)
B)
€

o

1986
1990
1993
1994

Lot Al iun wsdiiSlc aysin

A)
(B
©
(D)

1986
1980
1993
1994

133. Industrial Finance Corporation of India (IFCI) was cstablished in the year

(A)
{B)

()

1948
1947
1948 .
1949 °

i AsmAp Pywe spsb (IFCDH sHuBESULLL @

(&)
®) -
(©
(D)

1946
1947
1948
1949 .

134. Frictional unemployment exists

(A)

. When there is a decrease in real GDP

M Because it takes time to find a job when one is first entering labour force
R 5

(C)

(I

Ag a result of technological change

When an individual retires

Geuema 1bmhnE Sl fsard qdu b Gouammelsrans

(A)

(B)

()

(D)

Clenmim :»_mmm_@ 2 hugsH euentEs Geopw Curg epuBio
(pgd epeopuns Couema GEL bllsEh Gung Gausma amr_&s.ﬁrmr HIOHD S0 ETe
Qgmfld g i pdLen aﬁln;msimg .

wal B gy Qg Gungl @b e g g



" 189. The key measure of inflation adopted by the Reserve Bank of India currently is
(A) The General Price Index ' o
(B) Wholosale Price Index
- {C)  Retail Price Index
.g#' Consumer Price Index

uarelEsgflen senene suflus Mera awnd sHGung e LCuTdsgb seTaGamd
(A)  Gungsflea sl G
B Gwrs e gHE
€y S i @G
D) geiGant dae gRiilH

15.  Who is the winner of Nobel prize for Eéonomicg in the year 2014?

(A) -Amertia Sen @) JM. Keynes
\M_ Jean Tirole . T (D) M.N. Roy

2014 <ub sy ® Qurmerngrrsdpsnen Cpmue ;'Jﬂr'lm's Quppeur
(A) - QuigHur Geen - {B) * Gg. onib. &eimeiv
©) ghén Gy - . ©) b e pris
16, The SmallIn duétr;es '.Dev.e]up ment, Bank of India (SIDBI) was set up on
w{' 2% April 1990 - . (B) 2 April 1991
(©) 2dApril1992 . R (pj 28¢ April 1993

Bidwu &lm QAgmfler auerrasl akd {SIDBI} @p@umﬁlm ;ﬂgmuum_n_@
(A) 2 gl 1990 . ® 2901901
© 2gure 1992 | ) 2 gz 1993

i -The Reaerve Bank of Indla was natmnahaed in the :.rear'

@ 18 T\ 104

(C) 1950 - - D) 1981 \

| BpfHu Mefrel mmﬂ G;ﬂumu.nmnmuuu. %m@
&) 1048 ' - (B) 1949
(O 1950 Core D) - 1951



. 18, Per capita income can be calculated by

M National Income = Population .

®)

- ©
(D)

H'a,tianal Income —-I;opulatiﬂn. _
National Income + Population

National Income * Population

- gan ﬂ.r@mnmm mmﬁr_uu@wgﬂ

@ - @ﬁﬂm auporasHdloig wsd @ﬁmmw uGlLg
(B) . Gg&hu m@mnmgﬁaﬂ@@ n&seT Qgrasen &@uug
(C) Cafw m@mnmﬁﬁﬂ@m@ WD&SET Gg;rrmmu_u mu@mgj
| D)  Gsélw suiRLrengHallmig wasen Gﬁrrmmu.: Guw@mg
. .IE-T. The cannon nf Taxafmn was gﬂven l:-_!,r | o _
\W Prof. Adam Smith -~ " ®) Prof Shirras .
'_ {C} : me Musgrar.re : Y * (D) Prof-Pigou s

" aufl sﬁlﬁuﬁlm qsﬂlg sﬂ'ﬁmm mmmﬁmmm

: [ﬁ]l'- Gur;rrr#hﬂu_lrr %L.Lnauﬂ;. ' [E] G!.IIUrréjMu;gr'r_ﬁl:r%r&. _
{C] Gucrrr.ﬂlﬂmrr -.mmﬂﬁum ". S .'__(D] E ﬁq’unﬂ!ﬁhﬁ. i -



. 101

Match the ob]ectw&s with Im:llan. plans and gwe answer usﬂ.ng the given codes :

IZ. }
b
(c)

@

@,

@, o
w2z 3

 Plans ) .
v plan _. -..
VI p]an i
DE plan' -

_j'[[ p]aﬁ .

374

@

Db]ectlvas '. -

. BN
- Inclusi\re growth -

Gmwth with social justics ami equa.'htg.r

H.upld mnrease in the standard of lm.ng of the penple

D:mnt ntm-:-k on ﬂm pmblc-.m of pmrcrt}f

kL

Qpﬂu.l ﬂl_.n_m-ﬂgal_m Ggrrmmm Gun@pﬂ GM@HUUL_L Edﬂqpmmmu uu.lﬂluw
' Eﬂmr_udﬂm ' :

my
ie) -

(@

(A).
® _'
().
(D)

' ,ﬂl'_l_rém&r L

.. presne HCiis
oo Bics
ﬁﬂiuﬁl'lb@l_l_lnl
! ﬁﬂﬂﬁ%nﬂpr.nb:él;.n_;h. "y
taj W) _{{:}"
' - T |
3 .4 c2
4-' '3 .2 |
-

L4

)

._'-f};ﬁrrﬂ;r'i’.mdr .

_n_sim'n_&.ﬁ w 'F.ua'mﬂﬂ )
E@sﬁﬁum&.qm mmﬂaﬂqm smﬁ@m@pm

mﬁmﬂmmnmmﬁ; ﬁqﬁﬁm .a.@@mﬁ. suariedl

) qgmmu &uaﬂmmﬁ.m tﬁ,ﬁraﬂ Cri srémsa



102.  The major causative factor in the unequal development of Indian Economy in recent years

are : '
I Slow growth of agriculture widened the urhan-rl.u'a_l divide
- Drﬁ&ﬁiaed sector firms decreased informal employment

OI.  Delivery of essential services at the grass-root level is poar

IV.  Total employment in the economy has increased in recent ;rc.ars

t4)  Iand II correct
(B)  1I and I1I correct
(C) I 10 and IV correct

L 11T and IV correct

‘su sneiisafe Bidy Qummarrsny swéfnho cerhEflasman A Qpﬁaﬂ o] Eﬂﬂm.l'ﬂlﬁ;'-ﬂ
L dlasmuggepulea gampeaunen auariédl, foms parmisgmsdan Guwma Geray ﬂ{ﬁ'ﬁ.ﬁlﬁ.ﬁéj
II. _ e Ffhores genp Flgpevanmiser apenparyn Gaumea amilimy §mnggd
ML sgBuradio eflsd, anpisd simés § wisme Crmpay g o dm sends

IV sfusrannns Gongs Ceuema aumiL oifsflgsd

Ay = I Wi e 1T #fiw irez gl
(B} I wopo 1T sflurerg
(I 1 wimd TV sflwunang

.m} I I whgis I‘u"aﬁlmnm@ _
GRAATNT 0% ) -~



. 108 W]n-:h ofﬁefoﬂuwmgmﬁavemmém mnia.aum'q to deal with ;nuﬂr_fainﬁr magmu]ture -
: . N EE . A L ) . o . e u

o

R I '“';"-}[;'ﬁ#ajyﬁged_ugﬁghl,tﬁl;ﬂl'.i:rriﬁs

IL. < Bufierstockschemes - o oL

CIL Cmp insurance L.

L -~ o

W EF@GDM flni'é'st'msﬂt:ln'_qgriculturé L

]anﬂ]I L _

S U LMandm

C© AMadv -

' '[PJ:.

eofies

[

D) LI and IV |

. Gmnfdm‘mm Lﬁﬂuﬁpﬂm&:tﬂd& !@#ﬂ#uﬁééﬂ?& P < fe pl_mq.&mmrrﬂpﬂ i

L L Chwitar Qungtsigskaraa pf dims-

IV Cauaerewids spHo apsd®
@ dopgell
® Lleppell . .o

(© LHbppoIV - .
O LHspga IV

4

LaTx

109. “India is an Bthnological Museun”. Whose view is this?
(4)  V.D.Mahajan
(B) T.V.Mahalingam
(C) KK Pillai

@7 VA Smith

P LG Gariiseien SpRET Aush”. G UL suss? .

) V.. wgrge o o
®  TV.usdived

(© KK Sewner

@ VAads : ) -

2

T

B Ee T

hlss

] r o .
b e T

o AL

W Ay
v

g

Sl e, TR

PR

LI

i



- 144 Mahatma Gandh.l Mational Rurs.l-,Empln}rment Guarantee A.ct {IHIGNREGA} is ranked ds
the m:lﬂd la.rgeat. public works’ pragrumme by .

(A) Resarve Banl-: of Ind:a {RBI}

B) . Iuternatmnal Manet.ar}r Fumi {IME o . L
\.—iﬂﬂ"wﬂrldﬂm T, -
{m In.t.ernatmnal Ba.nk fnr Rurai Dmre]u::lpm r-_-nt {TBRD}

woe-

mmrrgl.nrr a;m;;@ Gﬁ#‘lm mg.s @mmm aumIiyg n_mﬁmaﬁuq ﬁl..r_._-x {MGNREGA) E.m%ﬂm
: Lﬂsuﬂuﬁu Qurr@uumﬂg 3 [T ey agﬂaﬂﬁﬂ u.|rrn‘.> . .

RV @pﬁm rﬁaﬂm suwﬂ {IiBI}
(B) _. usim'rrn'_@ gt ;Hﬁu.laal.b.ﬂMF] _
(C) - oag mmﬂ {"r‘l'orld Bank‘}

' _{ﬂ} unﬂTm_[B Lars a.-nrrrr#l mm.ﬁ {IERD}

© 145, Which of b].:ie.[u]lavi'ing mPaﬁéa acquired Myntra, an Indian e-commerce firm?

unr"' F]ipkarb =

(B Fnuehmk
(C) Amazon .
@) . Google

o

' EEHB!TI_EIIDEHW s - aummuq e*mmﬂs&pmmnﬂw wsimen @;,ﬂurrmm Gmg m'-ﬂlﬁﬁlil'"

3|ﬂ @mmﬁmg mwu{@l;ﬂugﬂ e
fﬁ:l' :rﬁlcﬂusrrm_ "
';ﬁn Guenija

[CJ _ diGusndr. -

@ %w



146. At which pla-::e the world's Exucmc Mutudc R.ehpareh Centra is ]ﬂf:al;ed and which
. organisation developed this centre? - o

(A)  Kashmir, ISRO
(B  Shimla, IISc
(C)  Ooty, DRDO

. \ﬂ{ Changla, DRDO.

eadlGaly Bsanh o wnore L gHd o der Somisd mulnb ahigaeg? Sig aps el
Elmaoul g ?

(4)  aneigiba, ISRO
(B)  Bibas, 1S
{C) . smig. DRDO

(I sher. DRDO

150. Match the following mt‘armaunnﬂ relating t.u agﬂeulture and give your answer usmg the .

codes :
{a} Amber Box 1. Ageregate measure of domestic suppaort
(b} Blue Box : 2. Direct payment under production miting prog‘rﬁm me
(g} Green Box 3. Govt. assistance and. direct payment to pm:lueers like
: . safety nets etes -
(a) (k) )
AT 1 2 3
B ‘1 ) ‘2
{C) 3 2 1
T3 1 2
Cevammainans Bgm_iyenw Epdsan_ cilupiisaa giiliBsamens Qaran( Gu rr@gag,m :
(a)  =rdE0 Guil. 1. BB (G el e Qo g8 wdoSH
B fed Quis 2. apusd Preanu Sl g Spren Cnis Qegubgiens
() = wéasl@uis 3 UIT@E.HIJI;] senarwth  Curdrp 2 pugdunettsEsssen

=ipélen 2 gefl oo Gprg & Beguggens

(a)  (b) (c)
(A) 1 2 3
B) 1 3 2
{© 3 2 1 :
Dy 3 1 2



153 Chrenn-lumcally arrange ‘the fu]lcrwmg eeonomists based on th«eu atud.:.r on rural poor in
. .Inl:ha . . Lo

.I.' ' Plaﬁning Chr_n.n;iss.iq_n expe:rt gn:mp. ;
11 » Mantek sﬁ.gﬁ Aidualis

m. _.‘:"...I{._:B;tfa;dhén |

v ..\?-_M.Ti_landekar R LR R R
(&) - LIV, I, IT

f;sﬁ . .1==1i1, _nr; i

| u;;r m, JI,.._IE",I

o IWIuLII -

: Q;s@u ﬁ;rrru:uqm qmpma i L;p;ﬂ e;j,um-l,mﬁ igmrrgqm Qurr@nrrrr,srru a[ﬂ@nﬁmm amuuuu;.
"mﬂmwu@mﬁ N . . .

L g.'_._a.g@ﬂm;é@ﬁ@@ 3

WL
r

- Il onen@ & Ak a@mmﬂmn
JII a;_mu;@ - L
IV, ;‘ﬁ.'«'.crli}.ﬁsﬁﬁ'Lar'r. |
:{m LNIHH -
m; 1._-111; s
© .Ill,_lI.,_r;u’, 1

@ W, OLILYL



Fupulatiun st;ibi]jzatiun can he aclﬁ;ved by :
i_ _ Care. n‘f infant manaIiLy.

. Safe motherhood

{.Il. ].{e.duction of malnutrition

. [V, Increasing-contraception
(4) Tand IV
B MandII

.i'lf.']' I, 111 and IV

N@I~ LI, Tland IV

DT {Hﬁrram: el l]_m?'ﬂsnw. Tﬂm—mﬁm@ G_ﬁmmynmqqau
L fs@p0Sa sevend
I ungsrone sris
.[I]. ﬂsgmsﬁldﬁﬁmu g,mg;;g.,sdj
f?. | EEEgemLsn u'wﬁﬁﬁu{éﬁﬁd}
(A} .ll.l.n[i;umuh v
: (B) 1T whmpie I
(Ch III-. .III g mie TV
©) - LIL 11 whgus TV
The outhnes of second five year plan was made by

B.N. Gadgil By V.K.RYV. Rao
J#’ P.C. Mahalanobm | (D) CN.Vakil

@rem_mb ghsrarHs 8L ghd s Lq_fsailllu-f_l_ WER (penm Wi & gpeurr s Lg?
(A)  B.N. srcdla . (B} VERV greu
(Cy P.C. nsprGsmian (I  C.N, awssa



14. The NDC decided o launch a programme to incentive the states to increase the share to
investment in agriculture in l;hmr state plans Thia pmgrmme is called as

W REVY ®) PMGY
©  CDB (@ MIDH

NDC fAgeuend, CGeuamrenmweany - smsslupgsapd, Gammamanovay sxflsore psdlen
grem_eyLb innBlaksaild G Sl TbS5EE, Spet WUk

(Ay REVY _ | (B) PMGY

(Cy CDB (Dy MIDH

16.  In India the level of consumer expenditure is desirable which secure a diet adaptation at
least in terms of calories is said by '

{A) Dr Minhas ' (B) P.K. Bardhan
@ Dandekar and Rath (D) VERV:Raoand Asok Mitra-

Eipfureilas merCeamilen ﬁ‘ﬁ]@tﬂugﬁ&& Qmm.nma 'ahE SHere) oewrellan :.pqmm STHUILEDE
urgsriy QanBaflpg arap ambhusi _
(4) Dr Lﬂs'nm}rrsiu_. . _ (B} P.K. uigmes

(C) LenGsn wpmd grg : Dy VKRV, grdh wimb eiGers Sgrm

16.  Recently CSO has changed the base vear for National income estimates, The new base year
is
(A) 1993 — 1994 ' : (B) 1994 - 1995
M 1999 - 2000 (D) 2004 — 2005

Caflu aumonend sarsdOLBashd Sy liuaL spenE CSO wrpflumesdmésb i ®
(A)  1993-1994 B) 19941995
(C) 1999-2000 . (@) 2004 -2005



18. The Nati--::-nal Afforestation and Eco-Development Board was set up in India on ,
(A)  August 1990 . (B) August199]
W Angust 1902 ' " (D) August1993

BiSuneds Coflu wrPas sl wipmib Qe apartCapp arflub Sneiul g
(&) & 1990 . (B ayseu(@ 1991
©  soe@ 1992 A D) snE 1993

26.  The Central Government scheme that ensures a pucca huuaelm every urban poor hmu;ahuld .
by 2022 is ' ' -

M Pradhan Mantri Awas Ypjana
(B) Smart City Missicn
" (©) Pradhan Mantri Fasal Bima Yojana
(D)  Pradhan Mantri Jan Aushadhi Yojana

2002- e paTHIEAD aurplh FapsEnic By S0 CarBésh wEHU siwdn Al ag?
(8)  Sopio wsHAder srcunsd Gurggann | o
(B)  owwomil Sl iflayd -

(C) . dysw mfnﬁﬁli-isk amFen Lo Gan:Eﬁm‘r

D) Aosw wpAfbiar g maeysl Curgenr

66.  The famous book, Principles of Public Finance” was published in the year
{A) 1920 (B) 1921
" 1922 (D) 1923

ysip upp. “duing Bdulier Cem un@ s erénp prd easefu@ L TR
(A) 1920 (B) 1921
() 1922 (D) 1923



67.  Family planning programme is implemented by which Government of India?
{A)  Central Government with full financial assistanee of WHO
(B}  Central Government with partial finance assistance of WHO
(C)  State Government with full financial assistance of WHO

y State Government with full financial assistance of Central Government

@rfuwalier arps sigs GEHU pad Hrimg HoLp@pIUDSSEDE?
Ay e@vw sigs - WHO-an apeg Hiflugelluy e

(B)  emow syps— WHO-a und) Hlfla el en

(C}y  wnble oys, WHO-dé apup B8 o sefluian

(D) wrfle sys, awu sirdean apop HEA o el

68. Govt. has recently allowed 100% FDI in many strategic sectors. Which of the following
sectors has not been opened up?

| .jﬂ' Space

(B) Refinery
{C} e-Commerce
(D) Power

Endu ays 100 sgaildls devafipn’ { oped e udGagy gampacilc smsgailggerag. s abs

Flenn 2iSle FHULsbldae
(A} ellanQauef
(B)  spdafioy

(C) e-suamflah
(D) =58



85.  The book "Public finance” was written by .
(A) JM. Keynes

B J&8 Ml - '
W AC. Pigou | ¥
() AR Prest

Qumsamgrysda “Qurg A" erém Ere WIrgeD eTpSULICL g7

(A)  Ggenb. Ednaiv
(B) G fd
C) 895 - -

(D) gy Speol

16.  Which bank was the first to introduce ATMs to the world and when?
(A) Standard Chartered Bank, 1978
- (B} _ Bank of America, 1968
Citibank, 1970
(D) Hongkong Bank, 1972

T8 cuif) apse apsedled .&TM - o adlis a@qp&uu@g@my? erudumips ?
(A)  Standard Chartered Bank, 1978

(B) Bank of America, 1968

(C) Citibank, 1970

(D) Hongkong Bank, 1972

17.. The data structure required to evaluate a postfix expression is
(A)  Queue : W Stack _
(Cy  Array (D) Linked list

1Sl ) Camaanden wHlSenan e 2 Fayd ey Sienaliy
(&) sy ) (B) =04és
(C) CGsrenen - . (D) Genewmiiy Uiy



46.  “Bad money drives out Good money” was stated by

(A)

GQueen Elizabeth
Alfred Marshall

“peded Leid E@al L LeRTESlanTe sﬁlurl;l_ﬂu@ﬁmgl" erenp Fbm wirgrd Gerdelinl L g?

@
(B
(©)
(D)

crefl#Gliug pmemfl

@ ETC Wwiraged
st gmoey dreglb

Cggmren pmSensen

47.  Which of the following is a direct tax?

(A)
(C)

Wealth Tax o (B)

Income Tax

Gift Tax : _ wﬂﬂtheabwe

Egg;wﬁn_mﬁ:guﬁ arhg euflwreng Comg euflurss smsOuBEDgt?

(A).

(C)

Qerss aifl . (B)
gren eufl : ' (D)

” The Planning Commission was set upi in

(A)

o 1950 - iy

1947 ®

AU L SE W o heurssULL L e
(A) 1947 : (B)
© 1950 _. D)

aumomen aufl

Gmﬁ:ﬂs;mhm BiSENGHHILD

1948
1951

1948

1951
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16.

MNational Income Estimation, in India, is prepared by
{A) . Planning Commission
{B) Reserve Bank of India
{C) Central Finance Ministry
" Central Statistical Organisation

BiSureile wrmmé Caélw augorend seaad (o ap gunilssiuBang?
(A) - A& @ ' |
B)  @iHu feic aid

(C)  wiHw 4 sienniesbd .
D) wsdw yarafulwe oy

L]

|https://t.me/tnpsciree|

The programme associated with ‘Food for Work’ is
(A)  Antyodaya Anna Yojana -

(B) Annapurna Scheme

(C) Bave grain campaign .

‘M Sampogrna Gramin Rozgar Yojana

32

‘e ameipsrs Gauena'-wjL_an Agm_ieLw S Lib
(A psCumensun senar Gu mgpea

(B)  esiememyivemt S b '

(C)  prefiw urgsriuy Guésn

(D) sbyierT Agmden Crmggat Cwngenr

Which of the following is not the other name for New Agricultural Strategy?
(4  Modern Agricultural Strategy '
(B) Séed-Ferﬁﬁieeratar Technology

(C)  Green Revolution

M Ni_!w Revolution -

yfhw Geuemmairens [ LgHDE wg;@uhgns \Hetreu (Heuema D e ergl @a‘m?. '

(A pelen Cauatnetmenin HL-Ub

(B) efleng-omb-geimedtT Rl uib
(C)  vaewl Y A '

M yfuygl A



Which of the following scheme aims at providing dwelling units free of cost to the poor
families of Scheduled Castes and Scheduled Tribes?

(A} Indira Awaa Yojana

(B)  Antyodaya Anna Yojana

(C)  Gram Sadak Yojana _
y Ambedkar Awas Yojana

Spssam. S wsalla), ag apeowild arfb uf Smmdll wisEEsn, UphGEeHEGLD
Bwws disdr safisflenpg ?

(A)  @pdor swuned Gungent

B)  psGungwr e Cumgem

(€)  &grd sk Cumggenn

(D) @Cupst seuned Gumgenr

The Uruguajr Round Agreement was asa_ﬁciatéd with the setting up of
(A) WHO G WTO
(C) WIPO _?D} World Bank

ﬂ-@@@m Wi guubspdeD @bs fipaeh CamppalésincLsheh Apm i e.dn®
(A) WHO _ (B) WTO
(C) WIPO ) D cesamnd

In Indis, the procesds of disinvestment hap boen put ikbo consclidated Band which is nsed
for

W Transport development and social sector schemes
(B)  Poverty alleviation
(C) - Employment generation
D) quting budget deficit

@pSurele, gpaser Aaafily yar gab Sl &Gt Lismsns, ﬁ@mﬂmpp Béufle {hrrml.rl_@
=g Spssanaupdihe LwarupisiuBdang

(A)  Curigaurbg awniréfis whgb saps gy S b

B) agewgPidpe '

(C) Caeeanibau sfsflliuspe

D)  PHO uppréBEpeU SHQsIL



37.

39.

T2.

The rate of saving is low in India for the following reason

I Low per capita Income | _

II.  Poor performance and less contribution of public sector
III.  Poor contribution of Household sector |

IV.  Savings potential of the rural sector not tapped fully

111 IV are correct . (B) T, 1l and IiI are correct
(C) 1,11, IIl and IV are correct (D) I IIandIV are correct

Sipéscn_ sryamhisamd @i Hurefiar Colliy AAsb Gapans o deng
I. GNP ST au(EHLTEmb ' )

I Quegis seopullen Gorswman Gau;ld.rungimﬂmfn LI,

I gBbusgepda CasiliGan Gaphs Uk

IV.  Agmol q:mrimnﬂﬁ GalllysSmen appenwowns SplL_reno
(A L II wpgud IV & . B .(B) LI Lﬂ!'}:ﬁl.b &M
(C)  LII I wpgb IV & (Dy L IIL IV &f

A money bill can originate
(A In either house of parliament

@ _Only in the Lok Sabha
(C)  Only in the Rajya Sabha
(D) Only in a joint sitting of the two houses

LT mﬁm,s}r Camenpeig

(A urrmEnwem B Hmausafic

(BY wéasetanauulidh i Gub

(Cy wrflokserenauie wi(Hid

D)  Gren(d swasatien s B Bwiaflen Gumg (b

Which among the following goods is exempted from G.S..?
(A) Milk powder _ ' v!‘r " Newspapers
{C) Fertilizers (D) Tea

Epaair_cupfie ThE sradpe #715@ Hpb Creavau e efloég gﬂﬂ&sﬂun'_@ﬁﬂ?

{A) uréd sy Co= (B) Gridsgnerser
© emb | O Cpdes



71.  What is the meaning of a stripe in our National Currency symbol 27

128,

VW Equality . (B) - Faith
- (C)  Truth *{D) Chivalry
pib Gadur premugBen oo wmergBen Gan_Gu aimb Gam i ha Summer wrg T7.
()  sopgan ' (B)  pisams - .
(©)  odmaw . . D) efmb
Match the following : . .
(a) Committee on Financial Sector Reforms 1. 5.1 Tendulkar
(b) Committee on Financial Inclusion 2 Raghuram Rajan
(¢) Direct Taxes Enquiry Committee 3. C.Rangarajan
{d) Methodology for Estimation of Poverty 4,  Wanchoo
. (a) (b) (c) (d) .
(A) - -1 3 2 4
7 2 3 4 1
iCy 3 4 1 2
D 4 2 3 1
& pssam_aperpl QUTTRSES :
(a) Ptz FHnEss W 1. 8D. Quan@ast
(b) Pf e éss @ 2. p@ImD prggen
(€) Corg eufisa eflsrgenens sp 8. C. rlusyrgen
(d) eumew wHOSLE e 4. aurgse
(a) (b) (c) (d)
A 1 3 2 4
®) 2 3 4 1
)y 3 4 1 2
D) 4 2 3 1
'i‘her. Gross Capital Formation (GCF) in agriculture and allied sectors of India during

129

201011 was

(A)  9.7% of GDP

(B) 13.5% of GDP

(€)  16.1% of GDP .
V!ﬂ' 20.1% of GDP, 18.5% of GDP

@jﬁﬁmrrﬂi-'ld:- 2010-11-1b gyamgd Gauerman wHpb srihs genpseafh Hwrgs apoga Dy ésiild
=Bjerey . ’

(A)  Qurgs eemmn @ epussda 9.7%

(B) Gurgsedprn®epufdsd 135%

(©) Gurssesmm @ epusHds 1671%

(D) Qurss e epr @ e pussdea 20.1%, 18.5%



130.

‘Which of the following is nnt a method of calculatmg Nntmnal Income?

(A) Income method ‘ @!’ Saving method
(C) Expenditure method _ (D) Product method

BT aumuragms s sl @0 AP pEiEHET Gapns SldaumeastubpieT o G @mqﬂ
(A) aumworan e _ . {B) . Mﬁq (penm
(C) Qsosygpenp ' D) 2 pLisd penp

132. The second stage of demographic transition is characterised by

- 133.

(A)  High birth rate and high death rate

B High birth rate and falling death rate
(Cy  Low birth rate and low death rate

(D)  Low birth rate and high death rate

wisdrGgnens wrppiHen Gram_raug Peve; Epéasn s B . up?
- sifls Apiil eizoph, sifs @pliy dSsaph |

(B)  ofls Qply elizapid, Geopuyh Bpiiy eSpapid

©  @@pip IpLy digepid, Gepis Gooy epapd

@)  eapis oL Ssapd, SiBs BLL Sad

What are the components of Gross Domestic Capital formation?
(A)  Gross domestic savings and government borrowings

{B) Gross domestic savings and foreign institutional investment
(C) Gross domestic savings and foreign direct investment

y Gross domestic savings and capital inflows and gross domestic ﬁxed capital formatmn
and change in stock

Qurgs e aBm_ [ PSR s Her @un‘ﬁ@ S EET WTena?

(A)  Qursg e dnpr i Cadliysear wHpb .aql;rélm E_angean

(B) - Qurgg o drpr G Cofliisd wppb Hubpn@ Speuen .ry);ﬂﬁ@sm

(C)  Qurss eampr( Coliiyed whgIb HwOBT.G G574 s

D) Qurgs eapm  Galiysdar wHpbd EpOFen 2 eTalaEE WLHHID t;lmnrg;f, o aTErL(p
Blencwran apapat el whpb GO wrbmsd



195. Consider the following about the characteristics nf a profession ; Choose ﬂw correct code.
1. Knowledge . : ' '
II. . Organization
III.  Public good :
IV. Dishonesty . _ .
L II and IIT only . (B) IV only
(C) TandIVonly (D) Il and IV only

Qpmfdidr Gaamd LHBL Fdraumid sapaps souefl : sfiuren spenng CETBASH :
I iy _
I smarsgsd
Il  Queg pedn

IV, aﬂlum.ulh

(A) L IL HI o @i L ® Voige
€ LIVuligw _ (D) I, IV @i
9 | | |
13.  In which year the Reserve Bank of India was established?
. () 1934 | | B) 1933
N 1935 - (D) 1937

B e @B firid kil T bEEROLL &7

&) 1984 | C ® 1933 |
© 18 @ 1987 - ;
15.  National Income in India is estimated by
(0 Planning Commission (B Finance Commiesion

(C) Indian Statistical Institute W@ Central Statistical Organisation

@gﬂunﬁlﬁ: B (R cumponengens Samadl S5 i1 e erg?
(A) Sl sy S B BiE sup |
(© @ yerefufiue Hpeend (D) wpfu ydrafubing el



79.

132,

The President of India may resign by addressing letter of resignation to
(A) Speaker of Lok Sabha '
(B)  Chief Justice of India
(C)  Chief Election Commissioner of India
\J”" Vice Precident of India

Ehdhw gq.u.u;rlﬁmmr'r.yh grgfemon &g ghens wirfiib puusel &s GauamBib?
{A) m&am;a':m FUNMEMUSIT

B)  GBsu gawan BEus

© @bfu seean Coigs siPen

D) QAL @y Lrs s saaa

The first stage of the strategy related to Intensive Agricultural District Programme was
started in the year

(A)  1951-52 . BT 1960-61
(C) 1965-66 ' (D) 1990-91
Befly wmeu L Geermaier S ib Asmruren apsa vigHlena Glbs e geukisiul g
(A) 1951-52 (B) 1960-61
(C) 1965-66 - (D) 1990-91

40.  What is NIPFP?

w Mational Institute of Public Finance and Policy
(B) National Investment of Public Finance and Policy
(C) National Insurance of Public Finance and Policy
(I} Wational Industrial Public Finance and Policy
NIPFP - erenugy -

(A) Csfw Qung Pls Qandrens Flpeueri

(B) Gzéw opsdi( Qurg P& Asrdies Hmeemnb
(C) Gsfw smuSi® Aurg HHE Qsrdrens Bneueni
(D) Csflu Gsmfe Quns HHs Qserens Hpeen



41. " Under the following, which one is not the method of meaning National Income?

(A)
(B)

© |
J# Circular flow of Income method

Income method
Expenditure method
Product method

Epssar_appar v Cau eumeuren semddlH b openp HenLwmg?

85 Matech List [ with iI correctly and select the correct choice :

Cal R R

Agriculture

ListTI

Father of India’s Green Revolution
Big push
HDI

aufiens 1 2_Lén euflene Jlenauls Qurmgd sflunen sllenlenwis srams :

(A eumeumis gpenp
(B) GQowsdllar gpenp
©)  epusfapen
D) shp @LLD aigreumis apenp
o
List1
(@) P.N. Rosentin Rodan
(b) M.S. Swaminathan
{c) Disguised unemplujrment
@ UNDP
(a) (b) (c) (d)
@ 1 2 3 4
@2 1 4 3
© 3 4 2 1
D)y 4 3 1 -2
~auiflens 1
(a) P.N. Gyresemger Gom_mesr
(b) M.S. seumflprgen '
C(©  wepeps Caummuidnamo
(@ UNDP
(a) ® @ (@
A) 1 2 3 4
(B) 2 1 4 3
{C) 3 4 2 1
(D) 4 3 1 2

ko=

=W

cuflens 11
@bHuneilar usemot g Aulen speng
Quil & B e Camud

. wailg apanGenhp (5951.113 L (B ereder

GeuammemTenLn
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44.

The Im:han rupee symbol T was adnpted by Indian Gnvemment in the year

(A) 2006 B \551’2010

(Cy 2011 @ 2007

@pHu mumiien @dsrs T-g GFHL irs THHEQsTERTL UL LD

(A) 2006 (B) 2010
(C) 2011 ' ' @) 2007
_An entrepreneur is like

(A)  acrow o | B) _a duck

(C} apeacock _ M an eagle

e AemfleapaarCeani eranueui wWimeny Gume ¢ drermir?

(A) @ smsb ' : ) (B) gmeunis
€ souwds - D) emsws

How, many people does each ration shop serve?

%’ 2000 (B) 2500

(C) 3000 ' D) 3500

garGaurm flurw sflenad S areise oy WESEHES e padlng?
A) ° 2000 L (B) 2500
(C) 3000 (D) 3500

46. . What was the fund limit of a small scale industry in the tenth five year plan?

75 lakhs ' i (B) 100 lakhs
W 50 crores (D) 75 crores

ugsmbd phsran® AL Ay Aamd fpeuentsaten Gl sere eremar?
(A) 75 alsb - (B) 100 DJL'...E-LE
(C) 50 Gamy. (D) 75 Camy.



83.

94.

Theory that explains the location of industry
Weber's Theory

(B) Chnstaller Theory
A{C) Vonthunan Theory

{_D) Malthus Theory

"Asmilas sewell. Carlumr@”

(&) Qeuur Camiump

B) ddlevmeoi Camun@

(C) aurangrenen Cam_um(
. ()  wrdsead Gartum@

The first census of India was taken in the year

(A) 1870 - - 1872

(Ch 1874 ' (D) 1881
@iHuineliar apganapglid wisd Agros mﬁﬂg@ﬂq BL G 065

(A) 1870 - (B) 1872

(Cy 1874 ' (D) 1881

ar

In which Agricultural crop producticn does India S-tﬂl;ld first in the world?
(A)  Rice 7 Groundnts

(C) Tobacco _ {D) Sugar

g Gauamanends LG e BTG AP ol s ALEHG Pidng?
(A}  =fd . . (B) Cars_enea

(C)  ymalena ' . (D)  sreseny
Coca—Colaisa )

(A) public gector (B) private sector

w multinational corporation - (D) limited .mmpi'ln}r

GanaGar — Gamar eremug L
(A) - Qurg Hmeuend (B) gaflwmi fipeuenis

(C)  uenenri(j G5 spabd _ . D) asnuepssiul L snbuef

AAOGS/T’
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. 45.

46.

The population density of India is . _
(A)  357.8/km? ' (B) 345.7/km*
.ﬂﬂ_ 364.9/km? - D) 374.9/km?
- Rpdurdllén wasar Agrens miirgd
(A)  357.8/km® (B) 345.7/km?
(C)  364.9&m* (D) 374.9%km?*
Bilat-.eral trade means
trade between two countries
(B) trade between two or three countries
(C) trade between two or four countres
(D) trade between many countries
BmETUIL euT§SELD eTenpred
(;ﬂk} Bl BTHsEnEE B Cu o.dret afS580
(B) @rend g apap FrHsEEsE @ G o @eT aui§gsn .
€) @Grend soag srad BrHsErES e Gu e aisssh
D) ue pr@sEEss G Cu e drer uTgEsD ) '
A
Jawahar Gram Samridhi Yojana is a programme to e]imi_na_te

(A)  production _ (B) population
(C) unemployment , W]::rver'ty
geugit ymo sbfigd Gu.llrgwnr.srﬁir.;u 1Lt ergenen maﬁm?
(A) purfloy ' (B) wéser CQgnans

{C) Caumadldaemo D) emeno



Which Five year plan aimed at ﬁnprwing the quality of life of the common man?
(A) ffth five year plan

(B) sixth five year plan

(C) seventh five year plan

W eighth five year plan

el gaficn umpims S COBLOEHVE THE RESTIOS SIS Gprbsb 2Eb?
@) mbsraig mesTE® S

B)  goragy ghsran® Hb

©  agrag s S

(D) el rmeug mbsran(d Slb

Which is the backbone of the Indian economy?
{A) marke.t _ mEﬁcultu;e
(C) service . (D) industry

@pdu QurmemgsrysHen aps@sgibL erg?
@&  spes - (B) Geuermeimenin
(C) Creoau (D) Gamfiperens

Doctors, Teachers, Bank staff and Transport workers are comes l.inder
m- service sector (B) primary sector

(C)  industrial sector ' (I} agriculture sector

wmsgaiad, ffuisdr, il emfuisdr, Curé@arss Osmforasd eACUNT abs
siopulld Ceipseuiadr '

@ Cooagep ®) wmpa@wgap

(©) Gpmfle geop ' . : (D) efleusmu gl



100. Queens proclamation has been called the Magna Carta of the Indian people. ﬁmnrmng to
this which one is not correct?

(A) f:hacliumed any extension of l::e:rrii:.t:»r:',t
(B)  promised religious toleration
(C) guamnt&ed the rights of Indian princes

it put not an end to the East India Uampany’a rule

Curpélden ofisens @ wasatien o faswn FrEanD v;rsrrg] .;lm@m.lu@ﬂmg Glsenug. TESTES
Seummeng)? .

(&)  yfw ugdlse GeemssluL LTLLAS

(B) suw sdluygganmw Werupplu@b

(© @pSu sieisaien o Aewsdr o EEILED

D) @b cuenlas Ggelan o g eyde ardame

17. .Métch the following :

List I List IT

(a) Green revolution 1. Crops

(b) White revolution 2. Poultry

(¢} Yellow revolution 3.  Fruits

(d) Pink revolution 4. Dairy forming
@ ® © @

(A 1 2 3 4

By 2 3 1 4

{C) 1 4 - 2 3

.ﬂf' 1 4 3 2

QurmEEs
u g usc U ig gy IT

(a) usmwyrc 1.  Ceuermeir LuGrsear

(b) Qeuameno Ly A 2. Gsmf aueriiy

© wepse Uyl 3. seflser

(d) @Eemerdleuiny qm:Jl 4 uré Liegrenentd (@ Hirfied
(a) (b) (c) _ (d)

A 1 2 3 4

®) 2 3 1 4

© 1 4 2 3

D) 1 4 3 2



28. .Which policy envisages rapid industrialization with modernization for attaining rapid -

29.

30.

econoggic growth of GDP? ’ o ' ' R
M New Economic Policy -

(B) New Industrial Policy
(C)  New Agriculture Policy
(D)  Foreign Policy

sifipeian AgmBdawuiengd ppan Qurss Csflu o pusd, Gpdu Qurmemgmyw eueariédiuem

aulfl suens Aelg Qancrans

(A ydw Qurmerngry Qerarens
(B) - yhw Gsmip Garedrens

(C) ydw Cavenreimennd anﬁw-& .

(D) - s prl (s Q&.rra“rm&,

The level of malnutrition in all expendit.ura groups was higher in the
(A) Hills areas
{B) Rural areas

(T Semi- urhan. areas

M Urban areas

ST IS @Eﬂiaﬁ]mllﬂlﬂﬁﬂmlﬁl_@ﬁ el Ldadg Gepun( sglsperar LS
(A) weneveum) LSS L

(B)  Sgmoiiym ugdsd

©  parses ey Lgdadr

(DY magl ugdsdr

“A plan of Economic development” was popularly known as
(A)  National plan ' (B) People's plan
ﬂ Bombay plan (D) Gandhian plan

“Aummenngry wparGarnnsdherer gm HLLID" gy erelauny SimpssluLL 7
@) CaAudiib B) wasefan A Lb
(©)  apumi Hiib , (D) - srpdulen L



79. “FIPB" refers to

(A} Foreign Investment Paper Board - '
(B} Foreign Investment Plastic Board

w Foreign Investment Promotion Board

- {D) Foreign Investment Pri.utiqg and E_‘mmution Board
“FIPB" ereémug)
A  spfluapsdl @ sréls arflun
B)  SpHu apsdl® Garrevgs Gurrﬂtr;ltt:g
©)  @pfu psd B sGedlmsd curfluib
@D  sippu @ﬁr_@ S5 LHDD SI9emES aurflub

80.  Per capita Income means

(A) National Income = Pupulation.
(B)  National Income — Population

m National Income + Population
(D) National Inmmre + Population
FOM QUREIML STERLIE)
(A) g.mi@ cu(mauml X insadt Hgrans
(B) pml(@eamaurl - wisd Hgres
(C) prieamaumnl + wisd Qgnens
D) pml{eme rru';l + e Gl;.rrm

103. . The chairman of the 14** Finance commission is -
(A)  C.Rangarajan
(B) dY.B. Chavan

@i"f Y.V. Reddy

Dy Vijay Kelhay

1-augy B8] gpetlen genaiaut luﬁ.":?
(ay C. mgngﬂ:& _

(B) Y.B. seunen

(C)  Y.V.driw

(D) &l Gesr



109. Which afe thé “Four factors of productions”?-
(&)  Rupee - Dollar - Ero- Yen
(B) . GNP .NNP - GDP - NDP
QQT'P Land - Labour - Capital - Organisation
;[D} Rﬁnt - Wage - Interfest - Profit

“Brég nousHE styaisd” aen -_—*'ngp-é;&rh-u@ng T ?
(A) @jur'ru'._n - TG = T - Qma:ﬂ

{B) GNP - NNF - GDP - N_DP

(C)  Mlebd - el - ppagemd - Asmfe qpeaGeurt

(I aurpbd - ssdlund - el - Geomub

167.  Who is the chair person of Niti Aayog'?
(A)  President
\ﬁﬁr Prime Minister
{C)  Vice President

(D) Supreme Court Judge. -

1l =y, Guams senave T w rm‘?

@) gemdug

(B)  Qgmo wndi

() FE| NG (Sl LTSS SO0EaUT

My eds o f4ud



168. TIn many countries ‘Poverty lines” are measured through the level of

By

\}4{{ Nutrition

(By Popul_ﬁtion '
() Per Capita Income _
.{D} * National Income

2CES gjn@miﬁdj ‘-‘é.ugi mm&ﬁﬁ@" Esenen é-ll.q.ﬂ.l..JEﬂl_l.l.l ma& Camam(f <o emefl LG ;I'ﬂgj
- .(A) . min,.@g@ L |
. (B) l.;m';&s'lr' ;Hﬂm;&ls

{©) ;ﬁﬂ;ﬁuf_rﬁﬁ@mrrmth. '

(D) B @ eumporend



177, Matech the following :

(ay Jawahar Gram Samriddhi Yojana _ 1.- 2000-2001
(by National Soﬁl Assistance Programme 2. .19‘93 -
{¢) Employment 553;11*&110& Scheme. S8 - 1999

(dy - Pradhanmantsi Gramodaya Yojana =7 4. 1595

_ (a) (b) © - ()

@ 3 R T

B 4 3 i 2
\y?f/ 3 4 2 o

o 2 5 1 4

Qg

(@) et dymo Gasemaamiiig S b L. 2000-2001
®  prp s 2568k B - 2. 1993

© '_&a..aiwmuq eofs Al s 1999

(d) .ﬁggs_ﬁuﬂm Cousmmaumiitis Sy b 4, 1995

@ ® © @

(A) 3 1 2 4
®: 4 3 1 2
© 3 4 21

)y 2 R § 4



109. National Small Industries Corporation (NSIC) was established in the year

(A) 1960
\}Bf' 1955
{C) 1960
D) 1965

Gaélu Ag@smfidsd spsn (NSIC) e marssiu L aumih

(A) 1950
(B) 1955
(C) 1960
(D) * 1965

110. The basic aim of economic planning in India is promoting
(A)  economic development
(B) increasing national income

\ﬁ/ economic growth

(D)  increasing employment oppnrtunities

BbBured Qunempny S LHGSe i Luan Cprésid
(A)  GQunenngmy epeénGenpoib

®  Cau apareau sfsfiso

(C)  Qummenmgmy susmisflenus Q&M@m@;ﬁéj

D)  Gaseariveu sfsfssd

159. The tobacco industry is one of the oldest industries of India; belongs to
Agro based and labour intensive
(B)  Agro based and capital intensive
(C)  Technology based and capital intensive
(D) (B) and (C} are correct

BiiAurelle upenuwrer Qemfldsefes gemrs SESUUED Yemsudene 'Ié'l,yrgﬂ BT TS
(A)  efleusmuib wipb e wply it s

(B)  efeusmunb WDmLD gpeSaD FTTESE

€ GsmBhmc L whmb apwgend sriss

M) (B) whmib(C) sfursmenay



160. Match the following with their established year and choose the correct option -

(a) Chittarangan locomotive works 1 1986
(b} - Rail coach factory 2. 1984
(¢)  Integral coach factory 3. ) 1947
(d) Rail wheel factory 4 1952

@ ®» © @ :

(A 2 3 1 4
\JRI"" 3 1 4 2
(© 3 4 1 2
o 2 1 4 3

Epaimib fipeveniisdr oig B peuiu_ e Qurmgs #flwren sflan_sows Coipls@ :

(@) Agsrersar n@aGul g Amfipsrens 1. 1986

(b)  puilér Qulig Agmflpemena 2 1984

© sopudeantsduly Csmipsreoe 3. 1947
4

(d)  pde sésg Apmbpemame 1952

(a) LN (1 (d)

A 2 3 1 4
(B) 3 1 4 2
{C) 3 4 1 2
@ 2 1 4 3



186. Match the following :

(a)
(b)
(ch

(d)

Initiatives for women empowerment

Rashiriva Mahila Kosh
Swadhar
Training and employment programme

for women .
Indira Mahila Yojna

@ © @

(A) 2 a3 1 4
V.o 4 2 1
(I | 2 4. 3

(. 4 1 3 P

dlemaumeansufenD QUT(HESS .

Cluarsan SyEargsglhssme @m@umﬂm

(a) oregyflu wadlor Camp

(b) =eugmt

(c) Guewmsgyesmen Ludih# whmb '

CGauenevsumiiiL) S b
(dy @pdrrwabler Gurgant
(a) (b) (<) (d)

(A) 2 3 1 4

®) 3 4 2 1

© 1 2 4 3

4 1 3 2

(D)

T

33.  The motto of the Twelfth Five-Year Plan is
y faster, sustainable and more inclusive growth

(B)
(€
D)

(A

(B -

(«
(D)

towards faster and more inclusive growth
growth with social justice and equity
employment generation with faster growth

el Qan_reaum mbsre B S ghlen @dlaGand

Purpose

Women in villages and slum work in
Angan — Wadi centers

Upgrade skills of poor and asset — less
women

Credit facilities to women

Address to the need of women in
difficult circumstances

@il aEGamanasar

o hsdneumy epwwiiiseid Leflfupb
Agniohisst LHHE EresuddmaEn
Fusraan

Wg wips Gerss Geans Auemsatdn
BlmenLomern e LU ThH GIE) .

© QuemsEnEsTE ELET ausHlsd

i amoner #hs0L faaasfid .
Guensalcan Caanausanar Lyi5d Asleug

EO3GT/17

Hifs. Bubm Poads whpb s e drer&8W auartis

Caumwrar whgb Suls e drer 8w eueisfaw Crrids Asdag
saps B8 whmb s 2 Lanin syefisdleany aueniis

Gouees aurliLeny siafdss Qeiyb g aarisd



11+

21,

23.

The Prime Minister who introduced the New economic policy in India was
(A) Charan Singh : {B) V.P.Singh
(© Dr. Manmohan Singh , ﬂ' P.V. Narasimha Rao

@sfureile ydw Auammerngm Qardensaw oiflpsiiLBEEu S0
(A) - sper i , ' (B)  ofilaq. A
()  Lréld weGorsen A (DY .68, mrdlisio gre

. The main causes of rural poverty in India?
L Unemployment and underemployment
II. Population pressures
II. Indian agriculture is marked by low productivity

- IV. A majority of people in rural areas do not have enough assets, espemally land.

Which of the statements given above is/are correct? .
LILIITand IV _[’B} L I and III
(C) IandIi : ) (D). IIand IV

EpHuwirellc: LymolinyD 6 paLOEETET STERTIEIHET _

L Geuamanllsranowyb Caraas@Gmped

I, wsaer Agnens spds0

Il @pflw Gaemamanouiess 2 HLFHls Apen s blas Gamey

IV, dgmolgp oésefled Auirpurenarauiast Gunfiw ey Qersg ssamariy Gum;ﬂ@ﬂaﬂd&m

CuGa GanBasuu_(Berer spmseiic g g srenau &
a I H, 111 whpe IV _ ®B) L 1T wpgubd 111
(©) Ioppell _ (D) NI opge IV

Choose the correct answer ; ;
Agricultural productivity can be measured in terms of

(A) Consumption of fertilizer (B) Irrigation facilities
4" Land and labour productivity (D) Mechanization
" s eflenL couw CpipleOosayd :

Ceuarmamenio 2 HuSHS Spaan SjarsfiGid apenm

(A) o rsflen pisiauenay ) B) prourser cusd

{C} Haw wpgb 2 mpudear e HLsHs Spar (D)  apdyowonge

Globally, Indian agriculture has been ranked first in the production of

(A) Rice A" Groundnut
(€)  Tobacco ' (D)} Cotton

o @8 serailé G Hus Gwmrrn‘:rgmm n_muwuﬂm @ﬁﬂi B gengL Glumgm Laullir

-{A} S (B] HeardzL_anen

(C) uesbleow ) D) umss



62.

68.

One of tﬁg planning schemes to create awareness among the consumers | . .
(A) Vanamahotsars ~ (B) . Operation 21
@ Trade fair | D) Rejarajan 1000

st GauniE i amie) THUGEEEmEL BLLEEAG Ga
(A)  cenosm el sanb . (B) Mg’ﬂy_é‘r 21
(C) anggssamsns (D) gragprggen 1000

The Kisan Credit Card scheme was introduced in

(&)  April 1998 A August 1998
(© March 2011 | @) April 2011

Hevren Gpg amir(H H b sifiopsiuBEsiu L e
(A)  gurd 1998 (B) scvl 1998
() omrE2011 (D) qurd 2011

69.  Which one of the following is not coming under ‘Income Method' in caleulating National

. Income?
{A) Wage and Salary (B) Income derived from self employment
(C) Interest ' $# Export of goods and services

& paseair_submer eumwomen apenpulla’ BTl R m@m‘rﬂrﬁsm,s sansLReudld s _Risnsg o7
(A} saell wipb sbuamb o : '
(B) sulsm@ed LyRGanfisn &I@-Lﬂﬂ'ﬂlﬁl

€ g ' .

D) gppod Qalwilis’ L sk ks wiy b L

Ihttps://t.me/tnpscfree)




117. Match the fallowing : .

(a) NSSO L.
(b) ~Decline in poverty to 26% 2.
() Deeline in poverty to 23.3% 3.
(d) Economicsurvey 4, '_

@ O @ @
(A 4 a 2 1
@ 1 4 .8 2
cy 1 . 2 3 4
Zz 3 1 4
GurEszs: .
{(8)  ereim.eTa Gra.a 1.
)  aupeno Sieme @ennbadeng-26% 2.
) aupeno sere| geppgereng-23.3% 3.
@ Qurmemgm giaiflsas 4
(a) {b) {c) d
4 4 3 2 1
By 1 4 3 2
{Cr: 1 . 2 3 4
Dy 2 3 1 4

118  Which of the following is correctly matched?

@)
®)

D)

- Bpssdm_appen B slurs Gh.m@ipiﬁi@d'rmy T .
2011 wisdr Opras sersQsGULLILL

(A}

According to 2011 census of [ndia .
most populous atate is

According to 2011 census of India
least populous state is

The Motto of the 2011 census is

According to 2011 census lzugheat proportion
of Urban population is in

- ayfs wisdt Qgrens wdrar wmla

(B}

2011 wésen Qgras sardQsGoyig

" @eapauren wsdr Agnens o srer wmElanh

(©C)

®)

2011 wésdr Qprens sewdsBrde QurdrQung

2011 wisdr Agres sewsdsGider ug
sifls wisdr Agres o drer pann

7 day reeall methodology
55 round

30 day recall methodology
2000-01 -

7 pran flenena) saita) apenp
55eug) EHp

30 prer Flenarey swiTay Gpen

2000-01 .

- Sikkim,

- up

—  Our census Our future

= Chennai

)

- e nCpan

- wm%ﬂﬂ%q

Blog agisrab
= Gsdmenen

- JGSTNT



119. Match the following :

(a) Red Revolution
(k) Pink Revolution
() Golden Revolution
(d Silver Revolution

@ ® ©

a1 2 3
B) 4 3 2

\}(’ 1 3 4
D) 2 a 1
Qummsgs :

{a) &soyynd

®)  Bengsfaoy yold

® grsoyps

(D Geusrafiis ypA
(8) ® @

@ 1 2 3

®) 4 3 2

© 1 3 4

o 2 3 1

Meat / Tomato

Eggs
Shrimp

Fruits / Apple

Beopsdl | phmnet

O

Uipriaer | gyludlar



120.  Total outlay for the 11% Five Year Plan period is
{A) Ra. 14,588,147 crore |

(B} Rs. 21,56,571 crore

W Rs. 36,44, 718 crore

Ra T4, 346,'?32 crove

11-ayb gppran() i srapf Gongs Gsaweil
(& Rs. 14,88,147 crore

(®) Rs. 21,56,571 crore

(C) Hs. 36,44,718 crore

(I Ra. 78,846,782 cmﬁ

121. Expand FERA and FEMA.
M Foreign Exchange Regulation Act

B) Foreign Exchange Reserve Act
(C)  Foreign Exchange Management Act

(D) Foreign Exchange Minimum Act

LGS FERA wpmih FEMA.
(A)  sybflu Geamaua @m'muumm Y
B)  spPu Qearaei cmadimpiy g
{C)  apiu Gm;u'qu'mﬂ Cuarammw efif

@ sipfu Qeanaed goppsu s g



185. Name the Furcpean who followed “Blue water policy” in India
(A)  Albuguerque
(BY Dupleix

{C) Robert Clive

mDeAlmeida

Bifurdia ‘Bais b Gandrens” Sener se_ia s gCr UG Qe BRlWIHs
@ seusis

B)  guiGer

{0 Boruin. Seere

M SHCLGIL T

186. 'hﬁan.ﬁmrty and Un-Britisﬁ Rule in India" was written by
(A) R.C.Dutt
() MG.Ranade .'
P~ Dadabhai Naun’:ﬁ .
D) GV dJoshi
| “@bHu aupeoyh, GEAUTED WopLpp < hde ey Aub” ey prae pdue
@ - RC gp |
{BY M.G. u(mﬁL
(C) prsmumi GperCongd |
D) GV.Cgref



191

(D)

1L

Al—

© 28,

Jandhan Plan is to provide

(A}  Toilet facility to all

(B}  Drinking water to all
uer" Bank Account to all .
(D}  Housing facility to all

gﬂ[&d‘r ﬂ'r_L_li:l.@m‘ Uerar® agiion’ g .

W sespseb sfium sl
(B) SenenaGaGh G b ausg

(C)

i

BIEnErE(Flk Ly cumidl sanéig

_ SieneteuSE L e { asd

Who was appointed as the first lﬁue—(!hmrman {:-f ITI Aayog?

(A)  Ashok Gulati Arvind Panagariya

(C) Subramanpivam Swamy (D} Y.V.Reddy

NITI gy Gunédle apge e sevwainns FulBaEsiiinl sur wri?
(A)  =Conk gard (BY  aniells unemrgNwm
(C) supwesflub saumd - @ YV.Anlg

Which Bank was called Imperial Bank?

- @ State Bank of India

(B)  Reserve Bank of India
(C) Bank of India
{D) Indian Bank

BbSRwd akid crﬁry SenpdHsILC L e wg? |
(A wu rrl:rga e eurad

(B)  Asich umis g0 BESor

€)  uris oyl @bSwr

O @spud ad



29.

7.

78,

Second Five Year Plan was. ﬁ:nrmnlabed based on the mndél.
# Mahalanobis ®) Rudra
©  Myrdal | @ AK Sen

Brein_noug mbsran® HLLos & mansduia
{C) B na | ' B (D) AK Qsar

'I'heGDPgrowthquﬂaﬁurtheﬁmmalyearEﬂlE -1618
(A 8.0% A 6%

O 7.2% : ' D) 7.9%

2015-16 b B e parar G bHureilen GDP warts B
(A 80% ®) 76%
() 7.2% : Dy 7.9%

The new agricultural technology was tried as a pilot project and was called as
(&) Integrated Rural Development Programme [IRDP] '
(B) Integrated District Development Programme [IDDF]
(C) Intensive Agricultural Development Programme [IADF]
S Intensive Agricultural District Programme [LADP]

: Lhﬂu.l eflausmu Asmfe pICUBME G @pm{?mrrq. ,ﬂn_l_mrr.s pnn_ﬂpmmu@pﬂmn WwhHpD sieufhfienen

TeLGUMTY StenpUIL?

(&)  smbdaends Symolip eueidd HLb
®)  pohdmans wraL i HCD
(C) s sfleusrtws cuemitédl Gt b

D apps eflQuaFmLl re L ﬁll_ub

Whuhplanhm:‘laetthemnactgoa]mthﬂﬁ;rmafmﬂvmg“romdnfnaterandmm'
inclusive growth™?
(A) 10%plan (B) 9*plan

" 11*plan - (@) 12%plan '.

Thp S LEED Dm_ﬂ'jsg aparCanpeuspsve sifwiran Gmnugmﬁ Piemrndgsen “sﬂm;rmrrm
cuamisflenu GEréd wppb obs e der sl weridd”

{A) 10-agy ﬁL.l_m (B) 9-augmfiim
€y 1ll-egdlio _ D  12-aug Alb



§98. - Chipko movement was laiinched for the protection of

(A) Wet lands o (B) Grasslands
_ M Forests ' (D0 Livestocks -

ALCsT Gussd Baupenp Lngistiughers Asm ksOulLg)
() sgoy Aok . B ydAaehasd
(C) sr{pssr . (D) srévpenL

117, Maich the following : -
ﬁuﬂm MName Bock/Journal Article

(a) Deaton, Angus 1. Adjusted Indian Poverty Estimates for 1999-2000
(b) Minhas and others 2. India: Poverty, Employment and Social Series |
(c)  World Bank 1989 3. Poverty in India, Dimensions and Trends

(d) Danﬁeka.r and Rath -4, Declining I.nciiienm of anertar.in 19808

(a) (b) {c) @
1 2 3 4
B 3 4 | 2 1

w1 4 2 3

@) 3 4 1 2
Gummdgs -

agduafier Quuit T/ EHOCLGaeher Gy
(@)  wCidr Bimc L A Qeinoduc e @ifu amens wHIIE 1999-2000

(b) erpome S.eren. I 2. @pfor: g, Ciumaaimitng whnb saps Semi

whpeuisdr
() zesand 1959 3. ﬂﬂumﬁﬁlﬂ sumsnw, ufioran wpgnb Curé@ad

(d) seEnGar whpb oo 4 GOPHE e/ epens fapapsdr 1980safa

(a) (b) o) G
A 1 2 3 1
® 3 4 2 1
© 1 4 2 3

@ 3 4 1 2
1.9

SARTAT .



118. The true measure of economic welfare is now called

(A)  Welfare Economics
(B) National Income
() Green GNP

o d Net Economic Welfare
Qunemgny pesrsean o aren e SiTel(i: Qunyg By S@psaiLGdDg
(A)  poQurpaud
(B) Cpfw aumomanid
(C)  uvssow GNP

(D) Bay Qurmmenrsny Beer

160. How many times haa the Indian Currency been demonetized so far?

(&) One
w‘ Three
(C) Two
D Four

@ipgurcie Ggaueny aggamar apenp we gy Biab Qedwio Hemang?

A qem
(B} apenp
© @

(I preng



161. Match the following :

(a) Justice Nanavathi and Shah commission

by Justice Bellure and
N. Srikrishna commission
{e) Rajinder S8achar commission
(d) Justice R.S. Pathak enquiry mmmitt.ge
(a) (b} ie) (d)
N 1 4 3 2
B 2 . 4 1 3
< 1 2 3 4
3 4 1 2
Aam g
(@) Bfugsh prammadl whpno cam S
(b)  Fhlugss Quatag wHmpo
N. o dipeivemrn Gup
c) rrilghbed sésn Sop
(d) Fwgsi B8, ugé clsnpeaner @y
W ® © @
Ay 1 4 3 z
By 2 4 1 3
cy 1 2 3 4
(D) 3 4 1 2

1.

Status of Muslim community

Foot for oil acam in Irag

Godhra communal Riots in 2002

Communal riots in Mumbai (1992)

@&ﬁ;mﬂu.uﬂsh Bhanen

Boradlé pen_Quin o erelhs,
SR GTIE) BAPER

Gangrr srAOCugenf] 2002

apiarUnds mem Gupp s Guipesf
(1992) :



167. In the field of agriculture, India is lagging behind
{A) Bauffer stock
{B) Fertiliser use
(Cy Cersal production

Of Pulses production

B @du prp, silasmugieo ahs ug s G sab 2 aag
(A Beorws sl

(B)  emdowdaond

Gy preflwdiser o posd

(D) wmiy ewensse e pugs

169, The term “sustainable development” first used by r,h;e
\d World conservation strategy
(B) Brundtland réport
(C)  World Commission on Environment

()  World development report

cuamb@ennn auanitéd sranp Lggms wpgaR psdld LuaLBEHILE
(A} ewsurgstiy ugh

B e Cadr’ siflses

(C)  sppé @pgibsner ook @op

(D) cosGubur.G sifldas

-
12, Who is called as the father of Modern Technology?
Nikola Tesla ' (B) Bill Gates
(C) Paul Andrew : (D) Charles Babbage

pefar QemBamlugfid phos creny 20 pEsliUue wrk?
(A)  PaGsrar Guever - (B} G CGals
(Cr v s B (D) swirasen GuCugy



1)

Who was the person behind White Revalution?
(A Menon E M Dr. Verghese Kurian

(0}  Swaminathan (D) T.K. Patel

Beuamanin Ly Hagm erfamomereul WrmT

(A Guoendn _ _ (B) wméLf. Qauifen 5fweh
{C) Frau LSl g e (I G o G

Match the following : ' -

Luxury Trains : Promoted by

{a) Palace on wheels "1. Indian Railways

(b} Golden Chariot ‘2, Rajasthan Government

(©) Decean Odyssey 3. Karnataka Government

{d} Roval Bajasthan 4. Hahamshtm Government

@ ® © @

(A 3 2 4 1

(B) 4 3 2 1
& 2 3 4 1

o 1 4 3 2

QAurmEgs:

Bty Epudidadt . GubuipgHuar

(@) Cuewes sy shioe 1. @ifu@rdata

(b) Candbise smflwm’ 2 Qrumeosdn S

(© QLésmdn gigd 3. sApILET ST

(d)  gmud prggevsTen 1. gpTTEYLIN NS

(A 3 2 4 1
(B). 4 3 2 1
(Cy 2 3 4 1
Dy 1 4 3 2

India recorded tl:ue highest growth rate of National Income durins;
(A) IFive Year Plan ' V Five Year Plan
{C) VI Five Year Plan (D) VIII Five Year Plan

Spsenggy HLE sroisofd abs S50 Cpfu amend aeriédl egh e siflsors
Qapss? . .

@) Ighgrenp i ® VgigranG Hlii

©  Vigpgran® S @) VI mapranG Siid

—— haTaFalo FE N |



31.  Match the following :

States Projects

{a) Tamil Nadu 1. Periyar

(b) Kerala 2. Kunda

{¢) Harvana 3. Damodar Valley

{d} West Bengal - 4. Bhakra-Nangal
: (@ () () (d)

.{ﬂ' 2 1 4 3

B 3 4 2 1

© 4 2 1 3

Doy 2 3 1 4

ﬂurrw

(a) gFopsIl 1 Qulwmi

() Csgenr 2. @b

©) - spfwrenr 3. grCwmgr Geusll
(d) Cupeg eusismend 4. LEIT-pRED

(a) (b) (© (@

Ay 2 1 4 3

By 3 1 2 1

c 4 2 1 3

Im 2 3 1 4

32, Dieguised unemployment implies
(A) gTechnological inefficiency
Zero marginal productivity of labour
{C) Full employment
{0}y Unemployment

 weopans Caimaaumil Seren merug
(A Qsmilp piu sESdaemn
B eapoureiseids ndfloa eapins Sos m_n,ﬂ@ﬁsd:

(C) . oppp Geusnadaumiiliy
D) Ceaee eumisSerens

83, The aim of Annapurna scheme is
M Providing food security for senior citizens
(B) Providing food security for children
{7y  Providing food security for women
(D) Providing food security for pregnant women

| EDTER T ﬂl...t._‘ﬁﬂﬁn Crrszid .

(A)  opbs BulobsigrsE 2 ey LngismiL] wymwdr
B)  EphnEs S 0600y LnSISITLIL D ouE

{C) QuersEmss eewmey LT Eroy Spefloog

D) smaunp duensEnss e UGG m@ﬂ@p.ﬁa



g4,

Bharat Nirman Programme aims

(AY  to provide educational facilities to rural people
V to provide basic amenities to rural people

{0}  toprovide employment opportunities to rural people
(D) to provide health facilities to rural people

unyg Miorer S ghen Grrssid

(A} dgre wEsenie saodl ausd Qi smag

By Hyrw wEEEESE SyOueL. susd Gnlg) smag

(C)  Eymo wasEpae Gavann sumbly susfl Galgy smag)
h))] @l:rrm.mé;a@i@ FETETT cusdl Aam QAanHiug

The per capita income in India in 1367—68 was first ascertained by
(A) M.G. Ranade (B) W. Hunter
{C) R.C. Dutt ' @ Dadabhai Naoroji

. @hdurebler 1867686 gafllpun aumuoremd bl apeedld syrmpgeut wirr?

(A NG pmenGi : (By W. gpen_iv
(Cy RC. gs Dy prgaumi GerGygd

33 - PRGSN

Which of the statements given below is/are the features of New Policy?
1. Reform in trade policy.

2, Reduction in fiscal deficit.

3. To promote Industrial development.

4 Exchange rate.
Mlandz - (B) 1,2and3
(C) Sand4 @ 2 3and4

& paam_csd et a5 s g P Qurgemsm ardransudn Qg iureng?
aedls QsnéTansany mrrjﬁﬁl GO HEED. .

BAC LppréGapa GEDEED.

Qpmfe: ganpenss QUmSGED

wrhgeisin

1 whpib 2 (B) 1,2 whmb3

3 wppb 4 @ 2,8 whye 4

BE 2w e



29,

31

" The main functions of NITI Aayog does not include
(A) monitoring and evaluation of programmea ‘and initiatives .
(B) developing rnechamsn:ﬂ to ﬁormulate eredible plans at nllage level
ﬁf ‘disbursal of ﬁmds to cae-ntral ministries and state governments .
~ {D) fostering co-operative federalism and designing strategic policy

B4 o Cuind—uGen ppddlu waflaeafla Hemen i mpp wemtt G b Quprg?

(A) AU Liiser ofgih wwpd semar sersTanésayn, nHSE Geia _

(B} _- J:bl.-IIIILIﬁlﬂlTﬂIT Slpmn ssemelilel £ [ s BUGLILIE WD m@;y;:mpadr st ndifl Ganiimed
AC)  wsSu senwsFERSET Do m_r;;l?_lm SipEspnEg, HE aphsd .

M = Hpey aiu'_l_m'_ﬁ I.II:I!]-}mIiI:I Qll‘.E;JmLDI_'Iq Wnu Ml elanaivens cuany suyll Gugs i

-

The term demographic dividend refers to
(A}  decline in population

‘Bf' increase in working class

(C)  decline in birth rate

(D)  decline in fertility rate

Hned LossdT gmens rayd Ugres s glsdog
AA)  wése damens m‘ﬂm

(B) . QgmBament curdsidlan Qgrams aﬁsﬁuu

(0 Ay il fgi @Gepey

M)  smssfoy aldso gemeay

The largest share of energy is consumed by _ )
{A)  Agriculture . (B) Rl_J.‘ral power supply
v  Urban power supply (D) Industry

s&8 [ g ped & HEons §imHD {aLGs;nmqu.D} ElSn(D eTETLE)
(A) Couermamens . {B) Agmooyn Lﬁlma'mm
(©) ", paiyp Hersngi o (D) Qamfsd



32,

33.

a4

The right to Education Act 2009, is not related to
()  primary education '
(B} quality of education
iy free eﬂucatiun
‘D‘f. higher education

sdefl o feawn s L ih (2009) eréingy Bpadn arsie GunmisoopeTs Bméen?
(A esmrou saed
(B)  mebell gmo
Sy @m:va‘ulﬁ aenet
DY ewisaed -

The Lorenz curve is a measure of
(4) poverty. _ V2T income inequalities
{C) inflation rate . - () tax structure

COTTEATETY Gl e @Gy E@ 2 ETEN STl 3|TES L FabT
(A) =g - (B} sumuorer swsganimeanin
(€ e eSizn (D)  auft clEpRsdm

The Chairman of the fourteenth Finance Commission in India
(A)  Dr. C. Rengarajan _ fB)‘ Shri. Vijay Kelkar
() Dr. AM. Kushro W7 Dr. Y.V. Reddy

LflaTrannTa gl @,l_ﬁ,ﬁlu il gpetien g.ma;:m:'r- _
(A) Dr. C. Qrisnmgen (B Shri. cigd Qadsei
(Cy Dr. AM. mesCGypr . (I Dr. Y.V. Gy .



35.

J6.

The planning'mmr;:l.issiun of India was changed as NITI AAYOG in —mM———,

{Ay  March, 2015
%  January, 2015
{Cy  December, 2015
(I April, 2015

@pQuneder B by — worgih cumests BIf Gund e
WompE L L ' -

(A} 1omié. 2015

(B}  menmaurl, 2015

(€} qmbuf, 2015

(DY gur, 2015

The LPG model of development was introduced in —————————— by the Finance Minister

v 1991, Dr. Manmohan Singh
(B) 1995, Shri, Pranab Muharji
{Cy 2000, Shri. P. Chidambaram
{2010, Shri. Yaswant Singa

FTTTEMLOLILOTE S 5D, anﬁmﬂwn&gﬁd}. L SOLILTES S (penD auaTiTEs o

sy eris e 2AOGUTEnsL FIA) sennder <speuirEarmas sillapsUuBEs UL g

(A) 1891, LosL g oarGuorsds fi
(B) 1995, By, Syawnis opsig]

(C) 2000, . P. Bgibumb

D) 2010, B, wegap Hensn



1i3. The human population is currently exhibiting
(A) logistic growth
‘(Bf exponential growth
{C} arithmetic growth

(D) zero growth

S88 wbsd Gsrens U s e Db Ferané s Glgy
@ R Cuids B e o

(B)  eblaneb@il eusiéd

(€)@ aeniidl |

(D) i suerirad

129. In an open economy, GDP is the sum of
w Consumption, gross investment, government spending and net exports
(B) Consumption, net investment, gcwémmem spending and net export
(C)  Consumption, gross investment, government spending and gross e::porta

fIY)  Wages, rent, interest, profit and -:léprqciatinn

am Epds dunmeamgrridn, Qungs e dTpml{H 2 pugfenu sarsdBn Cung), @ Q.mr-r&rmﬁl.ll_
Cau e wew '
(4)  msre. Gurss wEed, sirs Gewey wihpbd HEg THond
B)  mishey, Slap apped®, . Geaay whpi Hsr adgod

©  mstay, Qorgs wed . sive Qe wigd Gurss aﬁiﬂ@

(D} esfenivaen, aum_ens, auliy, Flerud whmb Esinorenh

130. The minimum support price.s are a means of supporting the '
_ fa.rme_rs . (BY consumers
(C) industries Z . (D) retailers

- EEDESILE e e Bramu apg aisslenmas eTers BhEEn?
(4)  elevsrulilser . ’ (B) mpsiGeumt
(C) Qempldasda ' _ (D) el puenemimatisar



131, Which one of the following is an md.tmct tax?
(A)  Income tax @ Service tax
{C) Corporation tax (D) Interest tax

& Qar@asiuGaerabbe e euflwreng wenpops sufiepenp gieb?

(&)  sumwren sulfl _ - B) Coomey aifl
(0 sl rarenio (smirdGyasn) auft M ey Beren aufi

133. The Indian Government gets ———ee—- percent of India’e total energy needs are met
through imports. - ) '
"H,'-' 30 pereent _ " (B} 40 percent

{C) 20 percent " (D) 35 percent

PpPurellan Qs Hpdld aggmen s5ez0 Hnd GpHu sz Boigod :yf-w Gupﬂmmm?
(A) 30 sgeligin (B) 40 Gﬁﬂﬂﬁw
(C) 20 sgelgd (D) 36 spelgid

112, Who was recently appointed as RBI governor after Rapuram Rajan?
(A) LG Patel

(B) C.Rangarajan
{C) D Subbarac
u,m’ Llrjit..R. Pate]
TEIMD MgEs @0 Sne fsta) el saiimprs sEogdd Bulssco et wriy
(A LG uncGud
_ B)  C. Boisprgen
(W D soumgme

D) eids R um Gl

118,  In which year child labour policy was passed?

1980
\,ﬁﬂff 1981
© 1985

(D) 1982

Cpfu gpiens gmflarsnt Qemimans FudaiL L e T

(A) 1980
(B) 1987
(C) 1985

(D) 1982



119. National income of a country can be caleulated by

{A) 2 methods
B 3 methods
(C) 4 methods
(D) 5 methods

B sugwrangens serifRob e floparpsdr

&) 2 pepsa
B) 3 peopsdr
(D 4 gpenpsdr
@) 5 gpeapadr

166. In which year was green revolution introduced?

e 1967 ®) 1977

€y 1987 My 1957
b qpeimg e Lsanin LTLA p@LpaIlLBESUCL 57

(A} 1967 (B) 1977
(Cy 1987 (D} 1957

167.  Which is not a cause for population explosion?
(A)  High birth rate ' (B) Social customs
J&@~ High death rate @) Poverty
inksdr Agmins BauigliuEs g iy smancded adumss g HLEAHs
(&) sufs Gpoy sipn (B) onps uipds aupbaiadn
(€ s ooy eSpd D gpen



168. Who gave the name “Hindu rate of growth™?
(A) Ii;zml Habbins
BT Raj Krishna

{D)  Barbara Wootten

“Bisg suenivadl it ereéngy Auwsfit.Lauk wiv?
(A)  @owmd rmBdr

(B)  @ovsp Bpepenrn

(€ araGpmBe

(D) usfur P ar

169, Who iz the changing agent of the acciety?

{A) Farmer
&~ Entrepreneur

(C)  Weaver

@}  Actor

FAPGSML LMD S gD s wi?

(A mypar
(B Gsnpagpeemtaunt
(C)  Cmoeumen

D)  pysi



https://t.me/tnpscfree

https://t.me/sasiclasses



17.

18,

19.

20.

decides the economic growth of a country.

(A) _ Export : . (B) Import
Trade . () Transport
: G]urr@crrrrgm;r cueri&flant] Hlirenruiléd mg).
@) gopwd B) GpéEws

©)  eunamfllub (<) uTSSSD . . _(D) Curs@eurss

"The following set of countries follow socialist economy pattern

” China, Cuba, Vietnam, North Korea

(B)  Africa, Australia, America, Brazil
(C) Europe, Japan, Australia, China
(D) - Srilanka, Pakistan, Bangladesh, Cuba

ﬂmm@w BREET swsior QUIHETTERT wpenpullana ﬁ]mum@i@mmm

A e, Ayt el pmib, eur Gamflur

®)  <pudfssn, oEdCrellur, @Qullssr, GG
(©)  xGpmium, slimes, evSGrallwm, Farm
D) Seomsr, urdevgrer, LkisenrGaesy, SuLur .

: The new symbol of Indian rupee

@ £ g el

©. § O €

- @pw @umder LFiu GHiGE -
@ £ o . ® X
© s - o . o €

' Among the following, which does not include LPG in economics
(A)  Privatisation o (B) Liberalisation

Generalisation ' (D) Globalisation

&ggasam_mm‘)lsn Qluirapatlwedld LPG erempl GOILAELsIDmET Gléwrss)
&)  selumiowibrse ® . §n'u'rrmmu.ll.brrg;eu
© Qurgienolu@ssised : (D) 2 QEIDILIDTEHE

Identify the one among-the following sub divisions that does not form the sub] ect matter of

public finance -

(A) _ Public expenditure . (B) Financial admlmstra,tlon

Factor price determination ‘ (D) Federal ﬁnance

Spaumemaipner argl QurgHHwelien o drar_ssors Gdma a‘suﬂ_lmg GhEsaD.

(A) QungéQsevelemsdr - B) H Haurshd

©)  asmrefl eflend Sironaligse D). s & weom
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- 24.. Match. the followirng :

()
®)
(c}

(d)

. New-Industrial Policy '

National Planning Committee
Integrated Rural Development Programme

420 Amendment

@ ® O @

A)
- ®
€

g

4 3 " 2 -1
2 1. - 3. .4
3 .2 1 4 -

9 3 - i - 4

Spapamapop QuTmsss:

-(a)
().
(©)

(@

yHw Qsmfin Carerens
Caflw A& g
@@@@mm§§ seny QuaniTas] Hirid -

427 s L Smdsid

@ O © (d)

@)
®
©
®)

4 3 2 1
2 1 .3 4
3 2 1 4

1978
1991
1938

1976

1978

1991

1938

1976



27.  Who says Non “Elitist theory”?

(&)  Max Weber | . (® Pareto
# KalMarx . (D AdamSmith
“o Wi @igudanit gjebeon” Camumenl LbBl snBlwicuit wimt? ’
(A; Lrdev eSulf ) ] . B) ufAlGenm

() &nid wrisen (D) <o bepulls -

" 44, International Atomic Energy Agency (IAEA) is situaj:e@ in

() Paris.
(B) London
(C)' Geneva

‘ S Vienna
570G DignisbE S0l S@pgier Guib
(&)  urfev - " '
®  osna
© QGgmefiaun
D)  eflwicnemr



45.

46.

47.

Which is the World's largest retail chain?

(B) Costco .

(C) Beliaﬂce

D). Spencers

2 evdlar sl duﬂm Aowenp sridled erg)?
(A)  euménnmTL |
(B) smevr Car

) Aeow UJGBTGi;J

(D) a6 uerevien

The World Trade Organiéati.on (WTO) was set up in the year'

M 1995 ' B) 1996
© 1997 S ©) 1998
2 s aimfls e’y (WTO) c;rﬁg,;%s&mfsi) -@Immei;ailllut:_;__gj?
@) 1995 ‘ | | . ® 199

© 1997 @ 1998

Which of the following is incorrectly matched?

" (A) Road Research —  New Delhi
(B) . Environment - —  Nagpur
(©) Drug - Lucknow
W Sugar - Hyderabad
seunrsll QUIGHSSIIUL(HeTeTang E)aniD STaEs -
’ (‘%D &rr.sme) <pymiER- — L Hdvedl
®) - sppE@pe - prEyl
((.'3) LGS -, wsan

D). sissor - @ADSTUNS

E



60. -

A)
B)

is one wherein very little investment is involved.
Large scale industnlry '
Small scale industry -
Cottage industry

s

(D) Medium scale industry
; Cgmfled Lhasdh '@Gmmt_ﬁ';g, ApSeS (B Cammairt_gi.
@ Qugfos - | :
®  ApBao
© @geon
D).  wsdu flena



70.

71.

72,

‘Communism in Health’ means, health must be pfoi.?ided

" (A)  according to life expectancy ’ .

according to the need and not accordmg to the ablhty to pay

(C)  only to the children

D)- only to the aged people

‘Mrr,srrm;l Qurgisyen e’ Grﬂ‘m_lgj 24 _cpalb gmar Geeway

@A) - Yy sTesmzl Glurrgagél@ggeo

B) wisafllar ComausCepu seldaiin Ga.lsm@m | 1w&seT G]a@[ggd ;ﬂmeoss@ g@‘mg,rm Cumed
.:weosorrmm : .

©)  BYbmssESsE WLED asrﬂe;asuu@gaw

D)  cuwgrarafisEnég .G sefléstu@sd -

Among these two, Economists one is known as Father Econom:lcs and the other is known as
Father of Modern Economics. Find the correct combination. .

(A) Adam Smith — David Ricardo

(B) J.M. Keynes — . T.R. Malthus

(€), Adam Simith _ — Amarthya Sen N
Adam Smith = - J. M. Keynes

: Jﬂm&u@m Bleneamfley gmeurt Qurr@errrrgrmgé]m FHng oHnelT Beier @urr@mrrgrrqg,‘é,]m gpmg
- eram(pieur. Eﬂuum@mwmtu GCaibEs 0. .

A)  <yb ol — Gl MesmiGr .
®B) JM Qsléidy — T.R. wrésd -
© wubefdls - eubigurQeen
o) Q{,i_ib Goisls —  JM. QsSerev

" With the help of the follomng clues find out the kind of budget
. a. It is called a surplus budget

b.  Itis alsoa case of deficit budget

c. Modern economists argue that it is very useful for achieving economic stabﬂ.tty

d. The government s income or tax revenue and expenditure are not equal | -
(A) ' Revenue budget . - (B) Balanced budget

(C)  Zero based budget & Unbalanced budget

8Cp& GsrRssuul@etar GHluysafisr siglumLido srm;s GUEHELITE0T mu'eq%lma.[g ﬁl_x_m

Siewpgiereng ereny (L : .

a..  ouf aire-Qraey S b eraniufib |

b. ubprE@Ganp eure|-Asewal S L th erammib .g;mg@sa;uu@m ,

c. Q)55 aurej-demey Il CGo @@ pmigear CumGeTig D Em;_ﬁlmmsmu_l <DieHLIL uu.l@jerrmg.rra
. QuseEw erann paler QUTEpESTY QiegyniTEET 5@@£]em'r_nmrr

d. .aimﬂem augreumub-Gleweytb soLlmanLn

, (A sumeumb eugey-QFeyd b (B) - dwflenar aufey-Qsaweys gl._l_lh"
(0 ysduare-Gswas AL ib ) D) swarbp awife-Gsways HLib



76.

“Match. the following : °

- @
- ()

@)

Author
(a) Plato 1
(b) Rousseau 2.
(¢  Niccolo Machiavelll 3.
(d) Jean Bodin 4

() {b) () G
A 1. 2 3 4
® 2 4 1 3
7 4. 2 1
™ 3 2 1 4
ﬂ]eﬁ@@mmmﬁ)mm Qunpsess :

< Aflwi - -

QGerGLr S

erGeT R
(c) 5 BGsrGar rédubadd 3.
(d) gferCGumger - 4.

(@ O ©@ @
@ 1 2 3 4
®B 2 .4 1 8
© 3 4 2 1

) 2 1 4

- Books -

Six Books on the Republic

" Prince

Republic

Social contract

ET&
L PPl e e
Eerauyse

@urE

Feps @UUIBSLD



93.  The total permanent -mer'nbe-rshil-) of UN (United Nation) Sécuﬁty Council is

@ 5
® .10
p/ 15

™ 20

o&Hh Br{sdr spasslar urrgjasmilq_muuﬁlekr Gfu:srrgg Brbsy e_yliSarntaetlan eramentlsamns

@ 5
®)- 1{;1 )
© 15
D) " 20

94.  The Headquarters of IMF is located in

g M Fr.ance ’

(B) _ America
(C) . India

(D) Japan

sfrm-s(%g,& premrw Gl wsdlén (IMF) seneventowistd am'mg'sgjd-ra-r @b

(A)I'I_(I]IJW@TB%
(B) a@@fﬂésa;r&_
© @spur S

D)  glumes



97.  Types of Authority is explained by

(A Karl 'Marx ' M Max Webt«‘;:;'
(C)  Jean Bodin ‘ (D). Adam Smith
- Zphenenoudlen auensil M anL Lt He ;mﬁlu;tmr‘r Iurrﬁ“? h
(A snitd wmide T B i efui
(© g Gumgan D) ptb @i o

100. Which one of thg following is mostly subjected to recycling?

M Paper . " (B) Glass
- (C) Polyester . (D) Polythene
. SpssraTLaDDd 6g SHs élerreﬁlé OFPHE PopsE 2 L LiGSsULESDE? '
A srdsn B) sy

© urréS_]GlUJsim_r'r L D) - LmellsSen

109. Which of the following was discovered by ONGC in the Indian Ocean on 26t July 20167

\M Hydrated Methane

(B) Hydrated Benzene
(C) Hydrated Ether
(D) Hydrated Octane

eramQenmil wppb Guihens aumy Hipeuand Spsarcupndr ahss safhiogens @HHw Qumhis el
39w 26/2016-6 san (Lo 5587

&) ECrppi Quibp BECaer

B)  5Crpmbd Quipp Quenden

(©  BCrHmb Qupp Feiee

D) BCrppw ngbm 2, &G e



110. Which Bill was passed in the Parliament of India in 2016 to adopt Uniform Tax of States?

(A)  Goods and Sales Tax
\J,Bj/ Goods z%nd Service Tax
(C)  Direct Tax ’

(D) Indirect Tax

aps wCstsr @pSu  umT@HwapsHd 20166  BETE WP(PeUFILD
ﬁmm@mfpbﬂut'_LQ?

(A) | QungLser wppb 6fHLienar aurl

B) 4 sré@ LHHD Gaeneu aurfl

(© Cpis eufl

) .mmm@&mrﬂ ;

128. The leading producers of jute in the Wot:ld. is
\J&~  India and Bangladesh
(B)  Srilanka and Pakistan
(C)  Chinaand Japan

(D) Singapore and Malaysia

2 eodled Famied o HUSH UGl @&meuﬂu&lsb 2. 6TeT BT (HEeT
(A Qpdurwbmb euksaTertEED

(B) @Qonas wpybh urdlaugnes

(C)  &awr wHmd guiLImen

(D)  Hasiyrwhmb wGaodum

afl e ssrs



132.  Which year has a special significance in Indian Economy as far as Economic Reforms are

concerned?

(A 1952 .
(B) 1981

o 1991

(D) 2001

Qidu.  Qummertgmrses CQurmsseumrudicd aps  p@® Gurmetnary  EHmsssHde

WEEAWEFeULD UGS GeTmIEL?
A) 1952
B 1981
(C) 1991
D) 2001

.133.  Where is the diamond cutting industry located in India?

(4) Lucknow -
\,QS( Surat

(C) Ludiyana

(D)‘ Chandigar

@bdwrefle) maurb sigsEL Osmipetme arGs Sienwhgerens?

A) w&Gam
B) &5 -
©  anfumenr

@)  saimggnri



134. Net National Product is
(A) Gross Domestic. Product — Depreciation
l,GB( Gross National Product — Depreci;altion
(C) Net National Product — Depreciation

(D)  Net Domestic Product - Depreciation

By 510 2 pusd e

@) Qurss o epm G epusd - Gaiiorend
(B) Qurgspmi® e nusd~ Cslioread

©) sy pr® epusd - Caiiorend

(D) Hagoeapr @ o phuss - G’g;u'.lmnm‘Lb'

135. When a person lives below the minimum subsistence level he is said to live in

b@({ Absolute poverty
(B)  Relative poverty
(C)  Abstract poverty

(D)  True poverty

ampeugnE Cadmg GoNHSULF cusdlsEhsss &égp G@meur aurEp umanid Hlenaenis @eleumm)

FaMHETD

() uyovure aget
B)  @uSLHapms
©)  &mésauman

D) e e eugeno



160. “Operatior; calm down” is associated with which state?
(A) Tamilnadu
(B) Andhra Pradesh
\_(E'f Jalmmu Kashmir
(D). Bihar

" iGragel STD Laen ereitigy ehg WwHladgLsr Qe &GDLUJQJ?'
@A sfippre
A B) sy GrCsean
(C) o anegl
(D) Ssmi

163. What is the name of Ganga river cleaning scheme? :
\_‘(Af N_amarxlli Ganga scheme
(B)  Poorva Ganga scheme
(C)  Apoorva Ganga scheme

(D) Ganga Yamuna scheme

shes pdow gniemolu@ssib S s QUi ererer?
A) ‘ B SBIET S LD

(B)  yreur sfusm S Lib

(Cy iyfreun smsT FLb

(D)  smsmwepert b



179. Match the following :

(a)
(b)
(e)
d)

(V28
)
©
®

’ Egiﬁﬁgmwmm Qurmsgs :

()
(b)
(c)
(d)

A
8)
©
)

Grey revolution
Golden revolution
Yellow revolution

Blue revolution

(a) (b} O

e e

1
3
4
4

| =T 'k S SN v

&mbLid Lré&
Qe Y4

Digpaar LjgL4)
Bedigg 8

(a) (b) ()

| K wite S S O
= = b
=

Ll L

(d)

W W = W

oW o=

(d)

o I o B

Oil eceds

Eggs and poultry
Marine products
Horticulture

eraTd amrL) el smeT
apLent whmD Camgliiuamenart
e Qummplgar

LILpRISET 2 (UGS



185. In India the organisation which was responsible for self-sufficiency in food production was

(A) CSIR _
B ICAR

© TISRO

@ ICMR

‘@pSwr o awra) s_puSHuld ganallmpey jmLougHE sTreunmer Hlmeuemd
Ay Bpdu siblellwed whmib Asmfienu L rmuss Hnpeuend (CSIR)
B) @i Geuemen <yymiséd Byasend (CAR)

.(C) @pHw eferr@auef] yrmiEd Hiyearand (ISRO)

D) @sduwmsge ourmuss fimeiend (ICMR)



187. Which plan was implemented after the Annual Plans of 1966 — 69?
(A)  Second Five Year Plan
‘(B) Fifth Five Year Plan
(€)  Third Five Year Plan
\Zf Fourth Five Year Pla-n

1966 - 69 B aEnsE (Par® HlLmger) e peLpaniu@SsUUL L phsra(h S L erg?
(A) @qaim..ﬁu.b oESTET(H S b

B)  @ismd ghsTeTR S

©  papmb ghsTan® S

M) premamd ghgrerT(H HLLLD

188. “Bachpan Bachao Andolan” is an organisation that fights against

& Child labour

(B) Bonded labour
(C) Child marriage

(D) Poverty

“uruner LECEFTEL DHFCHTE erémn ey SpaaL_aubmeTr arsHETs QewueuBans?
C (A @wbesdgmfare
(B) Garssyenwn
_.' © unoS\u.; afleursLd

(D) eupew ity



23.

Which country is not the member of SAARC? .
(A)° Afghanistan | & Myanmar

(C) Pakistan _ (D) Bhutan

Fité Seow196é @b Quprs _r_r)rr@ eg?

(A) g isneflcogmesn : (B) Swmrennir
©  urdavgren - D) givinen

The Fortaleza declaration and Action Plan ‘2014’ is the outcome of

M BRICS summit ~ (B) SAARC summit

(C) ASEAN summit - D) NAM summit

“~Gumin_QasT GrsLanb bHpb QewdSrLib 2014’ Geasefud i Lg
A) G 2 sAorpr . ®) snié o FALIEIG
(O  Awuren o 58wrErl o - (D) pmb e Forpr®



21.

28.

29.

Which plan model is a Neo-Gandhian approach to development?
(A) ‘ LPG model . | _

B Developxﬁent of heavy industries model

#0 PURA model - S

(D) Socialistic pattern of societf model

Baupler g S WSl |.|,£Ilu STHAW APEGRATDD DN E APV Gasrram_gq?
A a9, & mrr@lﬂ

B) Cuilwe AsmBéd SN0 B wrHf

©  yr (PURA) i

(D) F05i10 HapFMU apanD LTHM

Who was the real architect of the second five year plan?
(A) Harrod-Domar : - (B) Nehru
# Mahalanobis : (D) Indira Gandhi

Quen_reug) gHsraT® ﬂl.:.l_ﬁﬂliﬁ QUG RIDDSFELT WITT?
(&)  apgr-Gumoir _ B) Gpw
©) vseCeamley D) @sfyransd

The change in rural consumer expenditure on non:food products as compared to the urban
consumer in 2013

W Increased

Decreased .
(C)_ Remained constant : _ : s

. (D) Showed sharp fluctuations

2013-& 2 emrey LISRTL fisET ﬁmmnwrsu;mﬂm Bgmer g]s;rrm& Qswey parlsmer @UEAGL Cung
frmorisaia .

(A) Siflafggareng
®)  ooppgedmg
© Pewurapns o drerg

(D) Lﬁl(g,ﬂmnm's,rﬁ)m @m&&:ﬁ:&mm&lﬁsrra’m_g



b56.

: -
What is the amount of calories needed for a hardworking Indian Model Women (IRW), when

she is working?

@ 1610 , )( 1800

(C) 900 (D) . 826

agenonen Agmfle Gauyd @bdu wrdfiLAuar (IRW). Cawme Q#u‘.nu.p.'n Gurg Camaiiu@ib |

sCamfl e <DIETEY GTEHreDT?
@) 1610 '  (B) 1800
© 900 B o (D) 826



62.  The Goods and Service tax will be implemented in India f1_‘om
() Jan 1,2017 & April 1, 2017
(©)  August 3, 2017 (D) Feb 1, 2017

. Bhdureilé Qurmer DD Goameu el arbg praficflBbg oL P@PUESSLIUL 2. diarg?
(A) geaufll,2017 : (B) gupel,2017
C) syaevl 3, 2017 (D) G@ugeud 1, 2017

63. The e-facility launched by CBDT for online redressal of Tax payer's grievances in
September 2016 is

(A) e-Market ®B) e-NAM

(©) e-Visa ' y e-Nivaran

Qs buir 2016 @é, CBDTWemé Qsr_msiul Gerer el G@ﬁg@mwrrmg GDDSENET

Srlugpener Geemugerips @mar@ assl - 2,GLD.
(A) m—orisQs _ B) m=NAM
(C) m—allar . D) m—FHeurpen

64.  Which place in India, the Islamic development bank planned to open its first Branch"
Ahmedahad (B) Chennai
(C) Delhi (D) Mumbai

Qeveomilw aierisd eunidulen e Hevar @;ﬁﬁu.lrreﬁle) cnmg Qgm_iisluL o drerg?
A) a&wgsrrurr,s . B) Qserear
©  yeod - - D)} wwau

65. The Chauman of 14th Finance commission is

(A) C. Rangarauan -(B) Vijay Kelkar
M Y.V. Reddy - (D) SubbaRao
l4-augy flfa@upeiian Wmmff

(A)  C.phusgrgmen B) ﬁg@ APETY

© YV.Qrlg ' ' D) a&Oum e



Which of the following factors that are responsible for present crisis in the jute industry in
India? :
I The decline in overseas market

1. Inadequate supply of raw jute
III.  Stiff competition from synthetic packing materials

Choose the correct answer.

¢ 1ean | (B) I IandI

(C) TandIII . (D) I and ITI

Bpsen_ aps g@ s Garwpu Bifureo same @éﬂeﬂm?mwu% pefleflipE smy@mors
s@sUUGADE ' ' : -

L.  Qeelipri@® elwururysde sfey

II. aeuur@Emearubpréeaon

L Gewpens G 'lf;]El'l:ll;]I'_l Qummeraefien Slq.ﬂﬂ:l(:éu g,

@aupmyer sfwires ugm@) CaibAgs(Esa)b. | _

A) I wohmb 11 (B)- i, IT wpgo I

(©  Tupge I ‘@ 1 opgo I

The agency estimating the national income of India is
(A)  Reserve Bank of India
(B) Plan_ning Commission
(C) Ministry of Finance
_ M _Central Statistical 0r§anizatioh

@pHunelle Caélws ugraumenws &Gﬂ'&ﬂ@ﬁ) Bmyeuemid
(A) Msies euiad '
® fiew

© Posgep |

D)  wiHu ysRILS gep



76.

7.

78.

The Twelfth plan period is _ _
2007-2012 ' - (B) 2009-2014
50/ 2012-2017 : (D) 2014-2019

UenaflQeim_reugy gpsTer® S L sraid o
&)  2007-2012 ; (B) 2009-2014
© 20122007 (D) 2014-2019

The Nehru-Mahalanobis model was introduced in the
(A} Firstplan | P’ Secondplan
(C)  Third plan ) (D) Fourth plan

Gp@- & CarmIsiy ﬁl_l_ mrrﬁrﬁsmu abg ﬂp%ﬁm q@gﬁmrr?
A) - qpse ﬁt-l_m ; B) @uaa_m_mn Ao ip
©C)  epempmb AL b ' D) prensmb g‘]:._t_l.n _

The main driver of inflation in India in the last few years has been
(A) Increased rural wages

M Escalated food prices
(©) Incréased cost of intermediate products

(D) Increased fuél cost

'@p@u.lrrsﬂsu &L5HS Ho M@s«ﬂw Uenalsstn qmul_ ST (LD Qpa;élu.r srn;rmﬂ
(A) Apmoiseai ahdl a@&rﬂug '

. (B)  eewe grafluiisefian senes 2_wiey

©  @eriul Qurplssfien e ofsfiy

(D) GnﬂQurr@siT&aﬂsh-mﬁl@w 2_WiiTe



80.

98.

“Inta_'ng'ble goods”

P

Machjﬁery, instruments, industries

@)

(B) Waste goods
(C) Oil seeds

M Health, Research, Qua]ity.Educa_t‘ion
Sl Gli.ur@s’rmdr
Q) Quiflonsdr, smellse, AgmfDeramaser
(B) euCurslaverg Qurm e |
© oenQani Sgésar

| (D) 9.1_6'0- Beotd, rmiiES), Sorer msﬁ]
SWIFT is

Society for Worldwide Interbank Financial Teleéommunicﬁtinn

(B)  Standard Worldwide Internet Financial Transaction

((j} Society for Worldwide Internet Financial Tran#actio_n .

(D) Standard for Wofldwide Interbank Financial Telecammunication
SWIFT TG ————————— oy @D,

A ows aaréﬁlmlrm cuBidlsdr Gen_Gu FLEGD ﬁ@, Glgsrrmm“,.s'ég;m_r'rq Siewly -
B)  eossadora Hoanw B ulauissmar g.sl;n.n o
©) cwsserelora Qamam § ufiauisgmer sl

D) cas amﬁlwrﬁm auridaer @ml;GuJuJ‘rrm Hd, Qsrewe Qsmiy syb.



100. Assertion (A)' The frequency of flood in North Indian p]a.ma had inereased during the last

67.

68.

o couple of decades.
Reasons (R) : There has been a reduction in the depth of rivet valleys due to depoamon of
- gilt, .

M Both (A) and (R) are true and (R) is the correct epranatlon of (A)
_(B) Both (A) and (R) are true but (R) is not a correct explanatmn of (A)
C (A)i is true, (R) is false
@) (A _is'false, (R) is true

.m\!bg A): s b5 @@ug} upLmsaiid et @pﬁm : m@mqﬂuﬂm Qmmmgﬁal Sim
' &ﬁaﬂwmg
srgennd (R): eueir_e weir g eflermed umm,sg.rm;eﬂm Spptb @mmﬁgmg

A A womd ®) &mma%mm'. (R) (A) -sfpsnen shuimer darisss

B) - (A) bpmIbd (.R} sflwrenaa, (R) (A) - eﬂjjanméﬂunat AerEsLD Db |
{C) . (A) sflwreng), spamra (R) seum ' o '
(D)) 7N Feuml, erme (R) Elﬂl.l.lrl'ﬂ'lg].

The Prime Minister launched Ola e—nckshaws as part of the ‘Stand — up India’ mhatme in
(A) Nasik I . (B) Nellore
(©) Neyveli - _ \WPr Noida

“cgsh PpuT” aap SC b Ep Srpo wEHA pan Ber-maaing. S s

Ll gieusfenmit,

@ prés  ® Gpagrt
(©). QpiCeud I (D) Qpmir

As per the Foreign Direct Intelligence zeport - 2015 whmh is the hlghest ranked country in
the world to attract more investment?

Ve India . (® China

- (C) Brazl ' (D) Russia

2015 b gy pETen Gmﬂmm-(a Gﬁm anﬂsu oy anﬂm&ﬁé’uw app prO M@m
FrULSQ mﬁuu Hés pm_rs s&lmgﬂm? _ )
© @Gmﬂd) ' ' (D) yeyur



" 73. The Author of the book “The R.we and Fall of Nations” is

\w/_ Ruchir Sharma ) ‘ | (B) Pope Francis
(C)  Fiona Barton (D) Sunil Khilhani

“‘I‘heRaaea.ndFallofNatmns mwggﬁtﬂmu
Y qgﬂﬂrrmn ' : . ® Gurru..u_‘iwmﬂdo
©) ..@cmmunm T D) sele déemed

79. Who mcewed the Global Ieadersh:lp award from our Prime Minister in Wash.mgton in
June 20167 .

Jeff Bezos, CEO of Amazon
' (B) Sundar Pichai, CEO of Google
(©) Binny Bansal, CEO of Flipkart
(@) Tim Cook, CEO of Apple

0 9en 2016, aurafiiafié- n_mmeﬁluj gsamsmn Spen eiyeng” B ﬁupu: wHHRulb @@g
@Quippeudt wimi? .

@) Qg Gusnmsm S(Gwsrafler CEO
(B) &w “sens, m@e&ar CEO
© Sl uarsmm culSefluETi_-en CEO

D) wi> @k @adafiér CEO

84. The Umon Government’'s Pradhan Mantn UJJwala Yo]ana Scheme pmwdes women living
C below poverty line with :

(A) Televisions

W LPG connections

(C) Washing machmes B
(D) Mmes o -

waHw .guﬂat digglo wHA n_msurrm Gu.:rrmenrr ,ﬁr_n_ﬁgmuq. augieLo Ga:m_u}mg sm Qe
Gum&@s@—-———-————mpmmu@ﬂmg o
(4) OQsreadssr s '
® LPG @iy
©  gouigdGuisnd

-_ @) _al;rmm@m;bgﬂmb



92.  Of the following schemes which scheme was started by the Government of India for the
beneﬁt of urban slum dwellers‘? )

Integrated Housing and Slum Development Programme
(B) Indira Awas Yojana
(C)  Jawaharlal Nehru National Urban Renewal Mission
D) Swarnajayanthi Rozgar Yojana_

&p&sam_ ,ﬂl_l_.msarﬁaa aps gu._u: psm.n.m) Guds wump waseT uu.rélGumm Qurr@t..@ @pﬁu
SIPETD BIDFESOLL L G ?

A eordeans ﬁl_@ ausdl whgb gq.d:s mm&ﬂg ﬁu_u:
®B) @pfrr seunéy Gmmmlr
©) gagpierd Crm Gg#]u.l BETUYD LempenioliLg ﬂl_l..l.o _
) m#w@&u.lpﬁ Gwasrrcu.lrr&arrr

93, Public - Private partnership is emergmg as the preferred mstrument for the development :
Infrastructure - (B) Agriculture
" (C) - Industries (D) Trade

Quing gienm — ,saﬂturm- gwmtﬂarau_@u ui®, Pa sunmra#l DEDLLLY sﬂq;muuu@ﬂarmg
Q) slcawviy _ : (B) Gaemanenn

© Gpmposar D) wigpsd

94. The mostly aceepted measure for finding out the level of employment is

udf' Usual Status

(B) Current Daily Status
© Current Weekly Status
() Current Monthly Status

Geuenay - eumiciy - Peoeaw SiHEg _. Qsrerer s SpsseTL ' ey  Quiigin
Tppé&QsmareriiuGAenpg? - .

(&) anpssmorer grib

B) * Pspara semr srid

© Pspare ey srd

D) Pepsre wrssmp



111. Consider the following statements. : - _
Statement-1: The business-to-business kind of e-commerce refers to a company selling or
"+ buying from other companies. :

_ Statement-2: With the busineés-to-cuatomer type of e-commerce, the conipany first”
establishes a web site on the Internet.

(A) Statement—1 is true and Statement-2 is false
VB( Both the Statements are true

© Statemept—l is false and Statement—2 is true

(D)  Both the Statements are false

Glémaumid sapflener smsHd Qeandrs.

sip-l @@ fpasEfien Gadens fpaeniben Gould pa Qupb amiesd
= Sioeg Bppay Cunanp Wer aalasms 98 ard— G- Harcv eren uensLILBSSOMD.

mpg-2 1 Aferev-@-sivwi  amsdarer Herauenflsn Qmueugmg @mmugﬁm SO
: | ueajgemd L@Q.ll‘[&&l.ll.ll_ Cauam(id.

@ aﬂ:m—l #fl wpgid spp-2 poup

B  epp-1oppd app-2 gl GrenGCuo sf
© sapp~1 saug wppd sapp—2 &

@)  spp-1 whpid mpp-2 hu GrerGio sap

119. The World Trade Organisation (WTO) is '.the successor to which 6ne of 'the .fo]lcrﬁ.'i.ng
mstltuhonal arrangement‘?

A - World Trade Commumty _

(B) International Trade and Development Assoclatmn
\,(C,f General Agreement on Trade and Tariffs

(D) Assomahon for Economic and Social Reconstruction

a8 UGS acnmuurrarg &M % ;ﬂymwgﬁm a.um'ilﬂrs s@puu@@mg?
A  coswigss sopsmub
B) - uamnn_@ QuitSHS HHID eucmmﬂ FRISD
€) s auugbﬂb
O Qurr(rjanrgrru D saps wSTMmlF FEED



128. The theory of separation of power was initiated by

(&)  Madison | (B) Blackstone
(©) Locke | | -\~ Montesquieu
.Ieaﬁémtﬁllﬂeﬁlmcaqrtumﬁo_é@w&eﬂmmﬁ o -

&)  wmgevén o _ B) dersaGner
© s ' - D) oraGLevdyy,

170.. Pradhan Mantri Fasal Bima Yojana scheme was launched on March 22, 2016 in
(A) Kolkatta ' @ Mumbai
~(C) Ahmedabad - _ . ' (D) Varanasi

Qrgren wpHA Led Lior Cuirggenr @l_l_m wriré 22, 2_016—&) Samkistul L @ub
@) Qarosgpr. - ® oumi

©O mﬂﬁﬂhwﬁ ! B (9) . _e.lrrvsumeﬂ



172. On which occassion the cyber secunty ﬁatidnal Action plan was unveiled by US president

Obama
(A)  World Creativity and Innovation day
w - Safer Internet day. -
(C)  World Intellectual Property day
(D World Heritage day - L

2(CwfiEs eﬂﬁuu gummr T ;ﬂsw&ﬁlﬂe‘l (Burrg; saflafl urgsmiy aueme CaAL ﬁt_l_gwg ,ﬂmmg:
WUBHTI? o '

(A) cos mur&(gm qun@ur.im. LiGIePLD HIET
.(B) UTGISTLIL| QUEDETSET HTeT
©) . o wsifley Ly prar

D) 2esaffC g prer

*173. Where was The World Happmess Report (WHR) 2016 released"

V( o

Denmark
(C) Burundi
D)  Norway

o w8 Ganay Sifaens (WHE) 2016 e QeushL i L gr?
@ Comd |

® QLdnoné _'

€ ey

D)  priGa



180. The Prime Minister has lmplemenbed the ‘Stand-up India’ scheme to empower

(A) Scientists W Entrepreneurs

(C) Doctors . - ~ (D) Teachers

Qg0 wpHM ‘aupbs Hé QiSun’ crenm Al gaog a;ﬂ@quu(ygﬁug_ué&maﬂés,'
(A e&]@@rra‘ilsm _ . _ B) maﬂaaﬁlu.na:rrmﬁar . :

O wopgeitadr D) gAAuissr

182. The SAARC Disaster Management. Centre is to be established at
(&) Pokhara o @ New Dethi
(O Lahore ' (D) SriLanka
sit (SAARC) Gu;rgﬁléq Guoreento ewwib SipetiuL Gmius)
(a) Gumapr ) @ '-lélﬂ“"m )
(0  onsmF . ) D) Qeties

184. The mobile App launched. by TRAI in July 2016 to measure the real time mobile internet

speedis
(A) - PMIS . ®) eNAM

(©) GARV - ' \,(Br My Speed

29 2016 go, TRAI Gamme m.suGuéhﬁlar ;B&gc‘w BanenrL Gms,sﬁms sl
Qgr_slulL s 1GUA 240 (App - L&marglu uma‘ru:r@) <2,
(A) PMIS - : . ('B) eNAM

(© GARV + (D) MySpeed



185.

186.

187.

How many agmeements are there in Chabahar Port deal that Indm slgned with Iran on
234 May 20167

(A) 5agreements : B -+ (B) 7agreements

\)‘@, 11 agreementa ' - (D) 14 agreements

23, G 2016 & @iHur, FFUl'I'g]ll_ﬂil ms@u.l@ggt._@m sugmiT gmmgps guu;sppﬁm srmsw

QUUIBSEISET s_arm? -
A 5 guu;s,smsm _ S Co® 17 gllluﬁ,srélsdr '
© 11 guupgisd - D) 14 gauppiser

"‘Among the followmg wluch is the maiden spaoe shuttle launched by ISRO in May 2016 from

- Sriharikota? _ )
@) Pritwi . ® Ami
(C) -Swathi_ ) . . . ) \ﬂ’ Swade.sh:

&pmmgar Cuo 2016 & ISRO Gﬂarrrm gﬁﬂmﬂa Gsrn_l_rrsﬁlsﬂ@;pg off eiremsfich Gleghsguuu_

. @mmeﬂm@maﬁmmﬂg? _
@ ofgd L ® s
©  samg D) sCzA

The historic Paris Chmate Agreement which was szgned hy 175 Nations on Apnl 22, 20186, is

related to
(A) World Environment Day
Earth Day

(C) - World Ozone Day
(D) Human Rights Day

unfieu jb&lﬂﬂ) alige 22, 2016 & augembm @mﬂuwwm Gugp;p sulraﬂa:w guums;@m 175 prr@a;ar
Qgr_iurs eaQupssC L e

(A) eos ﬁﬁ)y&@@m Hamb -
B  yel fand ,
©) cwsgGsmar Hamd

@)  wafis 2 Aawadr Hamb



188, The country which has announced that it would soon adopt the Chinese Yuan as its main

currencyia . _ : _
(A) Nigeria ~ (B) Congo
(C) Tanzania I .uar' Zimbabwe

Sarneflen srdlg presmuLOTeN ‘qéjndr'—é S jbm_.lq.al Qpgrer arélp pramuLts BEslCLTMLISTE

- afledsgerer prl _ _
@ epdfiur o ® smCar
© wLremsrafiun | D) gQouniGe

193. Which of the following aimed to create community assets for strengthening rural
(A _Integﬁbed Rural Development Programme
(B Rural Landless Employment Guarantee Programme
\)Zr _ National Ruia.l E.mplt)yment Programﬁe :
'_ (D) Hill Area Develop:ﬁent Programme

. sapETL Qmﬁgmmm g.@mn&eﬂ . Apmoltiyn 2 eTELLenloLILy waﬁmm ueluBss
Epssdn_aipPis BB LD @PECanams Qe @erans? | -
A) goudaamhs ears almrreﬁﬁg; Al b |

B Heuwpp Hymo wasehdr Cawaaumiiy e pd S b
(C) Cgéu Spmoliyp Ga.immrru'.:ﬁqg‘s ﬂl::.l..l.h

D) uweal ugH Gmtbur_rﬁ.@,i ﬁn_n_m



194. Which of the following is correctly matched?

() RK Pur - Governor of Tamil Nadu in 1975
@& Bimal Jalan ~ Governor of RBI in 1997
- (©) Dr. Vijay Kelkar - Chairman of 12 Finance Commission

() Lal Bahadur Sastri — The First Chairman of the Indian Planning Commission

| Episen. mppsio shuns Qunmpgiems sad Gy ésab

(& RK:yf ~ 1975 & SUOPBM I dit Sy

® G gore ~ 1997 & Asiic curkific oy

© Dr.ofgiGsdsi — 12° SBseugeion smani

@) aréusgit Bl ~ @pPus AL sewesr (psd s

195. Which of the following Five YearPlanofIndmhasstreased‘Expansmn, Excellence and |

Equality’ in education? , :
| . 12t Plan B : (B) 11% Plan

(© 10%Plan . (D) 9 Plan

Qfurele, ahs mpsren AL ‘solo ey srb. sofled’ duapmp

- adugigdangs? .
A 12vgin | ® NbHin
© 10068 | ©) 96 Hiid

196. Which industrial phase is called the period of Industrial Recovery?
(A)  PhaseI1951-56 " (B) Phase II 1965-80 _
\p/ Phase I1I 198191 "+ (D) PhaseIV 1991-92 onwards

QsmAd BLAS srew cr&ry SinpEaELILIGL AsmHe Hene ﬁ.urg?.
(A) Pae11951-56 C ®) Heow I11965-80
© Howo I111981-91 - D) P IV 1991-92 A



197,

198.

199.

Durmg whlch five year plan of India National Development Counc:l adopted a 14 point
resolution to achieve 4 per cent agricultural growth

11t Plan ' o - (B) 12%Plan
(C) 10%Plan : : (D) sthfflan

pgqurraﬂa: abs mpsrar® S sHd. (‘.’g&lu.l aueTiEdlE (g, Gauamraimento ycomuﬁm y.trw@ sgels
auerivafl sieoLw, 14 Siubsd Simidu pLaug Samsaw o grarsduig '
A  1lloHlind o ®) 12|.n§|_|_|.n
© 10bHLd - D 9vHb

Who was the chmrman of l:he Twelfth finance eommlmnon mnstltuted by the premdent of

India? :
"(A) Raja Che]hah : \J&C. Rangarajan

(©) KC. Panth ' - (D J.P. Neogi

Bidu Wﬁuﬂwnﬁ: a&m&aﬁuu_ 12ay ;ﬂﬁs@@aﬁlm gmm.r"r wimi?

(A) g Qe ®) C.yissgrgen’

© KC.ups - ®) J.P. fGund

Indian Economy is a/an ' N

(A) Developed Economy = ' (B) Undeveloped Economy
(O Industrial Economy ~~ ~ \@9¥" Mixed Economy

-Q;bﬁmﬁ Qi.mqgarlryr'uﬁ o0 - |

Q)  auarihs QuaEeTTETYOTELD B) aanns Quri'@mprrumn@b

© QOzmPé QumemgnTOTELD D) seuyl QuImBETTSTILTED

 Identify the Twelfth five year plan period of India

@A) 2007-2012 ~ (® 2008-2011
© 2011-2016 S aAprTaoz-2017

| @pBunclien LR Qrain_ e mESTEHS SLL B STRE0EE SaT(Es

(A 2007-2012 (B) 2008-2011
(©) 2011-2016 . (D) 2012-2017



106.

112,

Central Food Technological Resear‘ch Institute (CFTRI) is located at

@ Beaga @ Mymm
'(C) Chennai

&&w a.mraq Ggrr@cb@l'_u' whgh HymisEs Hpeuamd siewpgierer Gib
(A QuiisEsm o B o06o
(C) Qsenanar ' - - (D) @pfn@u

Which of the fo]lowing 1s not an ob]ectlve of India’s economic plannmg"

_ (/ ?opulahon growth

(B) Industrial growth
(© - Self-reliance

D) Employment generation

Glerameuenaup e ergy @mﬁmrrsﬂm Qurr@mrr,sn;r T [ F 2R G.lnrr.sasl.n Sd@?

(A)  waser G,srrena: eueariEs

B) | Q;rrgﬂa) suemrerﬂ

(©  saflopes

D) Caeeamiiteu aghu @ﬁg,sw



113. Indira Gandhi Matritva Sahyog Yojana is for —————
;ﬂ('- Preghant women
_(B) | Women _ent;repre;ieurs :
- (© Eduﬁatioi; for. women

(D) Employment for women

@pgmr gn‘gﬁﬁ wrgfley sﬁncﬁ.lrr& ﬁl_l..u: Paisenéars | _
B spupp QueTsEsE o

" (B - Queir GgmAdgpeearCanis '

() | Queradr swellag

o Gusﬁr&aﬁ@mmme\inﬁﬂqé@ o

' ‘142. How many states are to be linked to e-NAM, an e-tﬁd‘m’g platform for farmers?

\MS '

® 2
© 10
™ 5

Fl;-mﬁlh (e-NAM) arerp m-eureRfiub (e-trading) eypaiagsstar @@ Grshisbd,

| _ wrfleksCam®) @anahglererg?
@ 8 |
® 2
© 10

® o

STSgenat



143. What is the aim of “Jan Aushz;.dhi” campaign?
(A) ' Cleaning the rivers and its fribu_taries
- (B) . Clean up urbé.n areas
(C) Providing water for every farm

y Providing qua,]it.y,medicine at affordable prices

“ e SjayrE” ,@u_ggan Crnésib erenen?

Q)  oymsdr LHPD 2.1 IBHEmET gﬁ;ﬂh@ﬁégs‘u ;
(B} . BET ﬁ@@&mm& a;g,guu@ﬁg}gm

©)  paQang i @b fosdpeb sarei

D)  sraprer wEGHEIs@er Aupssnigu elewuld Smag

144. Which is the first state to introduce compulsory gender education in graduate level in 2016?

(A) Tamilnadu

B Andbra
W Telangana-

- (D) Gujarath

2016-6, Qamissenas UL SHdb s Lmu Ger swedl apapeows Siflapsiiu Bédlu s onfle erg)?

@ pop6 | - |
_ @) e%;bﬁurr :

(C) Osaisram

D) @&Urr{s



148. “Mission Indradhanush” launghed by the Central Government focuses on which of the
following? | : B )

J ' Chlldhood diseases

(B) Akash Anti Aircraft Missile

(C) Pinaka Multibarreled Rockets .
(D). National Ayush Policy

o oirfdn“ Bagen DpBr@isy” Bapilé apemen @LLLLOEADS?
@ epbepugmGpriss o
B) %a;r'rdq..ejnﬂmrr&r e i uHD
©). dQenésn gﬁun&ﬂ.@@mﬁ qmmam'
' (D-}‘ Gg,cﬂul Qe Gs;reirms -
'150.  Which country topped:the'Woi'Id Hunger list according to UNO Report released recently?
M India | ' ' |
(® China
()  Ethiopia

D) Tanzania

ey udl L gwelled ahg gn@.-ﬁgbcur@ Gmgﬂhr_rm g&du prser sou a;ﬂmuﬂﬁu_q._a.#ﬁuﬂfb

o drong? )
@ @pfur

® far

(C)  mCprdlwn



159. Who profounde.d Wardha Scheme of Education? -

N7 Mahatma Gandhi

®) Jawaharlal Nehru |
(© Dr. Radha Krishnan
(D) Hartog

Qunis &oel @mmuj Qsran® aupsaurr WTT?
@ wsipon srps |

B) gaapian Cpo

(© Dr UIW .ﬁ@agaﬁ

: (D) apiLrg

- 161.  Who is the Chairman of Tenth Finance Commission?"

' M K.C. Pant

®) Y.B. Chavan -
(C) S8n Mahavir Tyagi
D) K S_anth_anam

LEETD B Hé @ellen Benevauit wi?
A KC ups
® YB. sardr

O B :p&rfsﬁr‘r Swréd

®) K spgrand




164. Tﬁe period of Twelth five year plan is
@A) 1997-2002
(B) 19982003 i
© 2010 - 201I5‘

| \_(p)" 201‘2-—-2_017

Qﬁtﬂﬂ@gfﬂflfl_ln};'h.al'ﬁgﬂsﬁf@. A1 Hen sred
.(A) ' 1997400_2 | |
(B) 1998 — 2003
(©  2010-2015

(D) 2012 - 2017



-171. Match List I with Llat I1 and select the correct answer :

List [ : ' List IT
(a) Declarationonthe 1. 1992
" Right to Development '
- (b} Declaration on ' - 2. .1965

Environment and Developmeni :

(¢) International Conventiononthe 3. 1986
- Elimination of All forms of Racial
Discrimination
" (d). . Convention on the elimination 4, 1979
_ of All forms of Discrimination
against women '

@ ® © @

= O QO e
N OB B
-~

: ca
LT )

L

aufiens I-Ler auflens 11— s QUi sfwinen sllen_sow Caib OG-

afles] |  aflesIl

(@) Cuoburypéeiu e fes 1. 1992

Bgrar SyaL_emnd ' '

B sppéewe wHpbCobUTLG . 2. 1965
: Bgrer SrsLend

© SianaTsg) aueEwITeT e urr@l.mlma_ :3.' 1086

- gPuughsrer siaCss TETE '
@ stk ofiimer swarss aims 4. 1979

UTEUTC 4 HG @UIILGHETeT IBTH

@ ®» © @

@A 3 2 1 4
® 2 1 3 4
© 3 1 2 4
o 3 4 I 2



190 The environment mmlstry according to its PWM Rules 2016 has banned the use of plastic
bags with thickness less than :

M 50 microns
(®) 75 microns |
€) 100 microns o »

(D) 150 microns

a‘.;pg&@gpm Syemwsesb 2016 eg,l.o M@ PWM efificiug, ﬂmrrmuq.s a:usaﬂar——-——-,sqme‘n
SRS @mmmwﬂrmmww LTRSS L sﬁﬁggjma@

(A) 50 epwanmer
B) 75 ewndymen
© 100 ewigran

M) 150 enwdymen

191.  Which assembly passed the Jat quotal bill in March 20167

(A) Kamata.ka
®B) Tannlnadu
\@’ Haryana

{D) . Telangana

wriF 2016 & eTps &1L LsaLiule, m_ B 95580 wCsrgr HepGa ;bpﬂﬁl'.l.gﬂ

(A sipmiar
B)  slpse@
©  sofiurem |

; (D) o Q;@rﬁsrrémr



192, Which state in India is going to implement ‘The organic milk project’ with Dutch support?

(A) Bihar
M Kerala
(C) Karnataka
(D) Assam

@ifurde  app  wrfed  Lis pri®  epduidi Gupws ure  HlLes

perpepliLBpgeactarg?
(A)  Sarit
®)  Gsyerr

(©  sipmisn

@) sevwmd

195. - ’I‘he first state in India to have the umque Happmess Department" ason J u.ly 2016 is
(A) Uttarakhand T JBJ’ Madbya Pradesh
L © Maha:,aghtra ' ©) Gujarat

&Qma: 2016 -@er ;Elme.lquuu'.. @p@mrreﬁl@m(‘m @,sar(y:,smrrs ,saﬂpp m&@mﬁ; EIWID ‘e
mn‘;ﬂa)l.n sl

@ gt . ® Wﬁ@"—'lﬂvcawﬂ
(© 'wmmﬁwb.'- . o @am |

196. To which of the followmg assomated with Raftaar Mmmon of Central Govemment" .
(A) Roadways ' o \ﬂ( Railways
(C) Airways - _' . D Waterv_vays -
mﬁﬂuauﬂw P Weger erugl ikeml—mmw g G:smmm-mg:? -
(A) - sTapaL) Gurre'.@mg,sg _ . __(B) Tudd Gurras@mu‘,sg |
‘ ©) mrrecreu@ Gurrs,@ge_ww _ _' i (D) g Cursgeurss |



198, The programme launched by ECIin March 2016 across the country in support of theu' motto

«(m.

'NSCN
(_C) - NTES
@) NEPV

wniré 2016-@e serg Posdps o_mgla:mm.ms ECI @emra) prr@ q,p@mg:m Qmumu@,s,sum_@mm .‘ :

B B
&) NERP
B NSCN
(O NTES
o - 'NEPV

199. The state or the union terntory which launched the ﬁrst ever “w
' India in July 2016 is -

aber way metro project” in
(A) Andaman & Nicobar Islands
(B) Lakshadweep & Minicoy Islands

West Bengal

\W Kerala

 g9%a 2016 -B)e, @pgﬂu.ureﬂeu @,sat@pgsams B anfl Qe Gyr ,ﬁl_l_,sﬂmm gjmsaum mrrﬂwm _
S| g,eﬂu.lar lﬂv@,sm @geurr@m

@) sippwner opgi> BaCarmi Baysdr
B)  @oiesbol wppid Hemmi Saydr
1 © Gopp st
O  Gapem







110. Which project was launched recently to develop a road map for research to solve major

111.

engineering and technology challenges with relevance to India?
(A) Digital India

‘{ Imprint India

(C) Make in India

(D) Sagar mala project

Qurillué wign Asmfle FUU saurdsmer Silusparer miss Cup@sraeugharer aps
AL sugHo Grdwreler AprmsiulHerang?

A  g@lLe @bdwur

B) @uwafar GbHur

(C) Cuws@en @bHwmr

D) & wrer Sicb

The ‘Start up India and Stand up India’ is related to
(A) providing electricity

W promoting bank financing for entrepreneurs
(C) promoting agriculture in rural India

(D) promoting foreign investment

‘Fauke @pHur. ‘TwhHn @bHur aaug ap@ILdn dsTiL®LLE?
(Ai lansmyib aupHIGSD

B) Ggmflé yaaGaurisg aundlés e Sefluueng easEedl G
©) @bfu Hrmoiiseiie sfasmu 2 puseow AuEmEGED

D) Qeauefipn @ wasam HHsLUEHHED






122. Consider the statements :

I Vajpayee paid a visit to China as a Foreign Minister in February 1979.

II. This was the first visit by an Indian Foreign Minister Vajpayee after the 1962 war.

III.  During Vajpayee’s visit to China, the Chinese attacked neighbouring Vietnam.

IV.  Vajpayee cut short his visit and returned home protesting against the China attack
on a fellow non-aligned country.

Which of the statements is/are correct?

(A) onlyIand II are correct

(B) only I, II and III are correct

%@ 1,11, 1l and IV all are correct

(D) onlyIand IV are correct

aunswnismen seuafllésab.

I 1979 @diraflbe GQeefiupas giop smwssmie @mpsCurws wrguml femeds
eflggwib Qawagrmi,

II. 19626 gem® Cunméel Gpe Semase QAsean used Qauelupes sIOD S@wssi
QUTERLIML BpauT(T.

L anguni femese Qeafiops Quiws onddops ucpnd g fanm sragse
QAs1R 558

V. sefiCsrm Quss priee far grédufpe afioys AsfelsEnd awmsle Luagms
FsHell () aurggumi smusn HmbGani.

Qeupmiet eTHS SaDy (B1) SaDmISET 2 TEMDILITETENGU?

@A)  Toppod ol @n egrean

B) L II wpgod I ol @b 2 awenw

€ LI I wpgw IV siwassib 2 arewn

O I wpyn IV ol @i o arens


















19. When was the National Youth Policy (NYP) introduced?

eu@unpg Coélw Gearnest Asreras (NYP) Qavaflufl Liuc g?

1. Who is the chair person of Governing Council of International fund for Agricultural

development?
(A) Rahul Varma M Dinesh Sharma
(C) Dutt (D) Mithun Varma

Gaueair penGandmgSipasren uenem @ HHuller 2 Hé G sl wirfr?
(A) @ euitom (B) JHCerey siom
© 5 (D) Hgen euffiom

14.  IAEA stands for
% Interl;ational Atomic Energy Agency
(B) Indian Atomic Energy Agency
(C) International Agricultural Exchange Agency

(D) Indian Aeronautical Engineering Administration

IAEA areniugy @lengs GHUusnEn

(A) International Atomic Energy Agency

(B) Indian Atomic Energy Agency

(©) International Agricultural Exchange Agency

(D) Indian Aeronautical Engineering Administration



21, Which one of the following Tax was given a constitutional status in through 88t

Amendment Act 2003?

(A) Income Tax M Service Tax

(C) Professional Tax (D) Corporation Tax ]
Qeneumd auflsafier arhg germ 88™ wirfuaemvly Amés s 2003-a1 apad Sirfwmenoiiy
SiBgevdanen’s QUDDE?

&)  eumomen cufl B) GCsemeueufl .

(€C) Qsmpe el (D) Pmeuan eufl

25. What is the percentage of FDI allowed in Pharma industry in India?

W 100% B) 51%
(C) 60% : D) 48%

@pdurefler  wmbs sbQualéEs  adeera  Fgelldsd spPu Gerg  pssh

2iendlssiu’_Hererg?
(A) 100% 2 (B) 51%
(C©) 60% (D) 48%

97.  Which one is called a fourth sector?
(A)  Agriculture sector d Information sector

(C) Industrial sector (D) Service sector

Beupiler prensreug g cren g SienpésiLRAaDE?
(A)  feusmup geop (B) paeud gienp
(C) Qsmfle geop (D) Gaeneu glenm

29. Under whose recommendation Rural Credit of RBI was handed over to NABARD?

4#”” CRAFICARD (B) NARIMANN
(C) SCHELEGAL (D) BENCH MANN

wrmeLw ufibgender sl e s widlar 2arss SLENSET HMSGHID BHUTTL
cubifléE oL L &?

A)  HymAssni (CRAFICARD) (B) . prfwer (NARIMANN)

(C) aSSser (SCHELEGAL) (D) Quens@uer (BENCH MANN)






78.

79.

Which country has now emerged as the largest sugar producing country in the world?
(A) Russia (B) America

& ndia (D) Brazil

2 wdlé spQAuTs: 2ifls sigamy 2 puSH Qe prLns erg Cpmendluydrang?
Q) (megwr (B) =Qufasr
© @sdwur D) \‘Croa

It was mentioned under which plan “the basic goal is a rapid increase in the standard of

living of the people” and “again emphasis is placed on the common man, the weaker sections
and the less privileged”

(A)  First Five Year Plan
(B) Third Five Year Plan
W Fourth Five Year Plan
(D)  Sixth Five Year Plan

“wasefln aurpsms s1sms DPEOTE 2 WiTgieus Sren i liLienL Cprésn” wpmb Gugib “Gene
engryem Aurg wasedr, uealanomea ugLdant wpmb apergyemin Seféaliung LESERESTEG)
e audlupsug” Gewe s P GHLA LU Perergy?

A wpo gisTan( S b

(B) epDIeuZ) BHsTen () Lo
©)  prensreay misren® S b
D) worag misren® Hiiib

The first three plans talked of the setting up of a
(A)  Mixed economic system

M Socialise pattern of society

(C)  Establishment of a social and economic democracy
(D)  Both (B) and (C)

e ey pHsra( S L tisald ereupifien geenn Floeyeug erer Cuatiud Len
(A) seoly Quremtgmy aperp

(B)  swgivsypsrugms Apejeg

©) &8 wHHIL AunmeTTsTy wasaTT Aaw fimeeug

@) B wipd (C) Gram@id



97.

30.

31.

is the study of how to create safety, comfort and ease of use for people who
use machines.

W Ergonomics (B) Industry Commerce
(C) DSS (D) CII

Quipdrisoer LLGUESSE Smiqw wEseRe ungaToy, asdl wimb caligrs LWL RSEID
cllgpamg LipHu Lig Uiy QGO

(A)  Qsmfid @pellue (B) GQsmfe euaflseiiud
(C) werevered D) Agwy

When was the scheme Prathan Mantri Jeevan Jyothi Bima Yojana was started?
(A) lJuly 9, 2014 (B) June 6, 2014
@y’ May9, 2015 @) Aug2, 2015

Sggren wHHM geudn Gggrdl Sior Gungen eremp AL b eruGuing SemsluLLg?
A gOow9, 2014 . (B) ggen6, 2014

©) Gw9, 2015 (D) ysev 2, 20156

The term “HRIDAY" relates to

,(A( Urban development (B) Farmer development
(C) Educational development (D) Poverty Eradication

“HRIDAY” erénp Qened crangé Ghléding?
Ay peyCubur® (B) &fleusmd Cuwbun®
(C) s@el Cuobur® D) ag@w eliiy



32.

47.

62.

Which energies are supposed to be free and command no price?
(A) Commercial energy Non-Commercial energy
(C) Both(A) + (B) ~ (D) Coal and lignite

Qaupdle apg arflesd Gaeusrang wHm edlena HEsa0 Godwrsg aenn smsLLOEDS?
(A)  euafls arflesd B) aefiswars afsssd
(©) (A& +(B)@rewr(id (D) pessi wppb vy Hossf

Pulse Polio Immunization programme was launched in India in

)x)/ 1995 _ B) 2001

(©) 2003 (D) 1983

waaw GuraliGur Gsm @ g b @pSurelan Gpm_Ratiul L syer(

(A) 1995 (B) 2001
© 2003 (D) 1983
What is AYUSH?

(A) Itis acultural organisation
(B) Itis a unit of Indian Defence system
(C) Itis a unit of ISRO
M It is a Health care service scheme in our country

AYUSH crenpmed eremen?

A) Qs e serssny Hneuend

B) Qg @pduTraausHd g Afley

© @& @pfu darQeuef grmiss fApeueglen (ISRO) a(m Afley
O Qs oL pob Cugh Hb BT 46 G AL LIoTED



64.

65.

66.

The country with which Pakistan has signéd a § 1.7 billion deal to lay gas pipeline from
Karachi to Lahore : ®

(A) Srilanka (B) China

;ea/ Russia (D) India

undlavgren, &srEAGAmBE @rsmi  orderer  eafleumi GYreow  SowsEd § 0 1.7
Bedlwergisanar @UUbBSL Asiig Aarar. B aTE?

A Qamnes - : (B) &anr
(©) reywnr ' D) @odHur

Recently, the Central Government decided to implement GST in India. GST st.ands: for
what?

m/ Goods and Services Tax (B) General Sales Tax
(C) General Services Tax (D) Goods Sales Tax

wEflu  2rs  semowdo, GST-ow GpHurde BeLpepUudss  wpuQau@ssieTens?
GST erenugen eflNeunssid ereman?
4)  uem miser wHmDH Cemeuser aufl B) Qurg efpusarser eufl

(C) Qurg Cemeusar cuffl (D)  uer ks eflhuaarser eufl

Under whose chairmanship the Reserve Bank of India recently constituted a High powered

committee to study the urban cooperative banks?

(A) C. Rangarajan (BY Yashwant Sinha
(©  Raghuram Rajan 27 R Gandhi ,

SiamaiGd fleiel eumidl wrmew seeenuen & paTUYD sl Bpey curkidlaaner ayrmu R(H
2 WL L& G(heney SioigHig?

A)  C. grusynger (B)  weseups Aensm

©)  pEymb prgen (D) R.smd



78. The term “MIGA” refers to

L
(B)
©
(8)

The Multinational Investment Guarantee Agency
The Multi Indian Government Agency

Migration of Government Agency

Member In General Association

“MIGA” erenp Qened ergh@ QUI@mBEID

(A)
(B)
©)
((8)

it 9 ool w. il B oo
BB LIPS BITE PEDLO
Sipélan GLuQuuitey apsenin

Quing spsasden o mliSerit



79.  Who of the following is the final authority to approve the five year plans?
(A) The Parliament
(B)  The Planning Commission
(C) The Finanee commission
jD)/ National Development Council

Glereumueugner wnt gigran® L tismar @nHuns itbsfés wWigub?
(A)  umgm@swenDID

® S

© phésw

D) Capflw euariad G

80. When was the National Development Council was set up?
(A) 3rMarch 1951 (B) 20 June 1952
jB)/ 6th Aug 1952 (D) 5% Dec 1953

Gl even&él Gpwib erUGUTPE) éwlbl_qléﬁl:lul'_l_@?
{A) 3uwrié 1951 (B) 2grer 1952
(C) ~ 6 ysevi 1952 (D) 5 pebur 1953

81.  Which of them is caused as social overheads?
}Af Health, hygiene and education
(B) Science and technology and education
(C) Science and technology and communication
(D)  Education, transport and banking

QeaupBles ereng seps DieuALILTETDESET erar DienipLiLIT

A) Crradluib, ssrgnyh LHDIL swedl

B)  siflefiud wpgb AsnPlodpub LHHD soedl

©)  euflellud wppb Apmfls L ub LHHID saes AFmPop b
(D) a6, GursEaurss LHPID eukidudiud



6@ Green Revolution increases the food grains production in

M Rice and wheat

(B) Wheat and oil seeds
(C) Rice and oil seeds

(D) Rice and sugarcane

usewl Yl fwred ghlliuns Gdicuams o amey 2 HusHule Aumssd gpul g
(A <iff, Canglewn

(B) Gangienw, craam@enri) eflggidsar

(C) =fA wHmb eraarQennis eflsgsaer

D) off, smoy

28. ' Match List I with List II correctly and select your answer using the codes given below :

List I ) List IT
(a) Characteristic of Land 1. taking risks
- (b) Characteristic of Labour 2. productive
(¢) Characteristic of Capital 3. mobile
- (d) Characteristic of Organisation 4. fixed in supply

(a) (b) (c) (d)

A 4 1 2 3
B 1 3 2 4
4 3 2 1 .
@O 2 4 3 1
ulgwé I g utywe I o6 sflura’ Qurmpss EpsaRudl Herer GhluiGsaien SigLumL o
sflwurer eflen_amwg Cairay Gas :
. ulgwe I g we IT
(a) fagder Quey 1. @Liur@aemer goHe
(b) eemplfen @iy 2. EspeLLg
€ wpagassler @uey 3. GLbGuurs suguig
d) Gsmfeamwiber GudLy 4.  @efluy fleeowureang)
(a) ®) © @
A) 4 1 2 3
® 1 3 2 4
(C) 4 3 2 1
D 2 4 3 1



€ Which industry is called mother industry?

32.

33.

(A) Textile industry (B) Cotton industry
# Tron and Steel industry (D) Sugar industry

SMlS Azmfle aran SepdslL@ib AgTflad
(A)  Opsays Apmfle ®B) usds GemPa
©) @mby a.’@s Asmfe (D) siésseys Azmla

Agriculture production means -
(A)  National total production of agriculture
M The ratio between input and output
(C) The addition of input and output
(Dj All states and union territories total production

. Geuernamenio 2 pLISE eTeamLig:
(A)  priger Qurss Gauarrer 2 HuGS
B)  edefp, Qaueliui HéEh o drer eldsn
©C) swansy o el Qaeli@seafidn samBsa
D) seagg wrfle, walluea Gsstiselia Auonss o PusH

Poverty has been defined as

(A)  Lack of adequate saving

(B) Lack of adequate education

(C) Lack of adequate health
% Lack of adequate income

FPMLD eTemLIg)

A) Gumgiorer CaflGerenin
(B) Cungiwrer seellufenenin
(€C) Gurgwrer 2 LapaiSlamio

D) Gurgorer eumwranieaiano



3@

43.

‘Johanesburg 2002 United Nations’ Conference was on

&Y
(B)
©

Software development
Transport development
Community development

Sustainable development

@& pr@sefer wrprp 2002 Gla CuraCarevurade HLhsg. Gser Crrisd

A
®
©
D)

QuerQurer Cobur®
Curageurgg Gubum@
sqpa Guour®

Cuenrg s@ps Cuwun®

Which one of the following is incorrect?

(a)  Atomic Energy Research Institute is located at Bombay.
(b) Indian Standards Institute is located at New Delhi. -
(©  Central Leather Research Institute is located at Chennai.
(d)  Central Drug Research Institute is located at Bangalore.
(A) . (b)is not correct (B) (a) is not correct
w (d) is not correct (D) (c) is not correct
Weimeu(meuameudmieiT aTg) Heumy?
(@) @ Hn® rmiuss feewd Q,ﬁubmunﬁld) 2_aTeang.
M)  @pHu pr feowwud g AodSts smowt Qupgerag.
(© m,’sﬂt;.l Camed rmisél enowib Qaareanier o areng.
@ wiHu wmpe ITLE @wwb Quiisesia sl Qubpisrens
@A) B wlfn gy (B) (a) vlfwb sy
© (@ wlobse D) (O vLfid pap
Globalisation mainly signifies
y Economic integration (B) Political integration
(C) Social integration (D) All the above
2 OSLWITESLILIL D eTgenen ifleymbsiflanng? .
A) Qummemsty Gidaeniiy ®B) srfus prdaaniy
©) sewsemidoariy D) Qoo simeigd



71.

78.

79.

w
10.

"~ “Phygiocrates” mean’s
X:ule of nature (B) Artificial Law
(C} Legal Law . (D) Production Law
Bupensairsd cranmmred
(A) Qupwsier A (B) Qswpens el
©) e pflanel) : D) epusd «af

One of the objectives of Eleventh Five Year Plan is given below. Choose it correctly
(A)  Toreduce the dropout rate in higher education
To reduce the dropout rate in primary schools or education
(C) To reduce the dropout rate in teacher education
(D) To reduce the dropout rate in secondary education

ugiCamraugs hsram® AL ghen LLCauy Cpréstsend oy ECps AaTHEsHLLHeTerg.
2igamans CaipesHésan sflurs.

A  ewrsoeile G Hihpae Gopnssn

(B) Qg iss sveflfe oL Fipare Gopsso

©) Aflursdcdkla Qe fppeane Gopsssd

D) QeLfiows soadube Qofppas Gonsse

- ; ;
“Which sector is not included in the occupational pattern?
(A) Primary Sector M Private Sector

(C) Secondary Sector (D) Tertiary Sector

Qpmflesnt euens Gifleneu snyng gienp egI?

(A psan@ws Ho B) saflurt gieop

(C) @ueawrmb genm D) emiyg geon

Under the 13t Finance Commissioﬁ. the highest fund trﬁnsfer was made to which state?
(&)  Andhra Pradesh (B Bihar
V Uttar Pradesh - _ D) Tamil Nadu -

| 13-ag PP Gl &, aifsuls B @5sd0 aps wifesdbE ,s;'rc.uf_-g_gn

A)  @iBno GrGssb _' ®) Sani
©  edpridrGpsnd - @ pApp6



12. Which programme was started with the objective of reducing scércity in rural areas by the
construction of civil works of permanent nature? .

{A) Small Farmers Development Agency
' M Rural Works Programme
(C) Integrated Rural Development Programme _
(D) Mahatma Gandhi National Rural Employment Guarantee Programme
apss HLb, Pewwrer - sLBorerd -L!suﬂaaanar a_@mn&(g,mgj apatd ﬂumu.qmrhsaﬁéa .
uDPTEG@D®IL GMPEGID CHrédd Frounsiu L g? '
A &gy ammga@aﬁcmﬁm paEeio
(B} eﬂumm;lqp I_Iﬂlﬁ-sl'_l_l.b
©  pordeanpg cars a:smrsél,s ﬁl_l_u:! |
(D) to&TSLO snhd Caélu dpmoviy Gasma mquﬁ Al

13. Who advocabed tax on expend.lture"
(A) Blmaljalan
@ N. Kalder
(©)  Kenneth Arrow
(D) Paul Samuelson .

Qeevey auflenw SdlpstiuB Hweur wimri?
(&)  Qurogere |
(B) N. sméf

(C) Qaenens Com

D)  une EmapGaudaan

14. Non intervention of the Govt. in production activities — the pohcy is ca]]ed

M Laissez-Faire Policy
(B) Macro Economic Pohcy

{(C) Monetary Policy
@) Govt. Policy

e pusd pl_mq.mssdﬂw UL Ga;rrmmrn.nen BmEEw Asrdatmns
A) paool_rs Qa;lram)&
B)  CuAlweé Aurgerngry Asrdrans
©) uverelwe Qardias

(D) =pden Asrdatens



20.  Which city is not included in the building of smart cities signed by USTAD?

21.

{(A) Vishakapatnam

USTAD avsQupgil L sownite. pay sL[Hpedle erhg pamd sTipSHdme?
(A) derastiucamnd ’

®B) seGwrgr

© o -,

D) wsmung '

Which sector gbt-the highest allocation in the Twelfth Five-Year Plan?
(A)  Energy | |

@ Social

(C) Transport

(D) Communication

12-cup BT AL B aTsE SIMDEES s ApT0s REESILLLE?

A)  efised g
B) swshgap
) Curégausgs sieop

(D) Qaree@zriys gop



23.

24,

25,

India joins the Big-5 preserving the ICBM Bxg-5 mcludes the US, Russia, Chma,
and . .

(A) A_ustralia, Franog
(B) Australia, UK *
(C) France, Poland .

W France, UK

ICBM WQanen mmm,sges Qanam(® Qp@u.lrr ‘Qupid- -5 eramuCan® Gaandlpg.- ngm-s e
WG, (FEGUIT, CHEET, L HOILD prHsener Ghlégn

A) < Cyeilum, SuSgrency '

B) v HCrellwum, (y.Cs.) gsfw Cuprs

(©)  JQgmene, Gurenbg '

®) SQyrenew, (1y.Gs.) mfsﬁu Guyys

Where was the 18“' SﬁARC Summlt held?

(A) Bhutan g Nepal
(C) Srilanka ' ' (D) Maldives
18-cug &riré 258 LIETE peo Aupp G b |

(4) yimen _ B) Gpumemb
0 - UBeksr " D) wvresdey

E Consider the following statements. Pick out the oorrect statement

I. Sardar Sarovar Narmada Nigam project to create solar énergy from the solar panals
along the river canals of Narmadha. '

'II.  Deendayal Upadhyaya Gram Jyoti Yo;ana to proude access. of electnclty to rural

households across the country
A Ionly ' (B) Ilonly
W Both are correct - (D) Both are wrong

EpsanL spap saailss sfluren sl eow CarbAzH

I. sigmv sGonai piogr Hand. HiLd progr pfler srderden Gwmurmtﬁlm @
 UemssmET Sawdg e sunfisgb SIS,

II. ! ganguirar 2 LgmLIT &ymo Gy GumrgeTT HILGEIETaT CTDRT LS aS@mtﬁe: Wengmmb
QPRI GUFHETELD. ,

@ locgb . _ ® IMope

© Qran@Gw s - . - D Qrer®e seum



62.

64.

70.

The scheduled banks are those which are _éntered in the
(A)  First Schedule of RBI Act 1934
M Second Schedule of RBI Act 1934
(C) Third Schedule of RBI Act 1934
(D)  Fourth Schedule of RBI Act 1934

SiLLamanild Carésliul L aikifadr aps SiLamamid @ Glu_rpgcrrerrg
(A& e i Leuanam, Gl Reitel aukid &1 L1b, 1934

® @ml_nm SiLLauenen, @b Maras cukid 1o, 1934

©  apémmb i Lauamesr, BpHu Asies auriudl s Lib, 1934

(D)) prrdna;rrr.b DL euenen, @bHw Rare ermd &1, 1934

In the system of currency notes, wh.tch system is fo]lowed in India?

(A) Proportional reserve system

M Minimum reserve system
(C) Maximum reserve system
(D) Fixed reserve syatem

LewT Gpsrr;@sm QiprGsdlL, Bawuraiia TS q,psnm Qemuppuupéng?
A eﬁaﬂ,srwrru &Iy apenD

B) @@pbEuLs sty @D

© @fsulsstiy e

D) Heewnen ariiy gpep-

Which state launches e-Raksha centre?
A) Haryana - - M nga.rat

~ (0) Maharashtra X (D) Uttarkhand

e—jéayn ewwsems mbiss Gurdp wrflew erg? _
@A) apfiurem - ® e
©) ' LD&IT T Gigplg (LD I _ S D) e gsrarar



71

2.

Which two countries recently restored their ties after 50 years?

/ United States Cuba ' :

(B)
©
)

United States —  North Korea
Cuba - Russia
Russia - South Korea

Sarepied aps P prhsdt 50 yrPsa sP5H 'gﬁaaﬂsin Agr_ieu BB qhuBEHE

QEnaw_en?

A) sQ@ofssr - Hyor

(B) QufésT - euL@asmfiwr
©€) Ayur - paywm

D) pegumr | - Qgé:f;la;rrrﬁu.ur

13% NATO Secretary — General, Mr. Jens Stoltenberg belongs to

A

New Zealand -

CoplCur [NATQ]aller 13-augy Qesricfl Querrd S, Ggéuio GLrdLmEUTE eThs prn_cm_;

-

Csipgaur?

@ . Puberps
B) miuner

(©  priGa

- (D)

GiGrfdé



96.

97.

98.

Which market is an ideal form of organisation which by providing easy liquidity encourages
the public to invest and this brings out the latent surplus in the economy?

(A) Commodity market
(B) Money market |

&’ Stock market

(D) Exchange market

QummeTreTrEAG ahs ég‘r,m,s arefigren Birenaow ms@sﬁlw Gurrglm&,sém paes® Qe grerg.
wenppglierer 2-uflepw Qeuell Aaramridenn Bemwliy ? '

(A) Qurmer sheng

(B) uswé sheng

© ungshwp

@)  Qsoramf oo shes

Who was the Chairman of 1¢ Finance Commission?

(A) V. Carnol ' (B) S.Benjamin

@’ KC.Neogy ®) HT. Riyog

apsoraug Ff penamuGden SenaauT wimi?
(&) V. sterd _ - (B) S.Quengar -
© KC. fCurd - ‘®) -H.T. HGuns

The term “PMAY" relates to '
(A)  Fisheries @ Housing

(C) Stock market (D) Diamond market..

-~

“PMAY” erenp end arengé @hlading?
(A)  BensbuBsLLCL Agmfld (B) &S@2@urEgse
€) uniEgarggsd . o) .msuq CUTEZED






105.

Consider the following statements :

Assertion (A) : Tenth Five Year Plan period was 2002 — 2007

Reason (R) : Priority was given to reduction of poverty and population growth
(&) (A) true but (R) is false

(B) (A) false but (R) is true

W (A) and (R) both are true (R) is correct explanation of (A)

(D)  (A) and (R) both are false (R) is not correct explanation of (A)

EpserL s penp seue

gafly (A uggreg gpsra( HLsder srad 2002 — 2007

smyemrd (R) a.nr_mco);n OO &S Agnans cuetTéfleaw GoDssasd; waayflain
A)  (A) sfl yamre (R) eramugy saugy

B) iA) seum peme (R) ereimuigy &l .

© @A) vpgw (R) @ren@o &M (R) aenig (A) dlpe sfwren eflenésid

M)  (A) wppw (R) @resr®ib seugy wpmpd (R) eremig; (A) el sflwrer elarésd Swe

119. Which country is set to become the firstever cashless country in the world?

\‘Q( Sweden

.. (B) Netherlands

(C) Japan
(D) China

' ars Goar uflauismamu 2 @ssdo QruoduBssaiipGL (o Bl ogi?
(A)  seSen
(B) OpsrCaer e
(C)  spiuimen
D) e



122. The New Science ECONOMETRICS’ is a combination of
(A)  Economics, History, Physics
\,(-B‘r Economics, Maths, Statist'ics ' v
(C)  Economics, Maths, Computer Science

(D)  Economics, History, Ethics

‘eyereflwd Qur@aTTsTyb’ erengyd LS w idledlued &g&#&rr_mgfjgsh ereumenm 2 arem_&dluigy?
(A) Gun@qﬂwé}. aurerm, Qupluid ’

B) Qurmelwe, safign, LerafluGuie

© Qurmailwe, sefign, seflafll oibeflwe

(D)  Qurmefiwd, eugermy, Hn@uied

123. Central Government’s Indradhanush Programme is related to
(A)  Rivers Link Programme i
W Immunization Programme

(C) Rivers Cleaning Project

(D)  Clean India Project -~ ;

wsHu sirfler Qodrsaics S b Qe er CsTiimwg -
(A)  phssr @eeriy AL id '

B  s0LydsH b

©)  phaer gnievws S b

D) gniew @bHwur Hi b






168. deals with the socio-economic development and empowerment of women
through self-help groups.
Short Stay Home (B) Family Counselling Centres

\)ﬂ( Swayamsidha (D) Skill development

AL Queansar au egals Gussear Gurap HlLmser eflursl
Quermsefien sfamrs @ellly wHHIb sepa’s QuiGeatsy eueTTfssren cufam HEps.
A) Epiuste @daiser B) EObLU YCaTFMET ELLWILD

(C) swbedgT D) Soper Cowbur®



183.

184.

Which state launched e-Pragati in 2015, a scheme to bring all government services under

one roof?
Andhra Pradesh
(B) Kerala

(C) Uttar Pradesh
(D) Delhi

275 Cemausar smangasud @Cr Ger e &) Qaran® aumaugpsrs e-Pragati erenp H1 gos

20156 gausdlu wrhlewb ag?
A 2pdr AWCsand

(B) GCsyerd

(€) 258r 99Cssid

D) QAuéved

Which state government has launched Anwesha Scheme in December 2015 to provide

quality education to scheduled caste and scheduled tribe students?
(A) Jharkand
(B) Chattisgarh

\&r” Odisha

(D)  Manipur

SMPSFUILILL. LHMID UPRIGLY. OTERTEITSHERSE ;;ir;u)rran Qews soal LldusnE el Qauuyb
‘sienGeusm L gamg e wrble s gebur 20156 Ggmridug?

(A)  grisear

(B) sledvsr

©)  eqer

D)  weigy



188. 70* Anniversary of United Nations.Foundation Day was on

W( 24 October 2015

(B) 12 October 2015
(C) 21 October 2015

(D) 15 October 2015

pidw prpsdar Hpelugen 70 Qb emgen Hlanpey et
(&) 24 »5Cumuir 2015
B) 12 &&CLruf 2015
(C) 21 &&GLmui2015

D) 15 &CLnmui 2015

198.  Which of the following is called as an important agro-based industry?

(A)  Steel
(B) Cement

\A( Sugar
(D) Jute

Spsaramuanaipier Bs wpadluiorer GauamamannCu S SUMLWLTEE Qarear Qzmfle
A)  Qmvy e |

(B) &Quwedr

(C) arameny

D) sewer



Match the following :

(a)
(b)
(0
(d)

(4)

]

©
(D)

National Academy of Administration
National Police Academy

Foreign Service Institute

National Forest Research Institute

@ ® @©
4 3 1 2
3 4 2 1
2 1 3 4
1 2 4 3

Sleireupeusnaupenn GuUT(BSEIs :

(a)
(b)
(c)
(d)

(4)
(B)
(©)
(D)

Ggélu fireuns sdellwad
Caélw a:rrmd)g;a)m s@eilush
Qeualipr® wesfl Flmeuemd
Gaflw auen prmiiEs Hlpieuend

@ O @ G

[T = B ' IR~
I e

1 2
2 1
3 4
4 3

B O

e b e

Dehradun
New Delha

Mussoore
Hyderabad

Cupn@en
Hlw, Gt_cded
apGanfl

LETTUNS



15.

17.

The Chairman of the 13t Finance Commission was

8/ Dr. Vijay L. Kelkar

(B) Y.V.Reddy
(©) R Chelliah
) LK Jha

13-aug Bidlé @pellen senaeut
(A)  LméL. g eréd. Cadai
B) gl Qi

(C) gy Qedaninim

(D) ere.Ca. g

Applied Nutrition Programme in India was started in the Third Five Year Plan with the
assistance of

4) UNO - (B) WHO
f UNICEF (D) CARE

Ppflureiler eperpreug mhsram®S AL srwsd ArCurdssi L oam’1_&55g) S Lwneng @b
Semliber 2 gelflu_sn Qgm_rsiul_L_g

(A UNO (B) WHO
(C) UNICEF (D) CARE

Which of these state group is visible for wide inter-state disparities in the poverty ratios?
W Bihar, Orissa, Madhya Pradesh
(B) Karnataka, Kerala, Tamil Nadu
(C)  Punjab, Haryana, Gujarat

(D) Bihar, Tamil Nadu, Gujarat

aps wrhletsedld, wrflonseErse @ Cuurer e dlfigrsmy Cagunh sifserellé

D eang?

(A)  Senir, pfler, wsdw GrCgsi
- (B)  srpm_sb, Gayern, 50 HrH

©)  ugen, aoflwren, Ggrrg

D) - Sanit, 518 Br6, GRS



18.

19.

20.

Which type of unemployment is common in Indian agriculture?

(A)  Structural unemployment
Seasonal unemployment

(C) Cyclical unemployment

(D) Technical unemployment

aig auans Gauamauileaneno, Qbdlw Geuerrarmenoudleh LgeuaTS 2 drerng) ?

(A)  S@wiyFsniss Caumaulianemio

B) ume aTaw FnitE Coumauiaann
©) syppé sripg Caimauierano

D)  Cgnfagib srips Gaimaulaamin

The cause of unemployment in India is not due to
(A) population explosion
(B) inadequate employment planning
rapid development of industry
(D)  poor manpower planning

@iduireilé CaumaamiiiGenanind@E B& STTaLD e
(4) wvasagnms Quméesn

B) Cszaass @opeunar Ceuamaeumuiy Sl
(C) Gasmfale gfls aperGardmid

D) vellsauas S sHa gepur

National Income in India is estimated by
(A) Planning Commission

(B) Finance Commission

(C) Indian Statistical Institute

w Central Statistical Organisation

@iduneile) Cgw aumomamd wWryre semmad_CiuBhEng?
@) fiisy

® fosew

©) @rdw yereflu@uied Figeuand

D)  wsHw yereflufwed ety



23.  Which one is the problem of unorganised women workers?
(A) Equal remuneration
(B) Fixed hours of work
w Occupational discrimination
(D) Economic independence

Epsar_eupile senwlysmt Quer Qemfenenisefién Srssanen ag?
(A) swemFuid

B) @EiudlL wesflwerellerar Ceuames

(C) Qamfle (Ceuena) efigHuimsh &err_Hge

D) Qumenrgny &HHTWD

26.  Which one of the following is not an objective of education?
(A)  Education needed to complete the socialization process
(B) Transmission of cultural heritage
(C) Education needed for reformation of attitudes
w Education needed for promoting dowry system

Epargpid sdellien Cpréshaaiie aps ganmy swaluier Grrisd Edama?
(A)  sadl sepaLTEsEES Coeana

B) sodl sanFsry wrHpsdnEs Comeu

(C)  &ddl wenuuriiflenar &idposh AelaushE Camea

(D)  seell aurgslgenemt (pepept FHUBES Cganeu



29.

30.

31

In which year was the Prime Minister Rozgar Yojana Scheme launched?
{A) 1990 (B) 1994
© 1995 w1993

Wirgio wpdi Grrgamt Guirgan aThs e eumislILLL g?

(A) 1990 (B) 1994
(C) 1995 (D) 1993
FCRA stands for

M Foreign Contribution Regulation Act
(B) Foreign Conventional Regulation Act
(C) Foreign Collaboration Regulation Act
(D) Foreign Collaboration Registration Act

. 8. BT eTeTug) Tnsd HblEEng?

A sreuCgs unsefliliy apeplL@SHID 501D

B) sreuGss aupssmiser Wp@pLILHSSHID FULLD
(C)  sreuCse QenammiSenen wepmUiL(HSgId &L b
D) sruCss QaariGaman Lflay Qsiiub & L b

The National Rural Employment programme was originally called
(A) Antyodaya Programme

(B} Integrated Rural Development Programme

(C)  Training Rural Youth for Self-Employment

M Food for Work Programme

Ggflu oarys GeuenaeumiiiLys S Lt apenanmad erpsl QUM SevpsslirLg?
A)  opCGsrgur it b

B) goudaarhg cars aerréd S b
(C) cams Qenengpi Cauemaeumiliyg S Lib

(D) e erdparer Gaimaeaumiinlg L b



32.  Under whose leadership the National Policy on Education was adopted in the parliament?

(4} India Gandbi
W/ Rajiv Gandhi
(©) AB.Vajbhai
(D) P.V. Narasimha Rao

Cpélu saells Aaraias wrpaLu pawamoblen §p un@swamse qoupssILLLE?

(&) @bhon snph
® g ans

© AB angumn
(D) P.V. ppdlibw gras

37.  Consider the following statements ;

Assertion (A) : The employers of various business establishments employ children to
maximize their profits.

Reason (R) : Employment of children leads to economic exp]o_itat'ion of children.
w Both (A) and (R) are true and (R) is the correct reason for (4)

(B)  Both (A) and (R) are true and (R) is not the correct reason for (&)

(C)  (A) is true but (R) is false

(D) (A is false but (R) is true

Sp&sngyid eunsdwiriisener sauerf) :

adp @A) 1 uaGap awfs/durm fgaemsd sgtsdd Qorusas HPsuGEsMEDETS
Gyphengsenar Liaxfluila 2joissdlament.

smamd (R) @ gpbessar uaflded swisgasa mob epsessan Quigansty fwns
sy Lu(pdlernriser.

(&) (4) wpmo (R) @ran@Cuw &, Cugutd (R) arémug (A);a&?;b@ sflwren eflargsid
B) (A vpgd (R) GremGCuo &, Cugud (R) eremug (A)-elp @ sflwrer efleréswde
€ (A sl gyame (R) seu

(D) (A seup syemma (R) &)



38.

39.

48.

Which year was observed as the “Year of Women's Empowerment”?
(A) 1986 B) 1991
(©) 1996 wf 2001

g e duamsafiiar sifsm Ldiey/Cuobumn () gen s sa g ssulLg?
A) 1986 (B) 1991
(C) 1996 @) 2001

When was the Ministry Of Minority Affairs in India created for the welfare of the
minorities?

(A) 2 Oct. 2005 (B) 14t Nov. 2005
(C) 5% Jan. 2006 @ 29t Jan. 2006

fgunerepwidlart peen Gubum iy Hars sL@Aurigs @pdurei Apurenenwulentt (peverr) sl eusys
gy AsmksliulLg?

(A) 2 &Crur 2005 (B) 14 peubuii 2005
(C)  5geraufl 2006 (D) 29 genauf 2006

Housing for all mission by Central Government is to be implemented by the year

W 202 (B) 2025
© 2023 D) 2021

FaCarmagd @ aan wiHu srsmasagdar GHaGard ahs g HEE dFLDLBSHILIL
o emeng,)?

(A) 2022 (B) 2025
(©) 2023 D) 2021

50.  The national symbol for the rupee was designed by

w' Udayakumar (B) Sundar Pichai
(C)  Tiju Thomas (D) Hardik Patel

murdlen Caélws @HuS oL eugamwgse
(A)  esuEonr B) apgir dems
C) g gnos D) epriféLGLe



54,

56.

57.

With which country India held the Desert Eagle II bilateral military exercise?
(A) Saudi Arabia

W United Arab Emirates

(C) Kuwait

(D) China

b BT HLen @hdwin “‘Lrameaen sg@ [I” erenm pregieu e L dnun® e pdaw pLsBiig?
4) syl SCmwn
(B) weanGLL &y erfGm av

C) @oag

D) &

Bank chegques use the principle of

(A) OMR (By OCR
w’ Micr (@) CIMR

cuBidlsaild, Qs LU HES g L& WETaTenswnearsl
(A) @.erb.y (B) o8
(C) eTih.gp. 8. oy, (D) &genb.y

Which state has become the first Indian state to give pension and food benefits to

transgender community?

(A) Rajasthan

W Odisha
(C) Uttar Pradesh
(D) Gujarat

@pdursiléd psaeours ohs LiHen SHeEres sWsTUSHADE @UESuID WLHHID 2 ey
Fayiensser euprifluig?

(A)  grgeugnen

(B) quer

(C) 258y AnGssd
D)  egIs



80.

59.  Which of these is not a G-4 nation?

(A) India (B) Brazil
(C) Japan W Sweden
@andao G-4 prl) swarsg ergl?

A @Gndwur (B) AQGréa
(C) mlunen (D) seSLén

Which of the following is a campaign to resue/rehabilitate the missing children?
(A)  Operation Shield
(B) Operation Cactus
Operation Smile
(D) Operation Bolster

BeupBler sremmmiod) Gearp SHieutsenar BLs/peumpessner Grssnmb erepeu?
(A) ﬁ,ﬁﬁﬁﬂqdﬂ efeL

(B) liCpegen GaaL e

(C) uCGreger svenoe

M)y  Creger CumaevL T

87. ‘Begging’ means
(A) receiving food
(B) receiving money
(C) receiving food or money

d soliciting or receiving alms in a public place

G&ens sTRILIG) eTaTLIgy)

(A) e amee Gupeug

(B)  uenb Qumeug

(C) o awe) g uamnd GLmeug

(D) mssmer Blig Qurg GLs8d wréluug)












98. Match the following :

List I List II
(a) The Mines Act 5 i 1948
(b) The Child Labour (Prohibition 10 1951
and Regulation) Act
(¢) The Plantations Labour Act 3. 1952
(d) The Indian Factories Act 4. 1986
(a) (b) (c) (d>
Ay 4 1 2 3
By 3 : | 1 2
@ 4 3 2 1
3 4 2 1
Qurmsss :
LU guié I L iguwiso 1T
(2) &rR&s s L b 1. 1948
(b) Gybaegdsmflanar (S HoID 2. 1951
PPEGPEODEF) FLLLb
©@ CamiL Qemflevmeni 5L 1b 3. 1952
(d) @ndwu Qemflibhename s b 4. 1986
(a) (b) (c) (d)
(A) 4 1 2 3
(B) 3 4 1 2
() 4 3 2 1
(D) 3 4 2 1

118. Mass poverty is the result of
(A) moderate economic growth
(B) moderate agricultural performance

‘W slow growth of employment opportunities in the organised sector

(D) deflation and non-food prices

Quflw SeTelleme cuMIEHLLEETEN ETTERTLD

(A)  Bswrer Qur@eTTENy oueTTES)

(B) WVswrer efleusmu Gewe

(C) auemiadl gyeonasafia sramiu@b Qugeaire Gaimaeimiliyser

D) vewaiss Gaona| LHMLD 2 areleTyTg eflaaser






125.

126.

128.

In which year was the National Policy for the Empowerment of Women implemented?

w2001 (B) 2000
(©) 2005 (D) 2002

g LD Cadlu sianefleorer waeafit Gubum’ (4 Qsrerens 2 (eureang)?
(A) 2001 (B) 2000
(C) 2005 | D) 2002 .

What is the current law against Immeoral trafficking in India?
(A)  Suppression of Immoral Traffic Act, 1956 (SITA)

W Immoral Traffic Prevention Act, 1986 (ITPA)

(C)  Declaration on Suppression of Trafficking, 1950

(D) CEDAW

@nfureie sHCUNg Lrsa@L sHLIL Aamturs euDDILFHD &L LH aTg?

(A)  urssenenn @H&EES (e sLLID, 1956

(B) updgeenw sRILY sL_LLb, 1986

(C)  ugggenene sHUIY SrsLamnd, 1950

(D)  Quens@rse afyren SIDRTHSINFLONE LUTGUTHE®ET SENETULD wryeuldl apanp

Which of the following statements is not correct as per the National Policy on Education?
(A) Elimination of disparities in the educational system

(B) . Improvement in the quality of school education

W Increase the salary of eminent educationalists

(D)  Involvement of the community with the educational process

Epssramib GCaflu sdeils Qamdransule eudlluypssiiul Hearer spoisaile g seupTer sapm?
(A) seell gpenpulled 2 drer LTGLIM L& senenge

(B) uerafls scedluller srens CubL@B 550

(C) yepQupp saellwnerisefier sbuMmBms 2 LTESISH

(D)  seeulier Qewaur@sefle sapgrugagyb LREOUDE Qaiisd



129.

As education is an important variable, which one of the following factor is not affected by

education?
" (A) Marriage (B) Fertility
(C) Migration M Age structure

sasflureny woCap aédu urdiuysamer ghudssdlap péfwwnrar sryiurs @@é@él.b
ulsgha, Epsargnb snmrenflsallc aps genn soeflurd urdssiiuBGagama?

(A)  Hmoeand (B) Qmiy

©) @rieQuuirged (D) euwg &L e

130. Which one of the following is not considered as vital event?

134.

(A) Birth (B) Divorce
(C) Death W Migration

Epargp b crencuseiicr enm 2 1N MmEE SFHTTLTE FHME araran iuGaddeme?
(A) Amiiy (B) dflansrsg
(C© @nay D) @ bGAuwirge

Consider the following statements :

Assertion (A) : Unemployed people are not equally distributed in all the states of India.
Reason (R) : The growth of employment per annum is only about 2 percent.

(A)  Both (A) and (R) are true and (R) is the correct reason for (A)

M Both (A) and (R) are true and (R) is not the correct reason for (A)

(C)  (A)is true but (R) is false

(D) (A) is false but (R) is true

Epaargy b cursuiisenen éi@uenﬂ -

apg (A)  : @bdwrellan  senanss e disefigyn Gmmmu&]wwwgmr‘r&d{ FDIDNS
ugelludméaeildena.

anyemrd (R) :  Geueneveumisiy auenirad) gqm 2T DG Grar® spaisw WG 2 drerg).

A) (A wpmid (R) @rerGGu &, Cwogib (R) sremug (A)-eflis sflwnren elengan

B) (A vdgbd (R) QrasGCuo af, Cogiib (R) eremug (A)-eflh@ sMurer eflerssinda

© (A sl gyame (R) goum

D (A seum gpemad (R) &



136. Match the following :

List I _ List I1
(1) Adam Smith 1. Poverty Line -
(b) Starvation Line & Relative Poverty
(¢) Indian Planning Commission 3 Wealth of Nations
(d) Subsistence Poverty 4. First Director General of Food and

Agricultural Organisation
5.  Absolute Poverty

(a) (b) (c) (d)

4 3 4 2 1
B) 4 3 2 1
o 3 4 1 5
D) 4 3 2 5
Qummegs :
U iguied I uguwe IT
(a) <L beudls 1L eamewnd Car®
(b) ulgafsCar® 2. guuewapew
() @pduCsiwdLs ey 3. Cgemsaflar Qeseud
d) eanpausHE ssflureudluioren 4. ocawey wpmid dleustw fpeengfler (pse
QUL a6 aumenin Qurgé Qewerr
5. LLTERTLOT &I/ ©_GRTEDIDIITET GUIIEnLD

A 3 4 2 1
B) 4 3 2 1
G 3 4 1 5
D) 4 3 - 5



148.

139. Which programme was launched by Prime Minister to build bridges for safe travel on

National Highways?
w Setu Bharatam (B) 5E
(C) Rurban Mission (D) KISAN Project

Cséu App@Germmsedd ungsmniuns Asde uransd Hpe drge wpHRund e parssiuL

b ergy?
(A) Gsl(@urs : (B) & l'-T
(C) piruen Begen (D) Aanen LD

147.  The National framework for eradication of Malaria in India is to be completed by the year

W 2030 ‘ B) 2025
(C) 2022 (D) 2032

Ceflu s L8 serwiy wCaflurma abs aumLsnaea wodgid WLLSHE BLeugsamEamiL
ST(RSg eTaTg) ?

(A) 2030 _ (B) 2025

(C) 2022 (D) 2032

During which year India become the member of ‘United Nations Organisations’?
(A)- 1950 _ (B) 1947
v 1945 (D) 1960

b aTh apsd @S g 5. Feun 2 mlilayts Geibss?
(A) 1950 (B) 1947
(C) 1945 (D) 1960



154.

Expand OROP in India’s Defence Sector

W One Rank One Pension

(B) |
(C)  Only Revenue Others Preferred
(D)  One Ration Others Perish

One Rank Others Perish

Qs @rraye sibupsons OROP - eranugn @ ef fleunésin

(A)  qppsil_in ppa Gueayen

(B) gl id wpperel rLTED

(€)  eummemb L. GHib wHmeme el pUULL@E

@D e Cresen wppees wTLLTED

157. In India the persons with disabilities (Equal opportunities protection of rights and full

participation) Act was passed in

4)

1983

o 199

(©

(D)

1996

2015

Buerew adrer pui (swardiy, eflew urgsriy wppib e uksefiiy) & L aps Syam®

@pduneie QanerPairiiuc L g?
(A) 1983
(B) 1995
(©) 1996

D)

2015






161.

162.

The 13th ASEAN — INDIA sumn;xit was held on November Zlﬁt; 2015 at
M Kuala Lumpur

(B) New Delhi

(C) Colombo

(D) Jakartha

uflepenpraug dlw - GBS swU pasbdui wIED 21-6 Gsd 2015-a EpsarL eTbs HETHED
perLQUpDEI?

(A) GCsmeomabyy

B g
(C) d&ﬂ@tbq
(D) gamiggn

Name the indigencusly designed and built torpedo launch and recovery vessel,
commissioned in Nov. 2015 into Indian navy

(A)  INS Arihant

(B) INS Vikramadhithya
(C)  INS Delhi

M INS Astradharani

paubui 2015-é @iureiGe aigambbsLLL e reunEsLLLL, &L semadlamar S
opmb BL& e Faib, SLHUMLEEG sbusH SitiuefEaiucL suUen @uwit wrg?

(A) INS Arihant

(B) INS Vikramadhithya

(C)  INS Delhi

(D) INS Astradharani



166. Which of the following African country was to adopt Chinese Currency Yuan at its main

currency? '
i( Zimbabwe (B) Sudan
(C) Ghana (D) Nigeria

Epsar aps udfssn pr@, gen priydn (e UMTLTS mEmTellen WM LMTEmS GHm

Qanareugrs Siblell Ggerarg ?

A) gObunGey B) @Lran

(C) smen D) eopgfiwur

167. Choose the correct pair :

Organizations Disciplines

(a) Royal Swedish Academy of Sciences 1 Physics, Chemistry and Economics

(b) The Karolirska Institute 2.  Peace

(c) The Swedish Academy 3.  Physiology and Medicine

(d) The Norwegian Nobel Committee 4 Literature
(a) (b) (c) (d)

o 1 3 4 2

B) 4 3 1 2

Q) -1 4 3 2

D) 2 4 3 1

silwrar Ggmgeanw Gaiey Qalis :
@(po LjeoLd

(@)  grwe eveiige HGHLL By engeren A QumSlwe, Ceuduwid, Qurmartgmrd

(b) &Crrellevar 2. Sjanindl

(¢) oveliyev HCsLbl 3. 2 L aflwed wHmid wmHgeuLDd

d) prreSgluer Crmued sl 4. Gesdud

@)

(B)
€
D)

(a) (b) () (d)

[ T T S - S
— R R R



168. 103 Indian Science Congress Programme was held in
(A)  University of Madras
W University of Mysore
(C)  University of Bangalore
(D) University of Hyderabad

103-eug Caél siflefwe Qauadl L ggwd peL dupp GLib
(4) Geaeman LOEMOEEPED

(B) @G ULEDLSEPED

(C) QuisgsT LdEDOESPSD

D) gpFITUTE ULBMRESPELD

169. The agency which signed an agreement in New Delhi during April 2016 related to Namami
(Ganga programme is

(A) CIDA (Canadian International Development Agency)
(B) W.B. World Bank

@ German International Cooperation (GIC)

(D) SIDA (Swedish International Development Agency)

gure 2016-gub yenB, pomd swsr Sl sdvsrer @iPureer guUpsD Qelg Gsream
Blmyeued

(A) s Qeuefipm () eueriéd] Hipeuens

(B) coseunid

(C) Qgiwef Qeuafipr_(® @uUBFD

(D) ssfier Qauaflpm_ B auantaél Hipieuenid






181.

182.

184. .

185.

The question of ageing of women was first debated at the United Nations in
(A) 1963, Brazil (B) 1945, Colombia
(C) 1954, Belgium W 1948, Argentina

msdu prpad semande Quanser auwg GHlss peedld GusliulL e[
(A) 1963, GCrdle B) 1945, QsraublSur
(C) 1854, Quégdlusid (D) 1948, orQgeng e

Optional protocol to the convention on the rights of persons with disabilities was adopted on

(A)  October 18, 2000 @ December 13, 2006
(C) April 21, 2004 (D) dJune 6, 2002
Buaremwn pui wrael Apdlgpep aiGurg aby QamaremiuCLg?

(A)  =&GLmui 18, 2000 (B) weourl3, 2006

(€©) gure 21, 2004 (D) g9en6,2002

Amnesty international is an organisation associated with which of the following fields?
(A) Protection of cruelty to animals

(B) Environment protection

ﬂ' Protection of Human Rights

(D)  Protection of historic monuments

Spaam gay sTauGss waraflly souligi e Agmiymw fpeuend
(A) dHones@ssQasdrma UTFETUL S@OULISD
(B) sppiGype urrgjésrn;uu
(C) weallg e Maw ungsruy
D) eaugerHm Aumer LTSI
“Man is born free, but every where he is in chains” — whose statement is this?

(A)  Aristotle
(B) Karl marx

d Rousseau

D) Mahatma Gandhi

weilgen sgpdrors SphesTaub, ermu@d aeCamGn Geanarsas Ll HeTaTne eremm s T
A) iflet_mig.eb

(B) ST DTTEHE)

(C) s Car

(D) LO&THLOM STHS



https://t.me/tnpscfree

https://t.me/sasiclasses



Match the following and select the correct answer

{a) Tax revenue 1.  Provident funds

(b} Capital receipts 2.

{¢) Non-plan expenditure 3. Sales tax
4,

(d) Value added tax

Taxes on income and expenditure

Interest payments

(a) (b (c) (d)
(A} 4 3 2 1
B 1 3 4 2

2 1 4 3

Dy 2 3 4 1
1l ereumeu arad henml) Quinmadl aflwamen E‘mﬂ';l_ﬁ!'u_l Cairey Gsls
{a)  eufl eugmeumi 1. eumEiETar eneuiLy E4
b))  ppagen aumeuri 2 eumeumd whmb Geae| Samer suflsdr
ey Al fdeor Qraay 3. el en e qul
(d)  wdly s g el 4 el Bleay fg)5 e s

{a) (b) (c) {d)
(A) 4 3 2 1
® 1 3 4 2
© 2 1 4 3
o 2 3 4 1



61,  The National Statistical Commission of India was headed by

(A} Monteck Singh Ahluwaliya ﬂr . Rengarajan

{Cy Raghuram Rajan : Dy V.K RV Rao
Elbdwreildr Emflw Lerafl efleur syenamub @eirg senaemiouile) smennbEmEES)
(A)  worarQug Sk cgpeumelluar (B) & Qursgmgsr

(C)  pmomd pgger (D) &l Co.zpiebl. gren

63.  The MGNREGS differs from other poverty alliviation measures in the following respecta

1. It focuses on income generation to the targeted poor.

Il.  Itis built around the notions of citizenship and entitlement.

1. It facilitates disclosure by'means of regular and social audit.

I\, Itoperates as per the directions of the State/Central Governments,

(A} landll & andlll
(Cy landIV (D) MandIV

MGNREGS Qp gpan gagn £ hsalid@isg Apssdn. cflssdd Capuhing.

I MGNREGS g8 1 gepsafian ayganiaa ofsfésn Canssqpaug.

Il 85 Gswisd 0HPD S lue 2 fawmu JHTTONES SsTar() o HUTESOULLS).
L. Qs iihs wind sopsru seraraiuuspsTa afiopapaama gl Gelpgy

V. wife wopod widu srssdian oasamsdais deududing.

(A)  Twpmsll (B) I wpmyod I

(C) Tuwpgw IV M Mospd IV

62,  The structure of Indian Financial System does not include

{A)  Industrial finance (B) Agricultural finance
(C)  Development finance d Deficit finance
BiHw AE apenpuler s awniy §saer Lﬂ'rm_ésﬂug_aﬂm .

(A)  Qamfle f8 B)  Cevermatr f

(C)  aanisdl B4 D) upprégenp H4

118, The ice-crystal theory to explain precipitation was propoundad by
(£ Tor Bergeron (B} E.G. Boven () TRichl I Davis
wenyp ebipidlenw afleufids Ll Uuigs Garl LT e & Reurddweur
(A v Guigiren (B) @l Gun@even () AéCed (1) Goeflsio



162. Which of the following is‘are incorrectly matched? Select your answer using the codes given

below

L. Credit creation —~  Reserve Bank of India
1L Commercial Bank - Accepting deposits

I'I. Reserve Bank of India — Control of eredit

IV. Quantitative Control — Scheduled Banks

A Tonly (B) IandlII
(Cy  ITand IV Dy Tand IV

Gerayraueaapfla ama sfurs Qurmssddma? Gy Qsrhésiul@der EHlUGsena
vwern(fdd o disd ailanaw Caitllsfés

L L & rharhmih - Bifued floie ek
I euenfls eudidlmen - ewdysed ghns Dardignsd
IHI.  @hfluen flers ewid - s_en s HOupss s
IV, eramemreney s GHum_{
[uyranD T - L e e Ui g
Ay Tl (B) TLiopgb IT
{Cy I wedmn IV _ (D) I whems IV

163, The phase of rapid growth of population in India falls
{A)  between 1891 - 1921
(B) _ between 1921 - 1951
between 1951 - 1981
(I between 1981 - 2001

EpSuretia dlanyeuren wéadr Cemens aumméd UL g Gésras sl SHd . oumib
(A) 1891 — 1921 sen(hisafla
(B) 1921 - 1951 sanHeaild
(C) 1951 - 1981 syem{Bzafilc
(D) 1981 - 2001 wyeim@zafid

167. Industry which is reserved for public sector in New Economic Policy

W Atomic Energy i (B) Cotton Industry

(C)  Sugar Industry (D) Tea Industry

ubu GQurmergar Qsraesdd Qurgigepler £ ops Asnfd Apaebd ¢Hs8E
Qaduiiuc L gy?

(A oeydlen g (B) umsfs AsmPle

(C) srgsmy AgmPea (D) Gslaas Qamfd

|https://t.me/tnpsciree|




168. Arrange the following sectors in India descending order according to the commeraial energy
consumption ’

* G
2,
3.
4.

)
g

©
(D)

Household sector
Agriculture
Industries
Transport

43,12
3,4,1,2
3,421
4,13 2

aafls s&f pardlan sqouecde Spssrgno @sdu gepsea @Qphg aflasda
afiesiuBsps

L
2
3.
4

(A)
®)
©

(D)

Poasson
Casemameno
Qzafipenae
Cursgeunsg
4,3, 1,2
3,412
3,421
4,1,3,2

116. Choose the new savings scheme introduced for girl child from the following :

(A
!

©
(D)

Suraksha Samridhi Yojana
Sukanya Samridhi Yojana
Sukanya Bima Yojana

Suraksha Bima Yojana

Quenr  Gpbogharea yHw Galliay S jHlen
Qan(assu.QareraupBldmbg Coiey Qe :

@A)
(B)
©)
(D)

sysegr sofgH HULb
ssanun sAEH b
saemur Swom ULb

sydegr Swr S

sflwmen

Quuweny

&Gy






176. Name the first Asian, who was the recipient of Nobel Prize for economics.
(A) Subramania Chandrasekhar
@ Prof Amartya Sen
(©) Haﬁobind Khorana
(D) Chandrasekhar Venkatraman

Gprud LS QubD SySluraas stihs wpd Qunmemgny Buenfiss Quuiioes HLGEs.
@)  suldgwafiu spHyGoat

(B)  Prof swigHun Aaen

(©)  ewiCaras Qamyren

(D)  spHrGsay Qeumisi_gmoe



184. Match List T with List II and select the correct answer using the codes given below the list :

ListI- List 11 =
Committee Purpose
(a) Dutt Committee 1. Industrial Licensing

(b) Wanchoo Committee 2. Direct Taxes
(¢) Rajamannar Committee 3.  Centre-States

(d) Rangarajan Committee 4. - Disinvestment

Codes :

(a) (b) (©) (d)
@ 4 3 2
® 1 2 4
& 1 2 3 4
) " 4 1 3 2

S euement [-m sl aman [[-Grl Curmsd owg sflurer uflae Spssrgnn GOHWSLHL

ueHla Asfey Gos -

DI 1_cuenes | o_euenant L1

G0 Cprésn
(a) ss56W A 1.  Gsmfnerena oigyod
(b) eumErs B 2. Coips aufl
(€) onggwenanit G 3. wiHu - wrHle spaser
(d) grusgrgen G 4. psmad Hmoul dumgie
4

GHSEaer :

(a) (b) (e) (d)
A 4 3 2 1
By 1 2 4 3
© 1 2 3 4
D 4 1 3 2

13. hlummmmdwmmmmmcmummmm
2012-131is .

(A) Eﬁ.npemant {B} 38.0 percent ’(G)/IE.Tpamnt (D] 31.7 percent

iBurcisn Cobo aupononien Cavemen giespide Quonp cﬁumam < HuEBLAUIES Libe
2012-13& .

(A) ﬁnw {B} Sﬁﬂeﬂ@tﬂ@ (C) 13.7 élyésl ('D) 31.7 eflpésn




14.

15.

Which one of the following is not the feature of democratic socialism?
(A) A socialist society aims at the removal of poverty
~  No faith in a mixed economy :
(Cy  Aims at the reduction of inequalities of income and wealth
(D) Aims at the prauiniun of equal opportunities to all
QurgiajenL e anpmuSD umﬁu.l &psam_ sppseie gapren mbdam sliqd sramfssad
{A) Gunﬂmm_m fpanpmusi far CHrisd apennamL g@uuﬂ -
B)  saly durgempmgis podsosdiaa

(€)  sypprusdaaaaiseian edanb, amorend @mmgﬂa s ﬁmﬂm gmmd:
D)  swesuEhdELh soorer saumioy seflssd

’Devaluauon i8 a measure of monetary aul;htmty
Which of the following item does match the below atat.ament'?

‘__,J‘Af To reduce the foreign value _-:nf the domestic currency mainly to increase exporta

'(B)  Toincrease money supply
{C) Toincrease the current account deficit
(D) Tocontain inflation

‘uamndly Genpliy pﬂmu.l .ﬁqﬁmﬂﬂmm&g sl @mwn@h‘ .
@55 sppy EPCSTHESILLDETEN TS SOBS5IEE AUNHESUOLILSTELD _
(A)  gm prigd ghpofl sacdeoa sfisfiougpars siprb seg merrqp e p et

. Lenenm_ () whllGenar @anpaEn dewd BLcuy S )

- (B) ecapm (uss srdlaman nflsfigh apupd

16,

(© ﬁwumssumwmﬂmaﬁﬁﬂ@@wﬁ
@) vemeSisionn sLOULOSO Gupfl

Proposal to setup India's firat wn-men bank was mooted in union buﬂget

/m"zma—u (B) 2012-13

63.

[f]) 2011-12 : I 2010 -11

. @pSwnclan apsd “wsali el ereanp Cuimsenen ————— ugHu aupa-Glrwe| S S0 qpan

(A) 2013 - 14 t B) 2012-13
(C) 2011-12 . M) 2010 -11

Human Development Repo:t of the wm:ld prepared and releamd by

ey

{B) UNEP
(© IBRD
@) ADB

o asarellh wafls aiar Cobun( siflsasmug ;un'ﬁil'sg QaafilBdenp Hpeend

(A werdng.d . '
® wyeramuSd

(C)  meSegpig

D) a8



17. Choose the correct answer: Which was the plan that began with the slogan of removal of poverty?

1) Sccond Five year plan 2) Third five year plan
3) Fourth five year plan /ﬂ-‘nﬁh live year plan

18. Consider the following: Assertion (A) : Former soviet Russia gifted planning to the world Reason (R) :

Lo
»

4

For it was the first country to practice successfully economic planning on a national seals Select your
answer according to the coding scheme-

1) Both (A) and (R) are true and (R) 1s not the reason 2) (A) is true and (R) 1s not the reason for (A)
for (A)

)‘ﬂ%ulh (A)and (R) is truc and (R) is reason for (A)  4) Both (A) and (R) are false

ﬁ'v

23,

Which of the following is not found in under developed countries?

1) Underutilisation of natural resources 2) Population Pressure

3) Low level of capital formation )ﬂ\'nn depending on torcign trade
Census of India has been taking once in every years.

1) 5 years 2) 7 years

}ﬂ () years 4) 2 years

In which year the Human poverty Index was introduced?
1) 1994 2) 1996

/1 997 4) 1995

24, Which of the following statement is correct? The preamble of the Indian constitution reads as follows:

[

hn

India is a 1) Sovereign, Socialist, Secular, Democratic, Republic TT) Socialist, Sovereign, Democratic,
Secular, Republic 111) Sovereign, Secular, Socialist, Democratic, Republic I'V) Republic, Sovereign,
Socialist, Sccular, Democratic

A 211

3 m 4) 1V

The customers are exploited by-
1) Carpenters ?) Farmers

3) Tailors /‘f‘l’radcrs



32. ,r.\-lnl;:il List T wiath List T corvectly and
solect your answerusing tw codes given

below :

List~ 1 | Lise-1
Laﬁ’he National 1) 193

l Population Policy

1) The New Industrial | 2) July 2000
Policy
) New 3) February
AgriculturalPolicy 2000

dy Natonalplanning | 4) 1981
Commitiee

a b ¢ d

£ 3 ¢ 2 1
Bl2 & 1 1

N ] 2 3 1

s ¢+ 1 3

33, Avvai home is associated with-
1) Home for the destitutes and widows K)rphzmagc for girls

3) Home tor the Unemployed girls 4) None of these









181,

Match the List I with List II using the codes given below :

I ' I
{a) Agriculture, Foreatry and Fishery 1. Unorgamised sector
(b) Mining, Manufacturing, Electricity @ Service Sector
* Gas and Water Supply

(¢) Trade, Transport and Communication 3. Semndm'secmr

{d) TUnincorporated Enterprises and 4, Primary sector
Household industries i

-
E

(Y
O T ]
- ]

L g [-gm ul_qm 11 21 ar Dunmsdl £pssam @hlui@saan s (EE el s :

I . 11
(8) efeusmub, S euemiliey, Ber cuemiiey 1. <Bj@LoLIL| ST S

(b)  srss s, & HugE, lﬂs'“rm.h,mﬂmnﬂ, 2. LeilEdT Zanm
@i '

(€ cigssd Curdsamss, deromwdsm iy 3. Fan_Flevag geop

(d) . SjeninUL| ST i eoenisdr, @ anng 4. (pHETENIDE S0
Qgmblaedr :

@ ® ©

A) 1 2 3 4
B) 4 3 2 1
cy 2 4 1 3
(D) 3 4 1 2

1f the GDP s measured at the pree prevailing at a point of time, then it s called

{A)  GDPF current price (B} GDP market price
,_,l:;ﬂ GDP constant price (D (A +(BY + (0

iR @Al Crrsde doadlan efeantidan s oumefe GDP-auw syerafic L md,

Spsadmesunn @mdl S emo
(A)  molyelamanda GDP {B)  cwdismg Faapifles GO

(C)  dleawmra aflmaadd GDP (D} (A + [(By+ (D)

HENFS



113, The product methed of measuring GDFP involves
(A) incomes generated from the preduction of goods and services
(B)  adding up the value of evervthing produced in the country during the vear
() addiﬁg up all expenditures on final output

(DY none of the above

e nusd apenn g ol syerafil o GDP o arem &g
(A)  Quomansd wpmie Gemeausaflan epugdullen Gurg omheu rssd UEWD e

\}Bﬂ i @Sl L angme s 8d qen Brligd o fugd Cenwiuin geuldeanm Aonmetlan 1nd oo
EL(Heug

(C) opyey Bameda e enen Qurmarsallan Lgnen Glsmwallmen sl Heug
(0 Cwnlerden oaeb s

114. A higher interest rate might induce households th ——————— but huzinesses to

-\,.(ﬂf.i save more, harrow less
(B} =ave less, borrow more
(Cy  save more, borrow raore

(I save less, barrow leas

odls aulg eigorens degh @D MenwieL SMREaIET — —— (gl HnedrFib. oty
Bgrfd Ainyeabsaen ———

(A uglseme GAISUL WhHIe Henmeuns S s Gurhis S T
(B)  menmeunas Cady wmn o Slsunren s e sunmi@sa
(C) awflsorm Codoy whmw oyEEwnTen sU e et & s
(D) geemeunen Callly wRHmID Home ey S160 ol 55

195. Deflation refers to a condition of ————  prices
\/6’-\\) falling (B) nsing
(C) constant (D) moderate

vesar L b gaug eleadan apg Daaanus Ghlasn?
(A) Beowgesse (B) &flene ewmga
(€) Lowdoaduisiudsd (D)  bawrer eflsoa o wige

112. Quomsldmpsy CofleL Lrs asersssoer Gumd Gsmfled
(A) ps@an Hong Gsnfe (B) @uen_mb Hevars Gpmfa
(C) opennnd Haveos Osmbe (D) pressad Slenarg Asmic

The activity that obtains its resources directly from the nature
W Primary Industnes (B) Secondary Industries
(C) Tertiary lndustries (D)  Quaternary Industries

|https://t.me/tnpsciree|




119, Bperamueu bl eg sfluns Qunps £ e dang?
(&) Edlu daiey sursdl 1 ewisdlsafien eukidl

(B)  uerBeusfiniif e femn 2. wrrgu wnfle surid
(C)  Gurgsgen eukidl 1 mémilg
(D) uligul el duemg aurkid 4 med
Select the correct Match
‘(K RBI 1. Banker's Bank
(B} Monopoly of note issues Z. 5Bl
(€} Public Sector Bank 3. TCICT
(D} MNon Scheduled Bank 4. 10B
120, Spsare surdBwnsenerd seusd],
sy (A) s ugguun Bfloss A apsdl L rarisalian Qupp Gelll@ea Gatend Quflu
Bmokssfla padh Gelfng,
enpein (R) ¢ ogsoor Bdlwsbd “An mell Qo Geaodeann” oerm Ganlor e g 0o
Bunigdng.
EreunmeT erg) afl cren SnnnaflEsen -
A (A) wome (R) Eoamo s
(B) (A) wpms (R) @oemiun ey
() (A) meaumy agennen (R) &
(D) (A) el gpemnad (R) gaugy
Consider the following statements .
Assertion (A) @ Mutual Fund eollects savings from small Investors and invest then into
corporate bodies.
Beason (1) : Mutual Fund Works as the principle of "Small drops of water make a bag

Ocean”,

Select yvour answer according to the coding scheme given below -
Mﬁoth (A) and (R} are correct

(B} Poth (A) and (R) are false

() (A) 1= false but (R) 15 true

(I {A) is true but (R) is false









Qurgission dipasn pdear £p auprg aanCani Hpamb Aphacm adner ag
Al GQesaae QULCInrdiun sbQued)

B) uwhswnt ssdatliy & Gul Gy Qadlasdda

C)  @igevardn gl spbusiae

D)  feoewdd Qu’ Grrellusd eWbIGWLL.



13.

9
£poarguo afladle ag Caipe afl e saums eHLIRs 2
A)  eumwren eul B) apumen e
C) Qeugund eufl D) Qergm eufl.
Among the following taxes which is not considered as a direct tax ?
A} Income tax \B( Sales tax

C) Gilt tax D) Wealth tax.

SGSY



SGSY

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c)
d)

Codes :
a

A)

B) 1

g 3

D) 3

w N e

Gold collar workers
White collar workers
Red collar workers ~

Blue collar workers

—

List I

N & W

N s WA

2w o®

List 11
Involved in quaternary activities
Involved in secondary activities
Involved in quinary activitics

Involved in primary activities.






60.

. 35 SGSY

dpasam_anbid ag sflures Curehading 2

Al phsreg pherem () il b -_ Ca@aanmiilienu 2 (BN GH85HS

B)  gpTeuy mbsram® Sl - sunienw Gifiiy wHpd swsrry

C) elLmauy mbgran® b - 2000 & u Geemecunitou
endlsed Coumomu o meurhese

D) ugsTeus s il — seps  pHud  cuentsdl  whpbd
S GeUD.

Which one of the following is correctly matched ?

A) Fifth Five-Year Plan —  Generation of Employment

B)  Seventh Five-Year Plan —  Poverty eradication and self-reliance.

\Ql/' Eighth Five-Year Plan — Employment generation leading to achieve

full employment by 2000

D]  Tenth Five-Year Plan —  Growth with social justice and equality.



suax a4
83, Jdeuguadsend uvsQarévgrag Bdsgyala soeanrs Dubssiul e
W 7
Al flugedt g. aetn. Gy
B) Fhugst J. ol Qrlg
C)  fhunst aev. aib. Sadf
D) ghugsi gi. of. spdra.

Who among the following has been appointed the Chairman of the Nineteenth

Law Commission ?
A) Justice A, N. Ray

B Justice P. V. Reddi

C) Justice S, M. Sikri

D) Justice Y, V. Chandrachaud.



Sereumeuseupper @bHu flatel el el sberss ey

A)  uvaGay vfulema muri Crrlbsamen aupliEGse

P) syenussfbare aubdurss Ceuiuise

Q) andlscflan andurss Qeududad

D] gl puisEmAGE L& Epuese.

Which one of the following ts not a function of the Reserve Bank of Indla ?
A) Issue of currency notes of various denominations

B) It s the banker to the Government

C)  Itis bankers' bank

di Issues credit to individuals.









105. Which is the correct sequence of various sectors in GDP of India in the descending order?
(A) . Primary sector, Secondary sector, Tertiary sector - |
(B) - Primary sector, Tertiary sector, Secondary sector
(C)  Secondary sector, Tertiary sector, Primary sector
.Pf Tertiary sector, Semudary sector, Primary sector

Qe Qan(ésiu Harer  @EHyirelian GDF@"I& ;Sﬂqmm Cudimis LpCEréfs Qsdgub .
QeTLFEfluns sismodsred arbs l_il.llﬂmf_ﬂﬂwnmy?
@ g Beragginp, Grem_md fevapmamp, gpenpmd Pevarggaon
B)  oppd Aensgiop apannd Smagsmn, Gremmbd flamagsan
©  @ran mb flawigiop, eepns Soasgmp. o Hooisep
D) papmd flawpgieop, Gremn_mb foupsop, @ph Sovipmn
106. TheNatim;al Food Security Act was gazetted in :
September, 2013 - " .(B) August, 2013
(C) September, 2012 (@) August, 2012 -

Q#ﬂu.l & emay urﬁsm'_lqii 5 Lib Sipamis Qauafilirang
(A)  @sriibui; 2013 . (B) aysevi, 2013
(© GsoLbur 2012 @) asel. 2012

107. Net National Income (NNI) does not include
' (A)  Indirect business taxes _ (B) Corporate income taxes
(C)  Depreciation charges C m rental value of house- uwnm

Bag 56 & pusH (NN CotpgiQandemas
(A)  weopaps auigss aufisar N

®)  sibtuel aigam aiflsd

©  Gguisorens Geeay

(Ih- el g el Gﬂmmwsﬂﬂm sﬁu@ MRS m,ﬁuq



131.  The aim ofRn]w Awaa Yu;m (RAY) ia to make the country
{ﬁ} Canals free

" Slum free : _
(C) Mosquitofree . : S
) _Humufthnaﬁm L . '_ S

_ ndd.l gqmrrm ﬁurﬂmﬂﬂ {RAY) ﬂurrprnt Eﬂﬂlﬂ'ﬂmﬂ# pwg grn_q.m @Muqh Gurrm@
SRS ED
(A) 'srrdmm@ﬁamrrm_m
B)  Cofadr Goarao
(€ Qarsisalii @mps AP0 |
D Cuopsfiu srgiayb Bdeoran - ' .
134.  Author of ™ Fhunt{:;ma in the Brn.i:'n' = )
(A} . Ruskin Bend ' ' (B) Vikram Seth
V.5, Subramanmn Ramachn.ndmn D) Anitha Desai

" e i G £ OQFuSlan” ereinp srauilen gpfftur -
(A)  peudlen.Limen ' (B) eflamb Cad
(C) V5. sopoaiuen prosspdsen (D) safign Cpemis

137. Who is the chairman of the 14t Finance Commission?
(A) Montek Sing Ahluwalia '

(B). ©C. Rangarajan

14-augt fPdg pellan geear wri?
(A) * CiorenGLs fi ggerdlun C , ' .
® Aovsmgs
© | pueGns
D). sdgi Gadsi
145. Till which Five T’EH‘I Hnn,.ampln}mnl. a‘l-mh!ﬂ’had been gfnwtl_:-linkeﬂ?

W' Fifth Five Year Flan . (B) Sixth Five Ye;ar Plan
(C) . Seventh Five Year Plan =~ - (DY Eighth Five Year Plan

s mpErnB S b ey Camm amiiig Qawd S b auenraduyer Qpminy Gemnang?
(M) mpgreg gEpreB Ao . (B) gorag mhsrdarf ﬁu—tb
(©r  oyrag ghsrded Siod (D). ﬂ—t—mﬂ g i



167,

170,

171.

The Measurement st:mdu.rdn laboratory of India is

(A)
(B)

]

Indian Institute of Science
National Aero Space Laboratories
National Physical Laboratory

National Metallurgical Laboratory -

Qjﬁunﬂﬁ earefi (B Uis S5T SHURISLD STETIS

(A)
®

AN

@)

Dbpudn s Ppesen
G’.ﬂu.l aumebraeatlublu id e s
Gadlu @updunmer glausd

Gl e Cans Dpnfis gyimsi :

ﬂwen below are two statements, one labelled as assertion (&) a:rld th.e other labelled as

Reagon ()

Arsertion (A) India’s  Public Sector helped in the dmulupmant uf a sounds
‘ industrial base.

Reason (R) : Public Sector is under State Information Appropriate Policies and

providing financial and other support has helped the Public Sector,

{.A} {A) ia correct but (R} is wrong . ’ (B} Eod;h {A) and (i) are correct

{C) -~ {A) is wrong but {R] in sorrect (D}  Baoth (A) and (B) are wrong

£CGy Qm@mul_[gmm @gm@ mrr.sﬂmma"flm (ﬁ] meaflayeny whlprag (1K) a;n';rmﬁmqu_

Y

gefiamy (A) ¢ Qpmfogmp waisGs Bigy Curgigen fpaedlen Goburd
SR wsrerg.

ST {i{} : Quegsgnn Speens vafle ssmisgfd s Hlum_yd o dang. onfle

. Sipflen utisTeng QuimEsores seadsd, Derdens, Pl o gall mgafgpe
() Qumgsggienn n.,ssﬁ]wnﬂﬁm

B (A) sfumeng gyenrsd (R) peugy 01/(&1 wigd (R) @oeirGio sfunang

(<)

{A) geprang gpend () sfhureng D) (A) whps (R) @qﬁ@m Eeupens)

Rahe ocfaamg is measured as a proportion uel‘ﬂ-rma Domestie Product (GDP) at

Lnnata.nt prices

@f’ Ma.'rket prices

)
(D)

Re]nuve prices - ,-
HNone of the above -

Gl nSler auaéd iﬁ,ﬁun Lih‘pm_m Gmrrms Lgm.lﬁ#u.‘id‘r L sﬁ;mm: a{mwﬂwu@mg

(A)
B)
()
)

Elepawren eflnansafld
Fheng aflenasafic
HOSH Heasdié
G i ergpeayih anyeva



185. Consider the following statements :
(a}  : ‘Operation flood’ was a programme for women empowerment.
| Under this programme rural women involved in dairy development.
(A)  (a)only is correct '
ar {a) and (b) are correct
(C)  Only (b) is correct
(D)  Both (a) and (b) are wrong

Epedin. aunsdluidisemar saiefldsa -

(a) : ‘Operation flood" ereLg Quihrssr Cuobum’ g fimrer g dh 1 wngib.

(B} :  @Es S fean gpad Bpmogy Auarsd LD o mpeTaeT pumﬁﬂﬁﬁ L am,
(A} (&) wi @b sh :

B)  (a) wpmh (b) =f

(Cy  (b) wiub ofl

M) (&) wpgud (b) Seaumy

109, Mateh : :
(a) Jawahar Grama Sannidhi Yojana L 2000
(b} National Social Assistance Programme [, 1993
() Employment Assurance Scheme ITI. 1985
* {d} - Pradhan Mantri Gramodaya Yojana V.. 1999

L A{a) {b) @ - (@
(A) I I v I
@ IV .10 I I
¢'v m o 1

(M) T I I I

QumEEsE:

(@) gesi Symo CauseamioyHob . L 2000
® priGegsesdsdn - IL 1993
© Camoamion e wisb b IIL 1995
(d) Srguofa Camnaaminiy S V. 1999

(a) (b) (c) d)

4 m 0w I
® IV u I m
@ vom 1§ I
O un om 1 v



110. CEmae the correct answér : .
No. of banks nationalised in the years 1969 and 1980

(111

(A) HMand8 . . (B) 6and12

ccﬂ_ l4and6 (D) 8and12

#lwiren dllen_sowg GaipEs® : :

1969 gyt 1980 Em" Gr_emiowmaaiiii ( el cuisdlaciien romaians
A 1 wig 8 B) 6 wppo 12

©  14wppo 6 | (D) 8 uwpgh 12

Consider the following :

L

II.
1.
v,

It is generally agreed that education is both tuuqi:mp't,iﬁn ;and investment.
Human capital can be increased by investing in education, health and migration.
The Indian education system is marked by equalities.

In the vear 1976 National policy on education was formulated.

Select which is not correct :

(A) Ilonly ' (B landIl

© IMonly =~ oY 1 and IV

£psrawyisupificr

L sdel eranug) ‘EIsFayn (pEEn’ aen erdGeommid ﬁ!ﬁﬂiﬂmﬁmhuth@:
1L mnﬁ. eLapab, HhOQuuidd @easdd wgdd Gaisrd walls wEETEHS

: S . - o _

L EEHwus sdefl siennlnble qrpjjmrrgp.msdr- smaw L efldbene.

IV.  1976-d Cphu sdells Omnerens & HairEsiiurL g,

&l ;mﬁlm slgn_? ;

& 1 m.;@@: ' . (B) 1 wpgun I

©)

1L wi (GG, _ ' My I whgibd IV



114.  One Rupee Note, One Rupee Coin and other subsidiary coins are issued by

- 150,

{z.ﬂt]' Reserve Bank of India
- (B)  Finance Minister of India
(C)  Governor of Reserve Bank of India

..ﬂi!‘j] Dep:;artmeﬁt_ of Finance, Government of India

0 Ul Caml ({5, e UM Brewnuh HpID 4506 Gonhs premuksenea Qeuefld Hue
@ @b foics sl

B wiHu B smoist

(©) .ﬁl;ﬁﬂu_u Merets curluliein e

(D) widu sirden ﬂ,ﬂ'-a{mm.mm

r

Dr. M S. Swaminathan Heaearch I.nahtute is hr.ated in
{)J:ﬂ Chennai ) . ’ (B) Lmucknow
(C).  Mumbai _ _ ) (I New Delhi

LméLm M. S mJITLﬂpﬁﬁﬂT LI ,ﬂymuﬁ .aqmmpﬂmm BEMD

A) - Qodrear B)  wsGam
©  apibanns -



160. Choose the correct answer -
Which of the formula given below is being used to measure agricultural productivity?

(A4) Tatal production
Area of land

Total production
‘No. of workers employed

(B)

Qd) Total production
Amounts of inputs employed

: Total production _
@) Total capital employed

sftwman efleaw CaikQsd :
. Geuvermeiw L bugsl Fpenen saurgfl_ ﬂﬁr@@m ssfrinafic ereney um&ru{gﬁuu@.ﬂﬁw?
o

(A) Quorgs ﬁ_g}u,sﬁ
BB uraay

Ceuanard, ofEs L o seaflédn eramenfiSans

Glonds e pugh

© Caenaés ouwigsliulL o draffhsaficn J@
Quoirg 2 Hus
D) 85 2 Hussl

Quorgs apsel B aeray



“181.  Consider the following statements

Assertion (A) : One great defect of our educational system is that it leads one to take up
profeasional degree only.’ '

‘Reason (R) . : Indian ed.umtional'ayat&m is not adeguately d.iver;iﬁed.
Now, select your answer according to the codes below :
< Both (A) and (R) are true

(B). - (A) is true but (R) is false

(€. (A) is false but (R) is true |

(D) Both (A) and (R) are false

Epanapd cunsdwkismen seall&sab :

sadi " pog sdel apaplidr gm sepun® Asmfipsad b Qupeais gatapGu S
parefiEHaETELD. '

EmyemTiD : puog sdaebl gpenp Cunhu Sarey Ul Geans AaTan_gns Fame.

sflwmen el enwug CarplsRasan :

(A) - sahmy Hpd smyend sl GrenGio #f
(B)  enip i, Sryeend geup -

® sin g,mm..urmmlb sl

(D) snpi wbpb srremb s dlu @BrerBio ga



162, A company director is acting as

(A)
(B)

Agent of the company
* Trustee of the company

Executive officer of the Company

: tDﬂ/) .A]]ofthaae

- B® Buégpt ,ﬂgam&ﬁ

Qﬁu@u@ﬂmmi-
A Powien weanns
B) . flpwsder Qu FiCLImelen Lo [irs:
©)  fgoida Brans siflanfiuns
(I} CuiQsremen BRGSO
194, Maﬂ:h the following :

Agﬂnmea of UHD . Country
(a) World Trﬂdeﬂrgnn.izaﬁun 1 Bern
(b) World Food Programme - 2.  New York
(¢) United Nations Populated Fund _ 8. Geneva
{(dj Universal Postal Union 4 R-:_:me

@ ® © @
&) 3 4 2 1
@ 3 2 ‘1 4 .
(Cy 4 3 2 1
(M 4 2 3 1
QuinEgs

- o pﬁ@ﬁ*!&?‘#"‘ﬂﬂmuuﬁ* - prpsa

(n). o o6 alEps aowb 1. - Qe
(b) coseamagfiiid _ 2. Baiees
(0  medu prpsdan wiss Qgrans B 3. " Qegefilaur
(d) . uenerr B Sighew SpsD 4. Ggmb

@ ® ©

(A 3 4 2 - 1
® 3 9 1 4
© 4 3 2 1
4 2 3 1

)




196. . Whi-:h.ia not correctly matehed (India’s Nuclear Power Programme)? .
(A) Tarapur— 1969 S (B) Rawatbhata — 1972
(C) Kalpakkam - 1985 @) Narora - 1995

g sfLnsl Qurpgeiiaama? (@pSunaden s sigl i)

(A)  mmpaed— 1968 _ (B) preuulin— 1972
(C)  sdunssn— 1985 ' (D) wCGymgr— 1995

120, Silver Revolution denotes

(A) Milk production " o) Ege production

(C) Rice production (Ivy  Cotton production
Qaveraflls LTl &) sTeiiLiens eTengd: @&Dls&ED 57

(A) Lmsl 2 HuSE) (B) wpLlem_ 2 MLIGE

(C) & o hisss D) LhsS 2 HisE



166. Match the following :
List -1 List 11
(a) The National Population Policy (1) 1991
(b) New Agncultural Policy (2) 1950
(¢) The New Industrial Policy (3) Feb 2000
(d) The Planning Commission (4) July 2000 o
(@ () (© @
A) () B @ @3
B 3 1) @ @
< & & @O @

Mo @ o e

QTS & -
g wed -1 g wesv- 11

(2) Cs8w wiser QsrTenss GsTearens (1) 1991

b)) ySHw esvsTws Lsmerens (2) 1950

) yHBw QsTifler QETerens (3) L9 ugeurf) 2000

@) S yewemtwid (4) Oemev 2000
(@ M) () (@

A Mm@ @ 3

B & M @ @

© & 3 0O @

@ 3 @ @O @



172. Match List-1 with List-1I :
List-1 List-I1
(a) IMF 1. Lower Servicing Charge on loans
(b) WTO 2. Separate legal entity
(¢) IFC 3. Resolving trade disputes

(d) [DA 4. Short term credit institution
(@ () () (@ 2

(A) 2 3 1 4

(B) 1 2 4 3

N 3 2 1

M 3 4 1 2

Ul gwed 1 gy ul gwed 1ey esr Quimms 515 -

Ll g wew 1 U g wed 11

(a) wewrenm (B 5% 1. oy oliguisv B
5 myeuestib 2 gail

®) 28 UTHSHH 2. FL L_LYT6U gesf) 515
DLOLILY HYBTILD

(¢) wewmenmmi(®  BHPSF 3. aisss SETT DY FENGT
HLPHLD EDSWITEIT H6V

d) wehrenmi_ (B 4. GDIFWSTV SHL_6H
e TFHd FLp&Hib suLpAI@Lh (6l mieueih

(@ (b)) (c) (d)
(A) 2 3 1 4

B ! 2 4 3
© 4 3 2 1
(D) 3 4 | 2
173. Find the odd term out :
(A) Life Insurance Corporation of India (LIC)
@M Industrial Finance Corporation of India (IFCI)
(C) Unit Trust of India (UTI)
(D) General Insurance Corporation of India (GIC )
LesTeumeuesteud mieT QUIT(BBHTHDS FIL 19 SFHTL_(HS.
(A) @bFw et sTnfI®) spasib (1LIC)
(B) @bgw GgTifler HFd apmp (IFCI)
(©) wefli’ e’ i @bSuw (UTH)

D) @S Qur g FTiSC BHHsLHb (GIC)
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174. Assertion (A) : Since the introduction of economic reforms in 1991, there has been a
qualitative change in our planning.

Reason (R) : The central objective of planning in India is to raise the standard of
living of the people.

W (A) and (R) are correct. \
(B) (A)1s wrong, (R) is correct.

(C) (A)and (R) are wrong.

(D) (A)is correct, (R) is wrong.

giemiliyy (A) 191 @wpgebd yBw GummerTsTgd FrSmsHniseT
B pFLURSSLLC L HT60 Bog S BB B FHTLomes
LOTHDEIFET 7D (HETETET.

srgesid (R) @)bSw S 1 180@sales eoowGrrad Lossefles
WUTPE®SS STHDS 2UITS FISVTELD.

(A) (A)wppib (R) &l

(B) (A)@eugy (R) &

(C) (A) wHmyb (R) Heumi

(D) (A) &M (R) seuay






181. Select the answer from the given options :

The Indian economy is characterised by _ '.\/
1. Predomipance of agnicylture. 2. Predominance of industry.

3. Low percapita income. 4. Massive unemployment

(A) 1and2only B)_ 1,2&3only

(C) 2,3 &4only &) 1,3 & 4only

Bpaumeusarouppledlimb g LFansv CHirhG)SH%H6Lb.
QBPwLs QurmennsnysSesr g LLemL @i
(1) Cevenmeiwenioufley (Lpgstrentnd Flenp

2)  QgrLhleb Zempuileh (pHesTenio

(3) . GODHSH BT QU(HLOTETLD

@) Bs ey Ceusmevuiisirenio

(A) 1 &2 wl _(GLb. B) 1,2& 3w Bb.
(C) 2,3 &4 w’_(Hub. (D) 1,3 & 4w’ (Hib.



